LR 8k T]

Clamp Type Milling Cutter

T T T T T T T, T 1M IR HMPO1 HMPO1

——————————————————————————————————————————————————————— Rough side milling culter
D52 D52 E D53 D53 D54 D5 D54 D54 o4 ?

Ball end rough
milling cutter

Rightangle milling cutter

end mill
AR ERK zC. AR ERASWE. i ERATK zPFe. | EMAszPFe
BCF. MAMEER10-R25 sws. [nsIEE R12.5-R2 A DMEERI-R15 | DRIEERI-RIS
skawn ka9 sskug ssunn 2 sk sk
BNM-R BNM-S n T2139M

F sy BUESTIA ° i e P o el S o D
5] HALH EE e wHEa I AN P o| | s creaco | v oo | MR sc0-oo | oo 2an | AR oco-se
Rough ek ] © High efficiency H EREART Txmnan | zkEwen FxWART) sxwmEn FxTARS ETET ) EEET o) FRmAR7) mxmmen | skmmss
Drilling and Chamfering
milling cutter %S face milling cutter ! | e e e e e — AT
S lling B
[m—————————— © Rightangle cutter mi I nishing mill
-1y face milling cutter %] common I
e Ball end Y 1 (1
SLEET) finishing 1
1
1
1
1
1

Z@ETMEETT
o --—-

ERIIA ce. AWER 025 YIME 2 063-080

Three side | 42
milling cutter H
A 1 d HA
a -~ a
a8k ! a8Rr
kv 1 ERTI BNV R A7 P3200. A
e : 1 IR 910-020 12139 VMER R4-R16 hva
%n H — SRR 1 X ) KGR T) HAEABURT) TRk RT) R RT) i*jj
& 1
I ASJ VHEE 017-035 =z
[ ! uramensns ! BAWEN &
7] | %71
1
o 1 & 3
Bk ! ik
#7) 1 BRI TRTT..| BANK TT45L %]
1

SIBIER 011-032

et
TIHF

]

)

Chamfering

MERTRT] 4 R217.9 R217.96 6 6 P

b

|
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
ight angle end mill = 1
1 D03 D03 . D04 D04 D05 DOs D06 - DO7 g Do7 I
TIFF - L \ | A ve | R weHT TI#F
(! I AR 02
EX S ! EX S
ii ERANE i EM IR VN, EATIE WN. &R EATIR 6NGU. ER TR ENGU. ERNE ERTIR IPKT. 1 i%
7] R217.36 B 040-063 mEE oso on MBAR 020000 [mmEB 0a0-0100[ 3P 650 | 7]
A ff 4R 8 7) £ 4R 1 ERT) 5 R T] L ff 4R 6T £ R 6] 5 ] i ff 4R 5% ) L ff 4R 6] 1
— P D A AHUB A DMTO A A AP AP100 BT.-AP i —
Ey] D08 D10 D09 D10 D10 DT D11 D11 D12 D12 D12 1
- I BRI sevG.. | EA7K sPuG, E ERTIA XSEQ
W = - i Frrca i !
H S S
EATIR TCMT. 1
"‘* EMTIA IPK EMTIW EMNA JOM EMKE JOM &M R EATIK JOMTOT. EATIH APK P. 011~016 | YA R 03~020 WM R & 05~040 H ,I*
PN 474 A & 040-a160f AHU VA& 10 18 & & 050-0100| 1K K o A WA B o8- 2 YHIA & 016-03 3 30°8 £ ) 45 7) N
i# 4 anemany | emamunn | amensun | anemian | amensun | anemsnn | amemssn | anemsen snaminn | snenstn 1 i
%) AP BAP AL-BAP A-AP BAP RAP R390 R39 BT-R390 I . B3]
D13 D14 D15 o1 g D16 D16, D17 D18 D18 - : illing cotter T E HNCX KSHR =
. pe = n7n D70 L
xi7 ’ g > | = #i7
| . 5 !
EMITTA SDVE. I
iﬁﬂ EATIA APMT, BRI APMT, EANE APMT BRIA AR ERIIF APMT, SEMTIE R390, ERATIE ERTIA R390 EATIH R390. K. L PIHI M & 03-050
WAIE® 010-050 |IAIEE oo|mmEE 074 MBEE O AIE® 050 YIBIE® 016 z| MMEE O 5 |MBIE® 050 MEEES 2 - A 5ha5 M ] | EATH HNGX,
" ]  fi 4 2 85 7) i f 48 3247 ﬁﬁéﬁuﬁﬂ L fi 4 2 8 7) E fi 48 32 45 7) i 4 S 4 7) B S T] 5 fi 4 32 95 7) i 32 4T B ST 1 R...
i R R o 69 AO 00 PO2R AP/AD BT-ED 1
}K D20 D20 D20 D20 D21 D21 D22 D22 D23 D23 : B0 EANDE
k) 1
4 i = |
E mn aer, | wmak sowr. | e tour 1
EANA R EATA R BRI ERTIH XOMX. EMIB ERTF T BRI iﬁnﬁ SEET ERNH ERAE AP/ EATIA EDC PIHIE R 03-050 | IMER 012-030 | MIMEE 1
YIMER 06-035 | YIWEE 010-035 T217.69 YIWE & 08-026 EPX3000.. YIM B 012~040 1 PIWER 012-030 | IWER 016-032 45°HAT) 155 7) 9 $iid5 " Nﬁn 1 EATIA LNMU.
A 31 6 7] R 8 7) EfES5TRT] E 5 S T] B 75 8 5 T) B S 86 T) HAGEU®RT HAGBH. 1 YMER o
A 0 P P P D9 |___ ________________________ A =)
D24 D24 D24 D25 D25 D26 W) SEET R245 SEMT ASX445
] A Face miling D74 D74 D73 073
o 0N = £y
ERTIA AR

BANE BRIAAXMT. [ & W AT ,émm BRIA TP ER7IK TP | EMNIK SOMT. | ERZIK SPMT. | BRI soM

TES0 VIR 235 5 B0 | IHIAR 040-0200| A B& 050-0125| )4 & 2160| MEI A& 0 1 M & 050 éfﬂﬂﬁ SEMTIE SEAAE SEMT. i V. EMTIR XDMT.
snantan | mmansnn | amaneun | amanssn| amensen mmamunn | swamunn | mmamanz f i . A s ool
saspnr smasnz | smemor
B i287)
Fillet end mill D76 D75 D76 D75 D78

EMNK epnw.. | A souT
SIMEE 050 1 B2 080-0200)
it 57 987) Wit 767)

ERIA RO BRI RO
YIWELE 080 250-0160| YIMER 09-035
57 i 754 7)

ERIA SEKT ﬁﬁm: SEWT
10 E & 050-0300] KM,
FEsNmT

EAAAWPMT.. | ERZIA weuT.
DAIESE o 41812 050-0100]
BT B8

ERTIA RP.

ERTIH SO. EATH SE ERH SP.
HIBIE R 012-050 200, 3 50-0200f AR 0o 8BS 080 El 18IS 080-0300)
B9 mmmml PEtHImT Pzl T TmasmT AT




B

LR 8k T]

Clamp Type

T E B

BERITI R

Milling Cutter

T1FR(Insert):
WNMU0404 ZP153
Ap:0.6-3.0 (mm)
Fz:0.08-0.60 (mm/rev)
Vc:100-260 (m/min)

@ HEUM @ —BME g TREDH
stastecuting__ @ _GonoralGuting_%_urstabe Cuting

K Steel oo vrrrve

M THE® Stainless Steel O VREEVO

K| %% Iron o o vz

N | s enAn e .

S | BEAE WAAE Carbide/Powder Metallurgy o 200
H | ammasmas Titanium/Superalloy/Carbon Fiber o txee
=
g FRER L R aEEs R Dimension (mm) RENR | vo  gocuon
oF fatching  |@ SHReeee
SB| eroductimage Dimensioning Specification e | A | B | T Mewnre  0EEEeSRanaa

=

WNMU 0404 08 | 635 | - | 476 N
(Toolholder)
D03

%71

%7l

ot

TIFF

v R217.96 kX Ri#kASZEET-NENBTIR R217.96 MR RHABIENNE-NERBTIH

TIFF Clip-Type Fast Feed End Milling Cutter Clip-Type Fast Feed End Milling Cutter Head

-Double-Sided Hexagonal Insert -Double-Sided Hexagonal Insert

7] 15 YIBIH (Cutting Parameters): R15-R18 B §)AI# % (Cutting Parameters): R15-R18
F®H (Spare Parts): P01-P04 W (Spare Parts): P01-P04

"7l

i-pJ]

iR dc dm

i

EX ]l L1 )
! L _‘ J1H(Insert): H

#i WNMU0404 ZP153

TE X Ap:0.6-3.0 (mm)

%7 0 R B, BHE Fz:0.08-0.60 (mmirev) Tl K (Insert):

* Characteristic: High Feed, High Efficiency Vc:100-260 (m/min) WNMU0404 ZP153

2 T 4575 M-S Rt Dimensions | 71% [ Ap:0.6-3.0 (mm)

FR Order Number Specification dc[dm| L1] L | Edge LI © % EitA, BHE F2:0.08-0.60 (mm/rev)

TIHE 337200 R217.96-2020-04-3A | 20 | 20 | 30 [150] 3 800 Yk Characteristic: High Feed, High Efficiency Vc:100-260 (m/min)
337202 R217.96-2021-04-3A | 21 | 20 | 30 | 150 3 820 N 4 = + Di ¢ 7
337204 | R217.96-2525-04-4A | 25 | 25 | 60 |170| 4 | 950 ITRISRE Sﬂﬁfi? ISHibimensions Ej;ﬁ
337206 | R217.96-2526-04-4A | 26 | 25 |35 [170| 4 | 1020 KACCENUEE pecification | 6 |l 11 ge
337208 R217.96-3230-04-5A | 30 | 32 | 70 | 200 5 1750 337220 R217.96-0040-04-6A | 40 | 16 | 40 6 1100
337210 R217.96-3232-04-5A | 32 | 32 | 70 |200 5 1900 337222 R217.96-0050-04-6A | 50 | 22 | 45 6 1350
337212 R217.96-3235-04-5A | 35| 32 | 35 [200] 5 | 2000 337226 R217.96-0063-04-8A | 63 | 22 | 45 8 1550

T E B

J1K(Insert):
WNMUO0806 ZP153
Ap:0.6-8.0 (mm)
Fz:0.08-0.60 (mm/rev)
Ve:100-260 (m/min)

BRITI A
DHET. @ BEIN @ —BAM g FREMN

Cutiing £ Stable Cutting General Cutting able Culting

P[® e vxxxve
M | FiEH © OBRROO
K | % e o exxx
N | 240 /5 BH/AH i ium/Zi 0 .

s | BRae mEES Carbide/Powder Metallurgy B hd
- HSRA /BT Titanium/Superalloy/Carbon Fiber o PRPRPS
>
@ R AR AR RS Dimension (mm) RENR | vq_ g-ocuos
EB) productimage Dimensionin Specificat 3 vatoning  |B2ZBERIZ2 22
B roduct Image mensioning pecification re A B T e IOBBZECREEEY

=
WNMU 080604EN-GM | 0.4 1402 - 665 I
0B0608EN-GM | 0.8 1402 - 6.65 T cesee
{557 0BOBOBEN-SM | 0.8  14.02 - 6.65 (Toolholder)
=4)K1F 080608EN-GH 0.8 | 14.02 - 6.65 pos

MFWN  #lRKRELIZGET-NERBI R
Clip-Type Fast Feed End Milling Cutter-Double-Sided Hexagonal Insert

ad

LY o

H J)F(Insert):
WNMU0806 ZP153
~ ap Ap:0.6-8.0 (mm)
(+) Fz:0.08-0.60 (mm/rev)

' ‘ Vc:100-260 (m/min)

5 RIS (Cutling Para

meters): R15-R18

REM (Spare Parts): PO1-P04
A Rt Dimensions (mm) T 2 | 7K Insert BB5T Screw |IRF Wrench | EE7 [ TIINN-ITEN
Specification D d H Edges | (kg) Stock
MFWN 90050R-3T-M 50 22 50 3 0.4 o
90063R-3T-M 63 | 22 | 50 3 | 05 .
90063R-4T-M 63 | 22 | 50 4 | 05 .
90063R-5T-M 63 | 22 | 50 5 | 05 .
90080R-4T-M 80 | 27 | 50 4 1.0 .
90080R-5T-M 80 | 27 | 50 5 | 10 .
90080R-7T-M 80 | 27 | 50 7 1.1 .
90100R-5T-M 100 | 32 | 50 5 | 13 .
90100R-7T-M 100 | 32 | 50 7 1.3 .
90100R-9T-M 100 | 32 | s0 9 1.3 .
90125R-6T-M 125 | 40 | 63 6 | 25| WNMUOBO6. | M5.0x14 T20 .
90125R-8T-M 125 | 40 | 63 8 | 26 .
90125R-12T-M 125 | 40 | 63 12 | 26 .
90160R-8T-M 160 | 40 | 63 8 | 38 .
90160R-10T-M 160 | 40 | 63 10 | 3.9 .
90160R-14T-M 160 40 63 14 3.9 L
90200R-10T-M 200 | 60 | 63 10 | 6.0 .
90200R-12T-M 200 | 60 | 63 12 | 63 .
90200R-16T-M 200 | 60 | 63 16 | 6.4 .
90250R-12T-M 250 | 60 | 63 12 | 84 .
90250R-14T-M 250 | 60 | 63 14 | 87 .
90250R-18T-M 250 | 60 | 63 18 | 88 .

%71



® S W
MZG Clami)-'ll"y;p%eil\}ilflﬁgjjcmter

B 6NTE9O0 BA#iFX7%

Right angle locking toolholder

BEITI A

LONEE @ BEVN e TEUE w TRESN
kil Steel o0 wxzxee —
THER Stainless Steel O OBBEVO ’rM 2d
P Iron o o vz i -
SERAL/AE B/ Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o M a7l
s p Carbide/Powder Metallur o Py
;Zgﬁéz;i:g Ti(anium/Superalloy/Car:Zn Fiber 0 sxoe & MM (Cutiing Parameters): R15-R18 ith Gooling Hole
SR (Spare Parts): PO1-P04
ERER AR MRS =t Dimension (mm) BEDH
T . BT A B v o
— MigR S R~t  Dimensions (mm) T 7K Insert BST Screw |#RF Wrench % Price
6NGU 060404R-M 04 | 926 | 236 | 476 | - | 62 | w ReCiIcEtion D d L M | 8P |Edges Code  (RMB)
06O405R-M 05 926 | 236 476 - | 62 | o 6NTE90-225-M12-06 25 | 21 | 35 | Mi2| 62| 2 M3.0%8 10 o | 3a732d 700
X Je ggg:ggg:m ?g g ig 1 ‘;Z 2 ;2 - 2 ﬁ (Toolholder) 6NTE90-332-M16-06 32 29 43 M16 | 6.2 3 6NGUO0G04.. M.0x10 T15 o 337321 800
e oo T gEe M aTe o 32 | bosoos 6NTE90-440-M16-06 40 | 20 | 43| mi6| 62| 4 ! o | 337324 900
6NTE90-232-M16-09 32 | 29 | 43 | Mie| 92| 2 M3.0%8 o o [ 337329 800
—— 6NTE90-340-M16-09 40 | 29 | 43| mi6| 92| 3 oNGUOBOS.. | " 15 o | 337324 900
B 6NTE90-440-M16-09 20| 20| 43| mi6| 92| 4 ; o | 337328 1000
-7 roumeny | & Bz e o u 1 . =2
Bk Sk | A 090516R-M 16 | 1305| 12 | 674 | - 9.2 ‘Jf;";“a‘:' B 6NTF90 BERaR#NNE TRk
%71 Right Angle Shoulder Milling Cutter %7
ot et
TIF TI#F
ad
il b
TI#F TI#
EX S =2 = EX S
42 W BNTE90 mmam# '@ AI .I .! a5
[t Right Angle Shoulder Milling Cutter e Feermig S ErT " —
m7l Z & 7
7 | o/ | 7
—_— U5 {18)S ¥ (Cutting Parameters): R15-R18. AT —
R TFRHF (Spare Parts): PO1-PO4 % With Cooling Hole 73
a7 prig )
E3 ) E3]
MRS Rt Dimensions (mm) T | EE® | TIA Insert 85T Screw
?Frj oD - @D Specification D d H ap Edges | (kg)
;;;ES Lo BRI 2~ el 6NTF90-440-16R-06 40 | 16 | 40 | 62 4 | 03
[Iiadd 0\~ || with coolingHole | VLY y@\\ 6NTF90-450-22R-06 50 | 22| 40| 62 4| o4 °
- 6NTF90-650-22R-06 50 | 22 | 40 | 6.2 6 | 04 3
2 i.l @d i.] ad 6NTF90-463-22R-06 63 22 40 | 6.2 4 0.5 o
FR L1 L1 6NTF90-663-22R-06 63 | 22 | 40 | 62 6 | 05 o
TR ) L ) L 6NTF90-763-22R-06 63 | 22| 40| 8.2 7 | o5 °
—_— Fig.1 Fig.2 6NTF90-580-27R-06 80 | 27 | 50| 62 5 | 10 M3.0%8 10 °
6NTF90-780-27R-06 80 | 27| 50| 62 7| 10 BNGUOB04.. : 118 °
6NTF90-980-27R-06 80 | 27 | 50 | 62 9 | 1.0 M4.010 o
6NTF90-6100-32R-06 100 | 32 | s0 | 6.2 6 | 1.9 °
6NTF90-8100-32R-06 100 | 32 | 50 | 6.2 8 | 19 o
(5 SIS (Cutting Parmeters): RIS-R1S 6NTF90-11100-32R-06 100 | 32| 50 | 6.2 1| 1.9 o
E@% (Spare Parts): P01-P04 6NTF90-7125-40R-06 125 40 63 6.2 7 3.2 o
6NTF90-11125-40R-06 125 | 40 | 63 | 6.2 1| a2 °
e R Dimensions (mm) 7% | B | TE et | BT scew |[BFE wereh | 2 TR 6NTF90-14125-40R-06 125 | 40 | 63 | 6.2 14 | 32 °
6NTF90-450-22R-09 50 | 22 | 40 | 9.2 4 | 034 o
Specification D d L L1 ap | Edges | Fig SEES Code  (RMB) 6NTF90-550-22R-09 50 22 40 9.2 5 0.35 o
6NTE90-225-W25-06 25 | 25 | 100 | 30 | 62 | 2 1 > | 337300 1000 6NTF90-463-22R-09 63 | 22| 40| 92 4 | o048 °
6NTE90-225-25-06-L150 | 25 | 25 | 150 | 30 | 62 | 2 2 o | 337301] 800 6NTF90-663-22R-09 63 | 22 | 40 | 9.2 6 | 0.51 °
6NTE90-232-W32-06 32 | 32 | 10 | 40 | 62 | 2 1 o | 337302 1000 6NTF90-763-22R-09 63 | 22| 40| 92 7 | o051 °
6NTE90-232-32-06-L160 | 32 | 32 | 160 | 40 | 62 | 2 2 M3.0%8 o o | 337303 800 6NTF90-580-27R-09 80 | 27 | 50 | 92 5 | 1.04 °
6NTE90-332-W32-06 32 | 32 | 10| 40 | 62 | 3 1 BNGU0B04.. Tis o | 337304 1000 6NTF90-780-27R-09 80 | 27| 50 | 92 7 | 105 M3.0%8 10 °
6NTE90-332-32-06-L160 | 32 | 32 | 160 | 40 | 62 | 3 2 M4.0x10 o | 337305 800 6NTF90-980-27R-09 80 | 27 | 50 | 9.2 9 | 1.07|  6NGUOYS. o
6NTE90-340-W32-06 40 | 32 | 115 | 40 | 62 | 3 1 o | 337308 1200 6NTF90-6100-32R-09 100 | 32 | s0 | 92 6 | 185 M4.0x10 s o
6NTE90-340-32-06-L200 | 40 | 32 | 200 | 40 | 62 | 3 2 o | 337307 1000 6NTF90-8100-32R-09 100 | 32| 50 | 9.2 8 | 182 o
GNTE0-440-W32-06 40 | 32 | 115 | 40 | 62 | 4 1 o | 337308 1500 6NTF90-11100-32R-09 100 | 32 | 50 | 9.2 1| 19 °
6NTE90-232-W32-09 32 | 32 | 10 | 40 | 92 | 2 1 o 337309 1000 6NTF90-7125-40R-09 125 | 40 | 63 | 9.2 7 | 3.07 °
6NTE90-232-32-09-L160 | 32 | 32 | 160 | 40 | 92 | 2 2 M3.0x8 10 o | 337310] 900 6NTF90-11125-40R-09 125 | 40 | 63 | 92 1| 3.09 °
6NTE90-340-W32-09 40 | 32 | 120 | 40 | 92 | 3 1 6NGUOYOS.. s o | 337311 1200 6NTF90-14125-40R-09 125 | 40 | 63 | 9.2 14 | 3.15 o
6NTE90-340-32-09-L200 | 40 | 32 | 200 | 40 | 92 | 3 2 M4.0x10 o | 337312 1000 6NTF90-12160-40R-09 160 | 40 | 63 | 9.2 12 | 427 °
GNTE90-440-W32-09 40 | 32 | 120 | a0 | 92 | 4 1 o | 337313 1500 6NTF90-16160-40R-09 160 | 40 | 63| 9.2 16 | 4.29 °




LR 8k T]

Clamp Type Milling Cutter

HEHIT) A

o HEUM @ —MUE g FREDN
stasle Guting sneraiuting T unstate g
K Steel XICEEEXD)
M | FE@ Stainless Steel © oBEBOO
K| #a Iron o v vrss
N | $84R/5%/55/ 8/ A H Aluminum/Copper/Magnesium/Zinc/Plastic/Wood . .
S | BEeEWKAEE Carbide/Powder Metallurgy o sxee
LH | smmasmas Titanium/Superalloy/Carbon Fiber o txee
>
A FREH MRS A RS Dmension (mm) BENB | vo_ gocune
Ef - $%o- 822883
S8 productimage Dimensianing Specificatio : a | Matching I8EEESREFEEE
s roduct Image imensioning Specification e | A B T L Mewhre  0EEEeStanaa
3PKT 100404R-M 04 | 69 | 13 | 4 - 7| = oA,
100408R-M 0.5 6.9 0.9 4 - 7 N o oo
150508R-M 0.8 10.7 1.6 5 - 1 ’ N . o oo
190608R-M 10 | 135 | 20 | 6 - 15 | (Toelnolder) . .o
190616R-M 16 | 135 | 12 6 - 15 | bor-bos P
E7 3PKT 100404R-ML 69 | 69 | 09 | 4 . 7 o e
7] 150508R-ML 107 | 107 | 16 | 5 T . .e
= 190608R-ML 13.5 13.5 2.0 6 - 15 o oo
TR Sk D07-008
%7l
ot
T 3PHT 100404R-AL 69 | 69 | 13 | 4 . 7| = .
100408R-AL 69 | 69 | 09 | 4 - 7| o .
—_— 150508R-AL 107 | 107 | 16 | 5 - 1| Frontnotsen .
R prve 190608R-AL 135 | 135 | 20 | 6 - 15 | por-pos .
Ek = C IR
— Right Angle Shoulder Milling Cutter e Fewm Sy
®7] oD oD
187 TSI #»un — 11
™ A [ with cooling Hote | WY VAH ©
pid ) ) ad <_J
%) N " N L1 L1
R 1= )H| 8% (Cutting Parameters): R15-R18 . L ) L
—_— FRH (Spare Parts): P01-P04 Fig.1 | Fig.2
17 -
T\ MRS R Dimensions (mm) T | BR | TIH nsert | $BET screw |3RF wench | EEfR
%7l Specification D d L L1 | ap |Edges| Fig Stock
" 3PTE90-116-W16-10 16 16 90 20 7 1 1 o | 337400 800
3 3PTE90-220-W20-10 20 20 20 25 7 2 1 o | 337401 800
FR 3PTE90-220-20-10-L170 | 20 20 | 170 | 40 7 2 2 o | 337402 600
TIHE 3PTE90-221-20-10-L200 | 21 20 | 200 | 30 7 2 2 o | 337403 600
————  3PTE90-222-W20-10 22 20 | 100 | 25 7 2 1 o | 337404 800
3PTE90-225-25-10-L210 | 25 25 | 210 | 40 7 2 2 o | 337405 600
3PTE90-325-W25-10 25 25 | 100 | 30 7 3 1 o | 337406 600
3PTE90-325-25-10-L210 | 25 25 | 210 | 40 7 3 2 o | 337407| 800
3PTE90-226-25-10-L250 | 26 25 | 250 | 30 7 2 2 3PKT1004.. M2.5%6 T8 o | 337408 1000
3PTE90-330-W25-10 30 25 | 110 | 35 7 3 1 o | 337409 1000
3PTE90-332-32-10-L250 | 32 32 | 250 | 60 7 3 2 o | 337410, 900
3PTE90-432-W32-10 32 32 | 10 | 40 7 4 1 o | 337411 1000
3PTE90-532-W32-10 32 32 | 110 | 40 7 5 1 o | 337412 1000
3PTE90-333-32-10-L250 | 33 32 | 250 | 35 7 3 2 o | 337413 900
3PTE90-440-32-10-L200 | 40 32 | 200 | 40 7 4 2 o | 337414] 1200
3PTE90-540-W32-10 40 32 | 115 | 40 7 5 1 o | 337415] 1500
3PTE90-640-W32-10 40 32 | 115 | 40 7 6 1 o | 337416 1600
3PTE90-232-W32-15 32 32 | 110 | 40 11 2 1 o | 337417] 900
3PTE90-232-32-15-L250 | 32 32 | 250 | 60 11 2 2 o |337418 1000
3PTE90-332-W32-15 32 32 | 110 | 40 1 3 1 o | 337419 900
3PTE90-332-32-15-L250 | 32 32 | 250 | 60 11 3 2 o | 337420 1200
3PTE90-233-32-15-L250 | 33 | 32 | 250 | 40 | 11 2 2 SPKT1505. M4.0x10 T15 o | 337421 1000
3PTE90-340-W32-15 40 32 | 110 | 40 11 3 1 o | 337422 1000
3PTE90-340-32-15-L200 | 40 32 | 200 | 40 11 3 2 o | 337423 1100
3PTE90-440-W32-15 40 32 | 110 | 40 11 4 1 o | 337424] 1200
3PTE90-240-32-19-L250 | 40 32 | 250 | 45 15 2 2 o | 337425 1300
3PTE90-240-W32-19 40 32 | 115 | 45 15 2 1 o | 337426 1500
3PTE90-340-32-19-L200 | 40 32 | 200 | 45 15 3 2 SPKT1906. Ma.5x12 20 o | 337427 1500
3PTE90-450-W32-19 50 32 | 115 | 45 15 4 1 o | 337428 1600

B 3PTE90 BHA#iFX7%

Right angle locking toolholder

IS5~ 1HI# % (Cutting Parameters):
TR (Spare Parts): P01-P04

”"’

WAL

With Cooling Hole

MigR = R~t  Dimensions (mm) DIk TR nsert 94T Screw |#RF Wrench

Specification D d L M ap | Edges
3PTE90-220-M10-10 20 18 | 35 | M10| 7 2 o | 337430 900
3PTE90-325-M12-10 25 | 21 35 | M12| 7 3 o | 337431 900
3PTE90-432-M16-10 32 | 29 | 43| Mi6| 7 4 o | 337432 1000
3PTE90-532-M16-10 32 | 20| 43| ms| 7 5 SPKT1004. M2.5%6 T o | 33743 1200
3PTE90-540-M16-10 40 | 29 | 43 | mi6| 7 5 o | 337434 1200
3PTE90-640-M16-10 40 | 29 | 43 | m16| 7 6 o | 337439 1500
3PTE90-232-M16-15 32 | 29 | 43 | Mi6| 11 2 o | 337436 1000
3PTE90-332-M16-15 32 | 29 | 43 | mie| 11 3 o | 337437 1200

3PKT1505.. M4.0x1 ™

3PTE90-340-M16-15 40 | 20 | 43 | mi6| 11 3 010 5 o | 337438 1200
3PTE90-440-M16-15 40 | 29 | 43 | M16| 11 4 o | 337439 1500
3PTE90-340-M16-19 40 | 20 | 43 | mi6]| 15 3 3PKT1906. M4.5x12 T20 o | aaraad 1500

B 3PTFO0 BER&aR%7

Right Angle Shoulder Milling Cutter

= ESE (Cul
TR (5

e o]

HAMIL
With Cooling Hole

MRES R Dimensions (mm) B2k £ | TIR Jnsert | BT screw [HRF wenon | BER |l |z

Specification D d H ap Edges | (kg) B Code (RMB)
3PTF90-540-16R-10 40 16 40 7 5 0.3 o | 337441 700
3PTF90-640-16R-10 40 16 40 7 6 0.3 o | 337444 800
3PTF90-650-22R-10 50 22 40 7 6 0.4 o | 337443 800
3PTF90-750-22R-10 50 22 40 7 7 0.4 SPKTI004. N2.5<6 e o | 337444 1000
3PTF90-863-22R-10 63 22 40 7 8 0.5 o | 337445 1000
3PTF90-963-22R-10 63 22 40 7 9 0.5 o | 337446 1000
3PTF90-450-22R-15 50 22 40 11 4 0.3 o | 337447 1000
3PTF90-550-22R-15 50 22 40 1 5 0.3 o | 337444 1000
3PTF90-663-22R-15 63 22 40 11 6 0.5 o | 337449 1000
3PTF90-780-27R-15 80 27 50 1 7 1.0 o | 337450 1200
3PTF90-880-27R-15 80 27 50 11 8 1.0 3PKT1505.. M4.0x10 T15 o | 337451 1200
3PTF90-8100-32R-15 100 | 32 50 11 8 1.9 o | 337454 1500
3PTF90-10100-32R-15 100 | 32 50 11 10 1.9 o | 337454 1600
3PTF90-10125-40R-15 125 | 40 63 1 10 3.1 o | 337454 1600
3PTF90-12125-40R15 125 | 40 63 11 12 3.1 o | 337454 2000
3PTF90-463-22R-19 63 22 40 15 4 | 043 o | 33745 1200
3PTF90-663-22R-19 63 22 40 15 6 0.93 o | 337457 1300
3PTF90-480-27R-19 80 27 50 15 4 | 094 o | 337454 1500
3PTF90-780-27R-19 80 27 50 15 7 0.95 o | 337459 1800
3PTF90-6100-32R-19 100 | 32 50 15 6 1.79 3PKT1906.. M4.5x12 T20 o | 337460 1800
3PTF90-8100-32R-19 100 | 32 50 15 8 2.56 o | 337461 2000
3PTF90-8125-40R-19 125 | 40 63 15 8 2.99 o | 3374624 2000
3PTF90-10125-40R-19 125 | 40 63 15 10 3.1 o | 337463 2500
3PTF90-8160-40R-19 160 | 40 63 15 8 | 4.22 o | 337464 2500
3PTF90-12160-40R-19 160 | 40 63 15 12 | 4.33 o | 337464 3000

7]
%7

sk
I

b
T4

#%7]



® S W
MZG Clami)-'ll"ygfeil\}ilflﬁgjjcmter

" DR
EfEBHT la L{ﬂ e

Right Angle Shoulder Milling Cutter s wo

BEHITI A

¢ EEBAYIHI, EERHTIEBR—RETIHME
° JIO%F, BE.

@ MEUM @ —MUH g FREDH
Stabl Cuttng T

P | @ Steel o0 exxxVe
* Suitable for heavy cutting, rotary and feed volume is 3 times the normal cutter. M| FE@ STainteR=lSizal © Ces800
* Blade sharp, strong. L2 K | #& Iron e o exwn%
o< N | 4847 /% BR/AH Aluminum/Copper/Magnesium/Zinc/Plastic/Wood 0 °
S S | BRARWERAS Carbide/Powder Metallurgy 0 Py
- I\ | I - HIRA /BT Titanium/Superalloy/Carbon Fiber o PRPRPS
S \l e J— LR Rt Dimension (mm) RENE
ﬁ S proguctimage Blmisig ® | A B T i a | Mething
5 WK (Cuting Parameters) R15-R18 = . JDMT 100304 o4 ol et 35 - [0
FIeA (Spare Parts): PO1-PO4 100320R 20 1o | e1 35 | - | 10 | =
2 100332R 32 | 10 | 61 | 35 | - 0 | o
EUE=S Rt Size Pk S R4T Screw #HFWrench ﬂ 150504R 04 | 160 912 | 50 - 15 | (Toolholder
No.of a Stock 150508R 08 | 160 912 | 50 - 15 | D0s-D10
Cat. No D d L L1 & 150520R 20 | 160 | 912 | 50 - 15
Flutes 150530R 30 | 160 912 | 50 | - 15
—_— AHU10R10-10-100-1T 10 10 | 100 [ 30 1 o [322900 100
B AHU10R12-12-120-1T 12 12 | 120 | 30 1 e [322002) 100 " V/‘
AHU10R12-13-130-1T 13 12 | 130 | 30 1 e 322004 100 [
L2 AHU10R16-16-120-2T 16 16 | 120 | 30 2 e | 322906 100 B AHUB =EsaRxH@EH & hm! ﬂ
Bk AHU10R16-16-160-2T 16 16 160 40 2 . 322908/ 100 Right Angle Shoulder Shell e ks pesinin S TRk
S AHU10R16-16-200-2T 16 16 200 50 2 e | 322010] 130 Face Milling Cutter S
%71 AHU10R16-16-250-2T 16 16 | 250 | 60 2 e 322912 160 - . . ®7
AHU10R16-17-120-2T 17 | 16 | 120 | 30 | 2 e |322014) 100 @1 &, ERMES
ek AHU10R16-17-160-2T 17 16 | 160 | 40 2 o |[320016 130 OEB=AA, HIBH %
TIHF AHU10R16-17-200-2T 17 16 | 200 | 50 2 e | 322918 160 @R, M T
—_— AHU10R16-17-250-2T 17 16 | 250 | 60 2 e 322020 200 —_—
s AHU10R20-20-120-2T 20 20 | 120 | 30 2 e [322022 120 * Blade economy, the applicability of high #lfa
TIFF AHU10R20-20-160-2T 20 20 | 160 | 40 2 e 322024 120 ) *c W chip a1 Sehind E S
AHU10R20-20-200-2T 20 | 20 | 200 | s0 2 o |320026] 135 17 IS (Cutting Par apacity ehip farge space, good chip disposa
EX 3 AHU10R20-20-250-2T 20 20 250 60 2 . 322928/ 220 REH: (Spare Parts oD ‘ % Cone design, steel high
) AHU10R20-21-120-2T 21 20 | 120 | 30 2 e | 322930 120
AHU10R20-21-160-2T 21 20 | 160 | 40 2 9 JDM T 10039R M2.5%6 T8 e 322032 120 we Rt Size 6T Screw HFWrench W order  Price
AHU10R20-21-200-2T 21 20 | 200 | 50 2 e |322034) 135 oc|
AHU10R20-21-250-2T 21 | 20 | 250 | 60 2 o | 322936 220 Selbll D d H w T a /% NUmEerj(RMB)
w7l AHU10R25-25-120-4T 25 25 120 35 4 0 322038 160 AHUB-50-22-4T 50 22 50 10.4 6.3 16 0 200 200 7]
87 AHU10R25-25-160-4T 25 | 25 | 160 | 50 | 4 o |322040 160 AHUB-63-22-4T 63 | 22 | 50 | 104 | 6.3 16 | oo o V410 15 e | 225 | 225 7]
— AHU10R25-25-200-4T 25 25 | 200 | 75 4 e | 322942 180 AHUB-80-27-6T 80 27 | 50 | 12.4 7 16 . 350 | 350 —
;ﬁ A AHU10R25-25-250-4T 25 25 | 250 | 90 4 e | 322044 240 AHUB-100-32-6T 100 | 32 | 50 | 14.4 8 16 . 540 | 540 BN
i AHU10R25-26-120-4T 26 25 | 120 | 35 4 e | 322946 160 . s [———— i
=75 AHU10R25-26-160-4T 26 | 25 | 160 | 50 | 4 o | 322048 160 >>AHUT0E )& ( WDMT1003. 7057 ) 9B RK , it SSHBENRTER, B
A AHU10R25-26-200-4T 26 25 | 200 | 75 4 e | 322950 180 o
i1 ::3:3:25-22-::31; 26 | 25 | 250 | 90 4 o | 322957 240 B AHUMEBE&BIM#%T] %07
@ 5-30- 30 25 | 160 | 45 4 e | 322954 180 : : el
;FE AHU10R25-30-200-4T 30 | 25 | 200 | 50 | 4 o | 322056 200 Shoulder/Cutting End Mills(AHUM) F@
%7 AHU10R25-30-250-4T 30 25 | 250 | 75 4 e | 322958 260 #7
T . | AHU10R32-30-180-4T 30 32 180 75 4 . 322960 220
i AHU10R32-32-130-5T 32 32 | 130 | 45 5 e |[322062) 260 #
FR AHU10R32-32-200-4T 32 32 | 200 | 90 4 o | 322064 350 FR
TIHE AHU10R32-35-200-4T 35 32 200 45 4 o 322966] 400 TIHE
_— AHU15R25-25-130-2T 25 25 | 130 | 40 2 o |[322968 150 5 YIRS # (Cutting Parameters); R15-R18
AHU15R25-25-150-2T 25 25 150 | 40 2 e | 322970, 150 TR (Spare Parls):PO1-P04
AHU15R25-25-170-2T 25 25 | 170 | 75 2 e | 322972 160
AHU15R25-25-180-2T 25 25 | 180 | 75 2 e | 322074 160 7 = R <t Size T K Insert SB4T Screw #F Wrench Order  Price
AHU15R25-25-200-2T 25 25 200 75 2 . 322976/ 160 = Teeth Stock Numb =
AHU15R25-25-250-2T 25 | 25 | 250 | 90 2 o | 322078 220 Cat. No D L d M Uty | (R
AHU15R25-26-150-2T 26 25 150 40 2 . 322980 150 AHUM1016R-2 16 25 8.5 M8 2 ° 323100 150
AHU15R25-26-180-2T 26 25 | 180 | 75 2 e | 322982 160 AHUM1017R-2 17 25 | 8.5 m8 2 ° 323102 | 200
AHU15R25-26-200-2T 26 25 200 75 2 14 JDM T 150500R M4x9 T15 o 322984 160 AHUM1018R-2 18 25 8.5 M8 2 o 323104 200
AHU15R25-26-250-2T 26 25 | 250 | 90 2 e | 322986 220 AHUM1020R-3 20 30 | 10.5 | m10 3 ° 323106 | 150
AHU15R25-26-300-2T 26 25 | 300 | 90 2 e | 322088 280 AHUM1021R-3 21 30 [10.5 | m10 3 . 323108 | 200
AHU15R25-30-130-2T 30 25 | 130 | 45 2 e | 322990 180 AHUM1022R-3 22 30 | 10.5 | Mm10 3 o 323110 | 200
AHU15R32-32-140-3T 32 32 | 140 | 45 3 e |322992 220 AHUM1025R-4 25 35 112.5 | w12 4 |JDMT100308 M2.5X6 T8 ° 323112 | 160
AHU15R32-32-200-3T 32 32 | 200 | 90 3 e | 322904 220 AHUM1026R-4 26 35 | 12.5 | m12 4 ° 323114 | 200
AHU15R32-32-250-3T 32 32 | 250 | 90 3 e |322996 260 AHUM1028R-4 28 35 [ 12.5 | w12 4 o 323116 | 300
AHU15R32-32-300-3T 32 32 | 300 | 90 3 e | 322998 320 AHUM1030R-5 30 40 17 M16 5 o 323118 | 300
AHU15R32-35-200-3T 35 32 | 200 | 90 3 e | 323000 220 AHUM1032R-5 32 40 17 M16 5 o 323120 | 400
AHU15R32-35-250-3T 35 32 | 250 | 90 3 e | 323002 260 AHUM1035R-5 35 40 17 M16 5 o 323122 | 400
AHU15R32-35-300-3T 35 32 | 300 | 90 3 e |323004 320 AHUM1040R-6 40 40 17 M16 6 o 323124 | 500
AHU15R32-35-350-3T 35 32 | 350 | 90 3 e | 323006 380 AHUM1525R-2 25 35 [12.5 | M12 2 . 323126 | 160
AHU15R32-35-400-3T 35 32 | 400 | 90 3 e |323008 450 AHUM1526R-2 26 35 | 12.5 | M12 2 o 323128 | 200
AHU15R32-40-140-4T 40 32 | 140 | 45 4 e | 323010 260 AHUM1528R-3 28 35 | 12.5 | M12 3 |JDMT150508 M4X9 T15 o 323130 | 300
AHU15R32-40-220-4T 40 32 | 220 | 45 4 o |323012 350 AHUM1530R-3 30 40 17 M16 3 . 323132 | 160
AHU15R32-50-140-5T 50 32 | 140 | 45 5 o |323014 380 AHUM1532R-3 32 40 17 M16 3 . 323134 | 200
AHU15R42-50-220-4T 50 42 | 220 | 45 4 o | 323016] 450 AHUM1535R-3 35 40 17 M16 3 o 323136 | 400




® S W
MZG Clam?-'ll"ygfeil\}ilflﬁgjjéutter

BEHITI R BEHITI A

EREK NFIRS L (R Blaieln ) RENF | o nocuas ERERK MR ST ) RETIF
I B N - Matching  [32Z8SHILLLE o - - - Matching
Product Image Dimensioning Specification re A B T a Toothorder 1S BBERQEEEES Product Image Dimensioning Specification re A B T o
. APKT 1003PDR-HM 05 | 1095 6.7
JDMT 070202R 02 | 64 | 43 | 245 6 eoe . 1003PDTR-76 05 | 11.00 6.7
070204R 04 | 64 | 43 | 245 6 | = eoe 1003PDTRRM | 05  11.00 6.7 v
= . 070208R 08 | 64 | 43 | 245 6 | nE: eoe eoe 100308PDTR-RM | 0.8 11.00 6.7 -
@2 @ Toolholder) 100310PDRRM | 1.0 1075 67 (Toolholder)
f] EDMT 070220R-T 20 | 64 | 43 | 25 6 | o ofJo 100312TR-RM 12 | 1050 | 6.7 D12
070220R 20 | 64 | 43 | 25 6 oo 100316PDTR-RM | 1.6 10.90 6.7
100320PDTR-RM | 2.0 10.90 6.7
N
BASM BRaEEET ) e = B AP1003 BER&aB%7] —) V/‘A —
L ‘ Right Angle Shoulder Milling Cutter l" I ! m
Right angle shoulder fine milling cutter Lm‘ h‘
ey S S 15 YIHIS% (Cutting P, ers):R15-R18
TR (Spare Pa P01-P04 L2 g
B 1= ¥I#1# % (Cutting Parameters): R15-R18 ° |
7] PR (Spare Parts): PO1-P04 8 | a I\
_— - 2| od © \l
. s 0ES b2kl i 22— 3{% % Suitable for heavy cutting, rotary and feed L1 L
2 =) ’ = =3
Tk sk Nn&. BE volume is 3 times the normal cutter. al
EPl o700 ’ ° * Blade sharp, strong. L
Il 1
ot k=3 R size 255 (el i G ERARE Order  Price QE AR NIHEI, [E4 RitT)ER R TR * Suitable for heavy cutting, rotary and feed volume is 3 times the normal cutter. ot
T Cat. No D d L L1 Sl Number (RMB) OV O#%F, EE. * Blade sharp, strong. paLis
b= ASMO07R10-08-75-1T 8 10 | 75 16 e (323300 220 EOE=S Rt Size | 7% T Insert 4T Screw $7FWench order  Price s
T ASMO7R10-10-100-2T 10 | 10 | 100 | 20 o |[323302 215 Cat. No 5 5 . [y | Noor| @ Stock (RMB) T4
ASMO7R10-11-100-2T 11 10 100 20 e (323304 215 Flutes
Y ASMO7R12-12-120-2T 12 12 | 120 | 25 o [323306 215 AP1003R16-16-100-2T 16 16 100 | 30 2 o 323600 180 T
I SRR AR o o sriome o |1t | e | 0| | e B
ASMO7R12-14-120-3T 14 12 | 120 | 25 e 323310 230 PP 9 APKT1003.. M2.5x6 T8 ® d
= SMO7R16-16.120-3T 16 16 | 120 | 50 o 323312 230 AP1003R20-18-200-2T 18 20 | 200| 30 2 323606 200 =
= A AP1003R20-20-100-2T 20 20 100 30 2 o 323608 200 =
a7 ASMO7R16-16-160-3T 16 | 16 | 160 | 50 OMTOT0208 W axa o o [323314] 240 AP1003R20-20-150-2T 20 | 20| 150 30| 2 o | 32361 200 )
7] ASMO7R16-16-160-4T 16 16 160 50 . . 323316| 280 7
L= ASMO7R16-17-160-3T 17 16 | 160 | 50 e (323318 240 s .
i ASMO7R16-17-160-4T 17 | 16 | 160 | 50 o [323320] 280 B AP10—ARERBEHAHFBEHT] o SR (ot Pt A1
N ASMO07R16-17-200-3T 17 16 200 50 o 3233 250 . e BRH (Spare Parls): PO1-PO4 3 4A
%;}‘] ASMO7R20-20-160-4T 20 20 160 60 . 323324| 260 AP10 integrated high strength square shoulder milling cutter lgﬁ
ASMO07R20-20-200-4T 20 20 200 60 . 323326 280
0 ASMOTR20-21.160.4T 21 | 20 | 160 | 60 o 523329 260 = A U= T T W = orser eiicen MR
-21-200- 1
T\ ASMO07R20-21-200-4T ° Cat. No Edges| | L1 D (IO Number — (RMB) @
Ed) G 33k A | 4R N BT30-AP10-16-2T #7]
7 S -AP10-16-: 2 155 20 16 323700 950
p— HASMM ﬂ:ﬂ PR IR R T) K BT30-AP10-20-2T 2 155 20 20 323702 950 —_—
£ ASMMO7 Super Excellent Mini ASM-Modular type BT30-AP10-25-3T 3 155 90 25 323704 1000 Hh
Ft o BT30-AP10-32-4T | 4 155 20 32 323706 1150 F2
I\ I\
k) _ BT40-AP10-16-2T 2 155 %0 16 323710 1000 TR
1 HISH R15-R18 APKT1003
BT40-AP10-20-2T 2 155 20 20 323712 1000 —_—
FRH (S BT40-AP10-26-3T | 3 156 90 25 323714 1150
BT40-AP10-32-4T 4 155 20 32 323716 1250

W e R ¥  size Afinset | gseew | BF Yo Order  Price
Teeth Stock
Cat. No D L d M Number (RMB) s 2d
ASMMO0708R-1 8 20 6.5 M6 1 © . AP E% Dﬁﬁ%nﬁ W,

- .5 323400 400 ———‘ *
ASMMO710R-2 10 20 | 65 M6 2 L3 323402 400 AP Right angle shoulder face mill i
ASMMO0711R-2 11 20 6.5 M6 2 L4 323404 ‘ 400 f
ASMMO712R-2 12 20 | 65 M6 2 ° 323406 400
ASMMO0712R-3 12 20 6.5 M6 3 L 323408 ‘ 400 T
ASMMO713R-3 13 20 | 65 M6 3 o 323410 400
ASMMO0716R-3 16 25 8.5 M8 3 o 323412 ‘ 400
ASMMO0716R-4 16 25 8.5 M8 4 L4 323414 ‘ 400 L
ASMMO0717R-3 17 25 8.5 M8 3 o] 323416 400 -
ASMMO717R-4 17 25 | 85 | M8 4 |IOMTOTO2R) s 6xe T8 ® |323418 400 EAmE oo e oD
ASMMO0720R-4 20 30 | 105 | M10 4 |EDMTO0702..R| ® | 323420 | 400 FRH Goaebare
ASMMO720R-5 20 30 | 105 | M10 5 o 323422 500
ASMMO0721R-4 21 30 10.5 M10 4 . 323424 | 400 W e T % R ~tsize T Insert SR¢T Screw #RFWrench
ASMMO725R-5 25 30 | 125 | M12 5 © 323426 500 = No.of &

ASMM0725R-6 25 30 | 125 | M12 6 o 323428 | 600 Cat. No flutes | D | 9 | H | W

ASMMO726R-5 26 30 17 | mM12 5 o 323430 500 AP1003R40-16-5T 5 a0 | 16 | 40 | 104 e (323800 420
ASMMO0726R-6 26 30 17 M12 6 o 323432 \ 600 APKT1003

ASMMO732R-5 32 30 17 M16 5 o 323434 600 AP1003R50-22-6T 6 | 50 | 22 | 45 | 104 APKX1003 M2.5%6 T8 ® 1323802 380
ASMMO732R-8 32 30 17 M16 8 o 323436 | 800 AP1003R63-22-7T 7 | 63 | 22|45 | 104 ® [323804] 420




® S W
MZG Clami)-'ll"y;p%eil\}ilflﬁgjjcmter

B BAP EA&B%T]
Right Angle Shoulder Milling Cutter -\w

1y mmm.m sw o ) !mumrmum
%ﬁ’: ﬁu 7] J 05 YIHIBH| (Culling Parameters): R15-R18

BE# (Spare Parts): P01-P04

L2

ad

LmEe e Emom e omn L H
P|® Steel v vxx%ee
M | FE®R Stainless Steel © VBHBHOO L J
K | s Iron o v vxxx '
N | s24R/88/55 B8/ K 1 Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o . o EABNYIN, EERHETIER—METINME
S | #RAS WARAS Carbide/Powder Metallurgy o xxoe o ERTIAEH, HHEH.
- SERA R/ Titanium/Superalloy/Carbon Fiber g xx00 % Suitable for heavy cutting, rotary and feed volume is 3 times the normal cutter.
- — nEART - I e e RETIR LI REN % Adapter blade economy, cost-effective.
& N . Matching  |QZZ858RLLLE - e B Edinsen BT Screw
roduct Image Dimensioning re A B T Y I9BBZSCGRERAY me i Rt Size Fd i Inse stock I
Cat. No D|da|L|Lt|rz]a [ @ Number (RMB)
. BAP300R10-10-100-1T 10 [ 10[100] 30| - | 8 | 1 o 323900 67 -
i3 = BAP300R10-10-120-1T 10| 10 120/ 30| - |9 | 1 o [323902] 67 | 90
& 0 1 APKT 1135PDER-G2 08 | 11 | 635 35 T . BAP300R10-11-120-1T ‘| 1ruf1200 30| - [ 9| 1 e [323904) 67 | 90
] 1604PDER-G2 08 | 165 | 9525 | 4.76 (Toolholder) 0 BAP300R12-12-130-1T 12| 12[120(30| - | 9 | 1 o [323906] 67 | 95
4 1 D14-D16 BAP300R12-13-130-1T 13| 12[130/30| - | 9 | 1 o [323908] 67 | o5
P D48 D52 BAP300R14-14-130-2T 14| 14[130/30| - | 9 | 2 o [323910] 77 5
= diec a1 1or comr sl orinan i} BAP300R14-14-150-2T 14| 14[150/30| - | 9 | 2 o [323912] 77 -
BAP300R15-16-150-2T 16| 15150/ 40| - | 9 | 2 o [323914) 77 | 100
Ed) B - BAP300R15-16-200-2T 16| 15200 40| - | 9 | 2 o [323916] 100 | - %]
— :Z o) BAP300R15.6-16-150-2T 16| 15.6150/ 40| - | 9 | 2 o [323018] 77 S —
Bk ia 1 APKT 160402-AL 02 | 165 | 9525 | 476 S . BAP300R15.6-16-200-2T 16| 15.6200/ 40 | - | 9 | 2 o [3239200 100 | - .
~ B 160404-AL 04 | 165 | 9525 476 (Toolhalder) . BAP300R16-16-120-2T 16| 16(120(40| - | 9 | 2 e [323922 77 | 100 TRk
7] HE T 160408-AL 08 | 165 | 9.525 | 4.76 D116 . BAP300R16-16-150-2T 16| 1615050 | - | 9 | 2 o [323924) 77 | 100 %71
_— P pasboz BAP300R16-16-200-2T 16| 16(200| 60 [100 9 | 2 o [323926) 100 | 130 —_
S Spocialfor copper skuminum metal BAP300R25-16-250-2T 16| 25250/ 60| - | 9 | 2 o [323928) 133 | - p
g BAP300R16-17-120-2T 17| 16120/ 40| - | 9 | 2 e [323930| 77 | 100 7]%
. ) ) = BAP300R16-17-150-2T 17| 16150/ 40| - | 9 | 2 e 323932 77 | 130
I : APKT Egggf 02 | 1 | 63| 35 ey N BAP300R16-17-200-2T 17| 16200/ 40| - | 9 | 2 e |323934| 100 | - _—
s = % 11° qea b I - (Tootnolder) |s BAP300R16-18-150-2T 18| 16150/ 40| - | 9 | 2 o |323936] 93 - Bl
g % A 03 | 165 | onos | 478 bienis e BAP300R16-18-200-2T 18| 16200/ 40| - | 9 | 2 e |323938 107 | -
T 180404 o4 | 165 | 9595 | 478 basps2 e BAP300R19-20-150-2T 20| 19[150{40| - [ 9| 2 e |323940l 93 | 120 TI#F
_— 1 s |1 525 | 4.7 o BAP300R19-20-200-2T 20| 19|200{40 | - | 9 | 2 e |323942 107 | 135 R
EXS S o ] £0408 08 | 165 ) 9525 | 476 BAP300R20-20-120-2T 20| 20[120[35| - | 9| 2 APMT 1135 PDER M2.5%6 8 o |323944 93 | 115 E
) BAP300R20-20-150-2T 20| 20[150|50 | - | 9 | 2 e [323946] 93 | 120 "
) . - BAP300R20-20-200-2T 20| 20{200| 60 |100[ 9 | 2 e |323948 107 | 135 7]
3 e APKT 1]225 Si ﬂ }51 i BAP300R20-20-250-2T 20| 20[250|60| - | 9| 2 o |323950| 133 | - —
i { 11° HEes o8 | 1 3e ehoraen) BAP300R25-20-250-2T 20| 2525060 | - [ 9| 2 o |323952 167 | - =
&7 ‘ . 160402 02 | 185 e el BAP300R20-21-120-2T 21| 20/120{50 | - | 9 | 2 o [323954 93 = &7
w7 2 T 160404 04 | 163 476 Das b5 BAP300R20-21-150-2T 21| 20{150{50| - [ 9| 2 o |323956] 93 | 120
160408 os | 163 %76 BAP300R20-21-200-2T 21| 20/200{50 | - | 9 | 2 o |323958 107 | 135 7]
ot ron and ard o cut materas BAP300R24-25-150-3T 25| 24{150/50| - [ 9| 3 o |323960 140 | - _
R BAP300R24-25-200-3T 25| 24|200(50 - | 9 | 3 o |323962 167 | - Iy
oN . BAP300R24-25-250-3T 25| 24{250/60| - [ 9| 3 o |323964) 200 | - .
sl 3 BAP300R25-25-120-3T 25| 25/120/50 [ - | 9 | 3 o [323966] - | 140 e
E3 ) HA APMT 1135PDER-M2 08 | 11 | 635 35 . coee BAP300R25-25-150-3T 25| 25/150/50 | - | 9 | 3 o |323968 140 | 150 E ]
e il 1604PDER-M2 08 | 165 | 9525  4.76 . ceee BAP300R25-25-200-3T 25| 25/200{60 | - | 9| 3 o [323970| 167 | 160 —_
%07 R BAP300R25-25-250-3T 25| 25/250| 60 [115) 9 | 3 o |323972] 200 | - .
= D48,D52 BAP300R25-30-150-4T 30| 25(150(50 | - [ 9| 4 o [323074] - | 150 x0
FE o BAP300R25-30-200-4T 30| 25(200{60| - [ 9| 4 o [323976) - | 180 TE
EY) BAP300R25-30-250-4T 30| 25(250(60| - [ 9| 4 o |323078] - | 250 Ev)l
APMT 1135PDER-H1 04 | M 35 . 8.5-190-3T 28.5 32|190{ 50 | 65| 9 | 3 o |323980] - | 260
o 1135PDER-H2 08 | 1 35 . ceee BAP400R24-25-150-2T 25[ 24[150[50 [ - |14 2 o [323982] 107 | 140 .
9 1135PDER-H3 12 | 1 35 = . BAPA400R24-25-200-2T 25| 24|200{60 | - [14| 2 o |323984) 133 | 150 i3
Fi e . 1135PDER-H4 161 n 35 e = BAP400R24-25-250-2T 25| 24/250(50 | - | 14| 2 o (323086 167 | - FR
TR A " JULOSEDERIG) 24 | 1 9 A o BAP400R25-25-150-2T 25| 2515060 | - |14] 2 e [323988 107 | 140
1604PDER-H1 04 | 165 476 (Toolholder) . TIHE
— T 1604PDER-H2 08 | 165 476 D14-D16 e eeee BAP40OR25-25-200-2T 2520 PR ol e o (323990 133 | 150
1604PDER-H3 12 | 165 476 D48 D52 . BAP400R25-25-250-2T 25| 25/250/70 | - |14 2 o |323992 167 | 165
1604PDERHA 16 | 168 476 o BAP400R32-25-300-2T 25| 32|300/40 | - |14 2 o |323904| 267 | -
T 1604PDER-HB 24 | 165 476 . BAPA400R25-26-150-2T 26| 25/150/50 | - (14| 2 o |323996] 107 | 140
1604PDER-H8 32 | 165 476 . BAP400R25-26-200-2T 26| 25/200/60 | - [14| 2 e [323908 133 | 150
BAPA00R25-26-250-2T 26| 25/250(60 | - [ 14| 2 o [324000| 167 | 165
~ BAP400R25-26-300-2T 26| 25/300/45 | - |14 2 o [324002] - | 185
z g = BAP400R25-30-150-2T 30| 25(150(45| - [14] 2 e (324004 120 -
ia 110 APMT 1135PDER-DU 0.8 1 6.35 | 35 T . BAP400R25-30-200-2T 30| 25|200|45| - | 14| 2 o [324006| 140 -
1 1604PDER-DU 08 | 165 | 9525  4.76 {Toolholder) . BAP400R25-30-250-2T 30| 25(250( 50| - [14] 2 o [324008 183 | -
- = D14-D16 BAPA400R32-32-150-3T 32| 32|150(50 | - (14| 3 o [324010| 167 | 160
D48,D52 BAPA00R32-32-200-3T 32| 32|200( 60| - [14] 3 o [324012 200 | 170
e BAPA00R32-32-250-3T 32| 32|250| 60 | 115 14| 3 APMT 1604 PDER M4xg Ti5 o [324014] 233 | 190
¢ BAPA00R32-32-300-3T 32| 32(300| 60 | 115 14| 3 o [324016) 300 | 220
BAP400R32-32-350-3T 32| 32(350( 60| - [14] 3 o [324018 333 | -
= BAPA00R32-32-400-3T 32| 32(400|50| - [14] 3 o [324020] 550 | -
11 APMT 1135PDER-KZ 08 | 11 | 635 35 T coee BAP400R32-35-150-3T 55 (150 F00 e @/ |324022\7467 77185
1604PDER-KZ 08 | 165 | 9.525 4.76 (Toolholder) csee BAP400R32-35-200-3T 35| 82200150 - | 14} 3 e 324024 200 ) 200
< e BAP400R32-35-250-3T 35| 32(250( 50 | - [14] 3 o [324026 250 | 240
oo o BAPA00R32-35-300-3T 35| 32(300(50| - [14] 3 o [324028 300 | 280
BAP400R32-35-350-3T 35| 32(350( 50 | - [14] 3 e [324030 367 | 320
BAP400R32-35-400-3T 35| 3240050 | - [14] 3 e [324032 550 | 360
BAP400R32-40-150-3T 40| 32|150|50 | - | 14| 3 o [324034| 183 | -
c® - BAP400R32-40-200-3T Ag 32(200/ 60 | - | 14| 3 o [324036| 217 | 220
tH . ; . BAP400R32-40-250-3T 40| 32|250|60 | - |14 3 o [324038 267 | 260
n v el o | s s £ raere SRR E - HEIE e s | S
T : : . Dieie ! BAP400R32-40-350-3T 40| 32(350{ 60| - | 14| 3 e 324042 400 340
s o BAPAO0R32-40-400-3T 40| 32/400{60 | - (14| 3 o [324044) 500 | 400
BAP400R32-50-1504T 50| 32(150(50 | - (14| 4 o [324046 267 | -
BAP400R32-50-200-4T 50| 32[200/50| - [14] 4 o |324048) 333 | -




® S W
MZG Clami)-'ll"y;p%eil\}ilflﬁg%utter

paN P -
APERBREEHEHRKTIE B BAPM ER&BIL#T] —~a8
BAPM Shoulder/Cutting End Mills(BAPM)
AP Rectangular Aluminum Alloy Surface Milling Cutter
= YIMI$¥ (Cutting Parameters): R15-R18
SR # (Spare Parts): P01-P04
@ﬂ]ﬁu@& :R17-R18 * High strength aluminum alloy body, more suitable for small - R o si TIE Insert ER 24T Screw #KE Wrench .
power machine g! =2 ize Order Price
Fmfr : PO * Fine axial adjustment function, can obtain a high surface quality! Cat. No D L d M Teeth Clamp Number (RMB)
OERELAETIE, BEESNNENEK, * Have the wrong tooth diameter cutter holder, the rough and finish BAP3R162M08 16 25| 8.5 M8 > ° 324100 150
N o machining of a complete :
o MM BEIAT NG, ARSENRARE! * nino ° . BAP3R172M08 17 | 25| 8.5 | M8 2 ® | 324102 | 180
BEETIR. BEMT—RE The optional PCD finishing tool grain wrong tooth milling, BAP3R202M10 20 | 30 1105 | Mo 5 . 324104 150
o FEHAEREETIR, J KT surface effects to make you more satisfied! . APMT1135PDER - M2.5X6.5 T8
© EEPCOSHEM T IIMISB A SN, RANRLSEEHRE! BAP3R212M10 21 | 30 [ 10.5 | M10 2 . 324106 | 180
BAP3R253M12 25 | 35| 12,5 | M12 3 . 324108 | 150
BAP3R263M12 26 | 35|12.5 | M12 3 . 324110 | 200
AL-AP mexamapssnz-gsx BAP4R252M12 25 | 35 12.5 | M12 2 o 324112 160
Machine-Clamped Right-Angle Shoulder End Milling BAP4R262M12 26 | 35125 | M12 2 . 324114 | 200
Cutter Head-Aluminum Highlinht BAP4R302M16 30 | 40| 17 | M16 2 | APMT1604PDER | = M4X9 T15 . 324116 | 200
I K| # % (Cutting Parameters): R15-R18 BAP4R323M16 32 40 17 | M16 3 . 324118 260
Spare Parts): P01-P04
FRH Sonebane BAP4R353M16 35 | 40| 17 | M16 3 . 324120 | 280

B BAP BEfR&REHTIE
BAP Type RightAngle Shoulder

o EAIT EATIK
e ERSMHMRIIA, WERBNGEH

Milling Cutter . BERzZEXA, HESF Bk
L EAN 7]
r,j) : japtive multi-material blade, applicable to aluminum steel milling fﬁiﬁ
L #F(Accessory): ! 2 £ (Accessory): 1S MR (Cuting Paramaer): K15 K18 Rkl
o5 mHME, BRR, EARAMES  JIHAP . 1600 o— TIEAP. . 1604 o S Wench g
% Features: Aluminum Shell, Light Weight, R5T:M4X10 4E4T:M4X10 L= NURY Order  Price  Price TI#
Right Angle And High Polishing Efficiency W|FT15 WFTI5 Cat. No D d a & Number  (RMB)  (RMB)
T M4 S MRS R Dimensions | 71% Wikl Ragicpte] RS Dimensions |BECTIR| T1%¥ | ik BAP300R40-16-5T 40 | 16 - ; 9 e [324200] 167 | 250 ;;
Order Specification D|d|H|W)|T|Edge NIt Order Specification D | d | H [Fit Holder| Edge [T BAP300R50-22-6T 50 22 | 50 |[10.4 | 6.3 9 APMT1135PDER | M2.5%6 T8 e |324202| 217 | 225
324450 |AL-AP16-50-22-4T | 50| 22| 50 [10.4]6.3] 4 | 260 324400 |MA-AP74-A22204 74| 22| 51 4 | 1450 BAP300R63-22-7T 63 | 22 | 50 | 104 | 63| 9 o [324204| 283 [ 312 -
S2iis |ALAP10-80-22-6T | 00| 22| 50 |124| 7| & | 440  apados |MAAPHIRerZon | 111] 27 | o1 5 | 2400 BAPGOORS0-224T | 50 |22 1 50 [ 104 [ 6.3 ] 12 R S DA T
324456 |AL-AP16-80-27-5T |80 |27 |50 [12.4] 7 | 5 | 440 324406 |MA-AP111-B25.4206 [111(25.4] 51 | ap1e.g| 6 | 2400 :ﬁg:ggzgg'gzé; gg 2; gg 12'3 653 11 ° gg:;?g ggg ggg 7]
324458 |AL-AP16-80-27-6T |80 | 27|50 [12.4] 7 | 6 | 440 324408 |MA-AP136-A27208  |136| 22 | 51 8 | 3100 2 : . —_—
324460 AL-AP16-100-22-6T |100| 22 | 50 |14.4| 8 6 750 324410 |MA-AP171-A40Z08 171| 27 | 55 8 | 3400 BAP400R100-32-6T 100 | 32 | 50 | 14.4 8 14 e [324212| 483 | 540
324462 |AL-AP16-100-27-6T [100| 27 | 50 [14.4) 8 | 6 | 750 324412 |MA-AP211-A40Z10 _|211] 27 | 55 8 | 4200 BAP400R125-40-7T 125| 40 | 63 | 16.4 9 | 14 e [324214] 767 | 665 N
324464 |AL-AP16-100-32-6T [100| 32 | 50 [14.4| 8 | 6 | 750 T 324414 |MAQ-AP311-A40Z12 [311| 27 | 55 8 | 5000 BAP400R160-40-8T 160 | 40 | 63 | 16.4 9 14 o |324216| 867 | 1100 ?FTJ
324466 |AL-AP16-125-22-6T [125| 22 | 50 [16.4| 8 | 6 | 1165 324416 |MAQ-AP171-A22202 [171| 22 | 58 2 | 1900 60 ES
324468 |AL-AP16-125-27-6T [125| 27 | 50 [16.4| 8 | 6 | 1165 324418 |MAQ-AP221-A22Z02 |[221| 22|58 | AP16-F| 2 | 2285 S:S:gggggggg?gT ggg gg gg gg; :: 12 APMT1604PDER | Mé4x10 15 : 2522;2 ;ggg ;?gg
324470 |AL-AP16-125-32-6T [125| 32 | 50 [16.4| 8 | 6 | 1165 324420 |MAQ-AP261-A22202 |[261| 22 | 58 2 | 2370 -60- : %01
324472 |AL-AP16-125-40-6T |125| 40 | 50 [16.4) 8 | 6 | 1165 _ 324422 |MAQ-AP326-A27202 |326| 27 | 65 2 | 3150 BAP400R300-60-14T | 300 | 60 | 65 | 25.7 | 14 | 14 e [324222) 3000 - Tm
324474 |AL-AP16-125-40-7T [125] 40| 50 [16.4| 8 | 7 | 1150 BAP400R63-25.4-4T 63 | 25.4| 50 10 6 14 o [324224] 167 | 225 w7
253372 ﬁt-ﬁmg-}gg-zg-g 128 % 28 12-3 g g ng BAP400R80-25.4-6T 80 | 25.4| 50 | 10 6 14 o [324226] 200 | 350
7 -AP16-160-40~ 4] - 1 14 2422 4
324480 |AL-AP16-200-40-10T[200| 40 | 63 [16.4| 9 | 10 | 2800 BAPAOOR100-31.75-6T | 100 | 31.75 gg 1632 8 e ° 324233 ggg geg B
324482 | AL-AP16-250-40-10T|250| 40 | 63 [16.4) 9 | 10 | 3500 BERI00125:55 -5 g I 5 S o] e mie ° Fot
324484 |AL-AP16-250-60-10T|250| 60 | 63 [16.4) 9 | 10 | 3800 BAP400R160-50.8-9T | 160 | 50.8| 63 | 19.3 | 11 | 14 o [324232] - 1100 I
304486 |AL-AP16-300-32-14T[300] 32| 63 ]16.4] 9 | 14 | 4300 .
B RAP-75

TR

Face Milling Cutter

OEMAPNTI604EF TR, BLUMA
0 1HI# % (Cutting Parameters): R15-R18 d the use of APMT1604 Insert,
FE M (Spare Parts): P01-P04 g

e Rt size T Insert BT Screw | HFWench P Order Price  Price
Cat. No D d H w T a S Number (RMB) (RMB)
RAP300R50-22-4T 50 22 50 10.4 6.3 6.5 . 332300 233 -
RAP300R63-22-4T 63 22 50 12.4 7 6.5 e 332302 267 -
RAP300R50-25.4-4T 50 25.4| 50 10.4 6.3 6.5 o 332304 233 -
RAP300R63-25.4-4T 63 25.4| 50 12.4 7 6.5 e (332306 267 -
RAP400R63-22-4T 63 22 50 14.4 8 8 e 1332308 267 225
RAP400R63-25.4-4T 63 25.4| 50 14.4 8 8 APMT 1604 PDER |  M4x10 T15 e (332310 267 =
RAP400R80-27-5T 80 27 50 14.4 8 8 . 332312 367 350
RAP400R100-32-6T 100 32 50 14.4 9 8 e (332314) 500 540
RAP400R125-40-7T 125 40 63 16.4 9 8 e (332316 933 665
RAP400R160-40-8T 160 40 63 16.4 9 8 e (332318 1067 | 1100
RAP400R200-60-9T 200 60 63 25.7 14 8 e (332320 - 1600
RAP400R250-60-10T 250 60 63 25.7 14 8 e 332322 - 2100




® S W
MZG Clami)-'ll"ygfeil\}ilflﬁgjjcmter

B R390 EHEARAARBE%IIE
RightAngle Shoulder Milling Cutter

BEHITI R

EREE AR MmE S R~ Dimension (mm) BRENH v BH o
Maiching |QZZ8SR{RLRLS
g Product Image Dimensioning Specification re A B T Toothorder 1S BBERQEEEES - :ﬁ_@i‘,ﬁféﬂﬁ
R390- 11T304M-PM 04 | 10 | 68 | 359 eoee oo oo = .
11T308M-PM 08 | 10 | 68 | 359 - ee soe e KEES, EFHEMI
1T316M-PM 16 | 10 | 68 | 359 N .
11T331M-PM 31 10 | 68 | 359 N oee o R, WS
170404M-PM 04 | 157 | 96 | 476 Toolholder) [seee ee eee
170408M-PM 08 | 157 | 96 | 4.76 D17-D18 [0 ee oo eee * Adapter grinding Inserts
170416M-PM 16 | 157 | 96 | 476 ofdo ; [
170431M-PM 31 | 157 | 96 | 476 oMo ing Parameters): R15-R18 * High precision, suitable for finis
Parts): P01-P04 % Cone design, steel high

me R+t size D4 Insert /T Sorew | 5 FWench W orcer Price
Cat. No D d H W T mber (RMB)
R390-11R50-22-4T 50 22 50 | 10.4 6.3 D 324500 | 240/400
=A -
= n R39L9 N ’ ‘ R390-11R63-22-4T 63 22 | 50 | 104 | 6.3 | RS90-117308 M2.5x6 8 o | 324502 280/500
B ERBRMH®I o ] hm‘ llmj R390-17R63-22-4T 63 22 | 50 | 10.4 | 6.3 e | 324504 250
%7 Rightangleshoulder fine milling culter o~ e R390-17R80-27-6T 80 27 50 12.4 7 . 324506 | 400
S R390-17R100-32-6T 100 32 50 | 14.4 8 R390-170408 | M3.5%10 T15 o 324508 | 600
TSk R390-17R125-40-6T 125 | 40 63 | 16.4 9 o 324510 | 750
%7 R390-17R160-80-6T 160 | 40 63 | 16.4 9 o 324512] 1150
s B R390 #iF XTIk
TIHF R390 Shoulder/Cutting End Mills
# | =" YIMIS% (Culting Parameters): R15-R18 Bl
FEME (Spare Parts): PO1-P04
a
TI#F 2 I TI#
" # = R =F Size 7R Insert ER IR4T Screw &RF Vrench Order  Price e
ER = Teeth a & Stock K
7] . N Cat. No D|L|d|M™ ZOF amp Number ~(RMB) %]
T — 1 R390-11-16-2T-M8 16 25| 8.5 M8 2 L4 324530 250 —
E:W I YMIBH (Cutling Parameters): R15-R18 O BES, EFEMT R390-11-17-2T-M8 | 17 | 25| 85 | M8 2 . 324532 | 250 E:Il
e R (Spare Pars) OT-P00 * High precision, suitable for finishing R390-11-20-2T-M10 | 20 | 30 | 105 | M10 | 2 o | 324534 | 300 e
R390-11-21-2T-M10 21 30 | 10.5 | M10 2 L4 324536 300 |
’f?% R390-11-25-2T-M12 25 35| 12.5 | M12 2 R390-11T3.. - M2.5X6 T8 L4 324538 400
biid 7 EIE= Rt size Al || e | S Order  Price  Price R390-11-26-2T-M12 | 26 | 35 | 12.5 | M12 2 . 324540 | 400 Friary
%71 Cat. No D a L L1 a @) S\ umber  (RMB) (RMB) R390-11-32-2T-M16 | 32 | 35| 17 |Mi6 | 2 o | 324542| 500 %71
. R390-11R15-16-150-2T 6 15 150 40 1 e | 324600 | 133 350 R390-11-33-2T-M16 | 33 | 35| 17 | M16 2 o | 324544 | 500 —
%g R390-11R15-16-200-2T 16 15 | 200 | 40 11 o | 324602 | 167 - R390-11-35-3T-M16_| 35 | 40| 17 | M16| 3 o | 324546 | 500 ;Eg
R390-11R16-16-150-2T 16 16 150 | 50 1 o | 324604 | 133 150 I R
%71 R390-11R16-16-200-2T 16 16 | 200 | 60 11 o | 324606 | 167 160 B R390 —#XERERBHABHT] %7
N R390-11R16-17-150-2T 17 16 150 40 11 ° 324608 133 170 R390 Integrated High Strength Square Shoulder Milling Cutter .
3 R390-11R16-17-200-2T 17 16 | 200 | 40 11 o |324610| 167 180 S IS (g Parmetere - R 1515 #
FR R390-11R19-20-150-2T 20 19 150 | 40 11 o | 324612 | 150 - SRE (Soore Parts):PO1-POS FR
Lo R390-11R19-20-200-2T 20 19 | 200 | 40 11 o | 324614 | 183  200/380 L
———  R390-11R20-20-150-2T 20 20 150 | 50 1 o | 324616 | 150 180
R390-11R20-20-200-2T 20 20 | 200 | 60 11 o |324618| 183 200
R390-11R20-21-150-2T 21 20 150 | 50 1 o | 324620 | 150 180 L
R390-11R20-21-200-2T 21 20 | 200 | 50 11 o | 324622 183 200
R390-11R20-22-200-2T 22 20 200 50 " (] 324624 - 360 o —(bRRBELI, BRI, BAFEEE,
R390-11R24-25-150-2T 25 24 150 50 1 RIS0-1T308 M2:5<6 e . 324626 167 - o ik REH R, Eli!m?—iﬁ&;iﬁsﬁammnl. EREES, SR, SR
R390-11R24-25-200-2T 25 24 200 50 1 . 324628 200 _ * Lightweight one-piece rigid structure, high performance, more
R390-11R24-25-220-2T 25 24 | 220 | 50 11 o | 324630 E 450 oo e o g i eficiency. v g
R390-11R25-25-150-2T 25 25 150 | 50 1 o |324632| 167 225 _
R390-11R25-25-200-2T 25 25 | 200 | 60 11 o | 324634 | 200 250 7 =2 N#H 2K | BARK | BER il Order Price
R390-11R25-26-150-2T 26 25 150 | 50 11 e | 324636 | 167 225 Edges D Stock (RMB)
R390-11R25-26-200-2T 26 | 25 | 200 | 60 11 o | 324638 | 200 250 Cat. No 9 L L1 Insert Number
R390-11R25-26-250-2T 26 25 | 250 | 60 1 o | 324640 | 233 - N 16 155 35 1 °
R390-11R29-30-250-2T 30 29 | 250 | 50 11 o | 324642 > 640 T " 155 - ° vy s
R390-11R32-33-150-2T 33 32 | 150 | 50 1 o | 324644 | 200 - BT30-R390-20-2T 2 35 20 324702 1150
R390-11R32-33-200-2T 33 32 | 200 | 50 11 o | 324646 | 233 s BT30-R390-25-3T 3 155 35 25 ° 324704 1100
R390-11R32-33-250-2T 33 32 | 250 | 50 11 o | 324648 | 267 - g 25 155 35 2 °
R390-11R32-33-300-2T 33 32 300 50 1 e | 324650 | 300 - BT30-R390-32-4T 4 155 3 R390-11T308 324706 1200
R390-11R32-33-350-2T 33 32 | 35 | 50 11 o | 324652 | 333 - BT40-R390-16-2T 2 45 16 O 324708 1100
R390-11R32-35-330-2T 35 32 | 330 55 11 o | 324654 = 750 BT40-R390-20-2T 2 155 45 20 o 324710 1100
R390-17R25-25-160-2T 25 25 160 | 40 17 o | 324656 - 225 . o 155
R390-17R25-25-200-2T 25 25 | 200 | 50 17 | Ra90-170408 | M35x8| T15 | e | 324658 > 250 STAO-RSEIAEI & 155 & 29 ° ST 1230
R390-17R25-32-200-2T 32 25 | 200 | 50 17 o | 324660 - 300 BT40-R390-32-4T 4 45 32 hd 324714 1350




LR 8k T]

MZG'

Clamp Type Milling Cutter

BRTEAARBIH®T]

Shoulder/Cutting End Mills(RT)

ol

BEHITI R

EREE AR MmE S R~ Dimension (mm) BRENF xo__
ProductImage SmERCE SRR = | & B T L o | Mo 83322 w2 R ~t Size J 5 Insert Ei T Screw | #F Wrench Stock Price
Cat. No oL a | m|Teeth JOC Clamp ¢ (GU:)
re . P p - =
~ RT  070204R-81 0.4 6.4 43 2.38 1.3 15 RTO7R102M05 10 18| 5.5 M5 2 o 325200 | 325200
. )A#‘FE Iij e R IR v A S B A RTO7R112M05 1 | 18| 55 | M5 2 RT070204R81 B M2.0x4 6 © 325202 | 325202
| A 100308R-81 0.8 1 6.35 | 34 18 21 | p19-D20 RTO7R122M06 12| 20| 65 | M6 2 : o 325204 | 325204
RT07R132M06 13 20| 6.5 M6 2 ] 325206 | 325206
ey — — RT10R162M08 16 30| 8.5 M8 2 o 325208 | 325208
B RT BEAaBH%T ' ? “ ‘ RT10R172M08 17 | 30| 8.5 | M8 2 o 325210 | 325210
Right Angle Shoulder Fine Milling Cutter m M Lmj hﬂl RT10R203M10 20 | 30| 10.5 | M10 3 o 325212 | 325212
- T T e s RT10R212M10 21 | 30| 105|mMi0| 2 o | 325214 | 325214
E RT10R213M10 21 30| 10.5 | M10 3 o} 325216 | 325216
RT10R253M12 25 | 35| 12.5 | M12 3 o 325218 | 325218
5;? 8 1;_—@\:|\\| H RT10R263M12 26 | 35| 125 | M12 3 Rmoos M2.546 e o 325220 | 325220
= RT10R324M16 32 43| 17 | M16 4 o 325222 | 325222
PRk . 7 ) o KES, ETHEML ] » ‘ RT10R325M16 32 | 43| 17 | Mm16 5 o 325224 | 325224
I Y1412 % (Cutting Parameters):R15-R18 ) .
“% 7] BR# (Spare Parts): PO1-P04 % High precision, suitable for finishing L RT10R334M16 33 | 43| 17 | M16 4 o 325226 | 325226
. P S RT10R354M16 35 | 43| 17 | M16 4 o 325228 | 325228
ek Order as Rt size neer & Stock PRGN RT10R355M16 35 | 43| 17 |mte| s o | a25230 | 325230 %
TIFF Number Cat. No D d L L1 Teeth A LU (RMB) TIHF
e 324900 | RTO7R10-06-100-1T 6 10 100 30 1 ° 324900 e
s 324902 | RTO7R10-08-100-1T 8 10 100 30 1 o 324902 TI#F
324904 | RTO7R10-10-150-2T 10 10 150 25 2 ° 324904
w 324906 | RTO7R10-11-150-2T 11 10 150 20 2 ° 324906 "
;% 324908 | RTO7R12-12-150-2T 12 12 150 30 2 o | 324908 SEH TR siit;
324910 | RTO7R12-13-150-2T 13 12 150 20 2 ° 324910
— 324912 | RTO7R16-16-150-3T 16 16 150 30 3 RT070204R81 | M2.0x4 T6 o 324912 —
"7 324914 | RTO7R16-16-200-3T 16 16 200 30 3 ° 324914 FREA MRS aENg R/ Dimension{mm) RENE | <o, gzeame @y
w7 324916 | RTO7R16-17-150-3T 17 16 150 25 3 o 324916 Product Image Dimensioning Specification re A B T ] Sazeciinag 7
324918 | RTO7R16-17-200-3T 17 16 200 25 3 ° 324918
™ 324920 | RTO7R20-20-150-4T 20 20 150 30 4 ° 324920
ey 324922 | RT07R20-20-200-4T 20 20 200 30 4 o 324922 - XOMX gggggg;ﬁ\-ﬂ%? 82 223 382 ijg ;?;_ : : oA
EX ) 324924 | RT10R16-16-150-2T 16 16 150 30 2 © 324924 090308FR-EQ5 | 0.5 108 635 365 {Toolholden) o . B
324926 | RT10R16-16-200-2T 16 16 200 30 2 o 324926 120408TR-M06 | 0.8 1141 818 4.15 D20 Olo
%07 324928 | RT10R16-17-150-2T 17 16 150 25 2 o 324928 u 17
AR R R Rk A o e
-20-150- ° 324932
%7 324034 | RT10R20-20-150-3T 20 | 20 | 150 | 30 3 o | 324934 B T217.69 EAGREHRT] K7 %7
4 324936 | RT10R20-20-200-2T 20 20 200 30 2 o 324936 Right Angle Shoulder Fine Milling Cutter -
F3t 324938 | RT10R20-20-200-3T 20 20 200 30 3 ° 324938 e Fxt
T 324940 | RT10R20-21-150-2T 21 20 150 25 2 ° 324940 e
L 324942 | RT10R20-21-150-3T 21 20 150 25 3 ° 324942 04
324944 | RT10R20-21-200-2T 21 20 200 25 2 ° 324944 g 0
324946 | RT10R20-21-200-3T 21 20 200 25 3 o 324946 8 I
324948 | RT10R25-25-150-2T 25 25 150 40 2 o 324948 LB
324950 | RT10R25-25-150-3T 25 25 150 40 3 o 324950 C L1 . ‘
324952 | RT10R25-25-200-2T 25 25 200 40 2 o 324952 S % arameters): R15-R18
gg:ggg RT10R25-25-200-3T gg 25 fog 4210 2 RT1003 M25x6| T8 | © | 324954 e ( oo
RT10R25-26-150-2T 25 5 5 o 324956 :
324958 | RT10R25-26-150-3T 26 25 150 25 3 o | 324958 #e R size Bt IS 5= S0y Order  Price
324960 | RT10R25-26-200-2T 26 25 200 25 2 o 324960 Cat. No D d L L1 Number (RMB)
324962 | RT10R25-26-200-3T 26 25 200 25 3 @ 324962 T217.69R8-8-100-1T 8 8 100 25 e [325300] 130
324964 | RT10R32-32-150-4T 32 32 150 40 4 ° 324964 T217.69R10-10-130-2T 10 10 130 30 e (325302 150
324966 | RT10R32-32-150-5T 32 32 150 40 5 ° 324966 T217.69R10-11-130-2T 11 10 130 - e (325304 150
324968 | RT10R32-32-200-4T 32 32 200 40 4 © 324968 T217.69R12-12-130-2T 12 12 130 30 XOMX060208 M1.8x4 T6 e [325306| 160
324970 | RT10R32-32-200-5T 32 32 200 40 5 ° 324970 T217.69R12-13-130-2T 13 12 130 - e (325308 160
324972 | RT10R32-33-150-4T 33 32 150 35 4 © 324972 T217.69R16-16-160-2T 16 16 160 40 e [325310| 175
324974 | RT10R32-33-150-5T 33 32 150 35 5 ° 324974 T217.69R16-17-160-2T 17 16 160 - e 325312 175
324976 | RT10R32-33-200-4T 33 32 200 35 4 ° 324976 T217.69R20-20-160-2T 20 20 160 40 e [325314] 185
324978 | RT10R32-33-200-5T 33 32 200 35 5 o | 304978 T217.69R20-21-160-2T 21 20 160 - XOMX090308 | M2.5x5.5 8 o |325316] 185
324980 | RT10R32-35-150-4T 35 32 150 35 4 ° 324980 T217.69R25-25-160-2T 25 25 160 50 e (325318 190
324982 | RT10R32-35-150-5T 35 32 150 35 5 ° 324982 T217.69R25-25-200-2T 25 25 200 60 YOMX120408 358 s e (325320 200
324984 | RT10R32-35-200-4T 35 32 200 35 4 o 324984 T217.69R25-26-160-2T 26 25 160 - : e [325322] 190
324986 | RT10R32-35-200-5T 35 32 200 35 5 ° 324986 _T217.69R25-26-200-2T 26 25 200 - e [325324] 200




® S W
MZG Clam?-'ll"ygfeil\}ilflﬁgjjéutter

BEHITI R BEHITI A

EREE AR MmE S R Dimension (mm) BENR 59 _acsuns EEER AR Migme R=~F Dimension (mm) BENH $9_ _Qcemns
Product Image Dimensioning Specification e | A B T Matching - I3FFS28IT T T Product Image Dimensioning Specification e | A B T Vatching - BEESSBRE EE L
S S s re Toolholder |2 OO RINNNNNNN DI ° . R & Toolholder  [B OO NN N N N N N

AOMT 123602PEERM | 02 . Ve SEET 09T308PER-PF | 08 9525 9525 4.01 ..

jESSoIREEREl o4 = . 09T308PER-PM | 0.8 9525 9525 4.01 - ..

: 5 A N ¥ 505 . e

1 = 7 e 123612PEERM | 12 . 66 | 36 - . . A B 09T308PER-PR | 0.8 9525 9525 4.01 oy

; 123616PEER-M ;6 Toolholder) %J " SEET 120308PERPF | 0.8 |13.308|13.308| 4.04 (Toolholder) ol

o] 1 jzsosoRcEr ) 29 021 S 120308PER-PM | 05 13308 13308 4.04 p22 ..

el 23 T 120308PER-PR | 0.8 13308 13308 4.04 ..

B FMPO2R-90° m#t7&
Face Milling Cutter

B
7]
o =
%% mEPX3000 Hm&EMHT m | .!
—_— Right Angle Shoulder Fine Milling Cutter e e ST i
et sk
TIHF I
% o R
7% —r= hts
a
Ek SL EX S
7] #%7]
- . = L ‘ —
|7l 15" Y)BIB Y (Cutting Parameters): R15-R18 o THTIE:. . aME. EmT |7l
7 S e o [EIHIT, ARIfa, TIHIRHR ol
™ IR Rt Size 5 Insert SB4T Sorew #RFWrench Order  Price o FHEER, BEE
A Cat. No D d L L1 IN SEe Number (RMB) i)
=75 EPX3000R16-12-85-1T P 16 5 25 o 3262001 130 : fan be:sed{tomslertmwlllr;g,flatiIevelsurf‘ac;groove %5
R X3000R1621 8521 2 16 85 25 ° 326202| 130 15" HIH$H (Cutting Parameters): R15-R18 * (.)W cutting (.)VCE, a.rge e e.ang e, cutting lig
#17 EPX3000R16-16-85-2T 16 16 85 25 . 206204 130 I (Spare oorte 001008 High productivity, high-precision #17
TE EPX3000R16-16-160-2T 16 16 160 30 e (326206| 150 R}
%71 EPX3000R16-16-180-2T 16 16 180 40 e |326208| 180 ; Insert Screw Vigench . #7]
EPX3000R16-17-90-2T 17 16 90 25 e |326210| 130 ns R Size r - - Stock | |
2 EPX3000R16-17-120-2T 17 16 120 30 e 326212 150 el Mo D d H w T Xt (A=) B
Fi EPX3000R16-17-160-2T 17 16 160 30 - 326214| 160 FMPO2R  50-22-4T 50 22 40 10.4 6.3 L] 326400 300 FR
TIHE EPX3000R16-17-200-2T 17 16 200 40 ® 1326216| 180 63-22-5T 63 22 40 10.4 6.3 SEET090308 M3x7 10 e |326402| 350 TIHE
— EPX3000R16-18-120-2T 18 16 120 25 - 326218 160 80-27-6T 80 27 50 12.4 7 . 326404 450
EPX3000R20-20-100-3T 20 20 100 30 ® 1326220 175 100-32-8T 100 32 50 14.4 8 ® |326406| 750
EPX3000R20-20-150-2T 20 20 150 35 O 326222| 190 FMPO2R  50-22-3T 50 22 40 10.4 6.3 . 326408 500
EPX3000R20-20-200-2T 20 20 200 45 ° 326224 220 50-22-4T 50 22 40 10.4 6.3 . 326410| 550
EPX3000R25-25-120-3T 25 25 120 35 - 326226 185 50-22-5T 50 22 40 10.4 6.3 L] 326412 600
EPX3000R25-25-120-4T 25 25 120 35 ° 326228 200 63-22-4T 63 22 40 10.4 6.3 . 326414| 600
EPX3000R25-25-160-3T 25 25 160 35 O 326230 190 63-22-5T 63 22 40 10.4 6.3 . 326416 650
EPX3000R25-25-160-4T 25 25 160 35 AOMT12306 M2.5%6 T8 ° 326232| 220 63-22-6T 63 22 40 10.4 6.3 . 326418| 700
EPX3000R25-26-120-3T 26 25 120 35 - 326234| 185 80-27-4T 80 27 50 12.4 7 . 326420 700
EPX3000R25-26-120-4T 26 25 120 35 . 326236/ 200 80-27-6T 80 27 50 12.4 7 . 326422| 750
EPX3000R25-26-160-3T 26 25 160 35 - 326238 190 80-27-8T 80 27 50 12.4 7 . 326424| 800
EPX3000R25-26-160-4T 26 25 160 35 o 326240| 220 100-32-5T 100 32 50 14.4 8 SEET120308 M3.5x10 T15 . 326426| 800
EPX3000R25-26-200-3T 26 25 200 45 - 326242 210 100-32-7T 100 32 50 14.4 8 . 326428| 850
EPX3000R25-26-200-4T 26 25 200 45 o 326244 240 100-32-10T 100 32 50 14.4 8 . 326430 900
EPX3000R25-28-170-3T 28 25 170 45 ® [326246| 200 125-40-6T 125 40 63 16.4 9 e |326432| 1000
EPX3000R25-30-120-4T 30 25 120 45 . 326248 200 125-40-8T 125 40 63 16.4 9 . 326434| 1100
EPX3000R32-30-125-4T 30 32 125 45 ® [326250| 200 125-40-12T 125 40 63 16.4 9 e 326436/ 1200
EPX3000R32-32-125-3T 32 32 125 45 . 326252| 210 160-40-8T 160 40 63 16.4 9 . 326438 1300
EPX3000R32-32-125-4T 32 32 125 45 L4 326254 235 160-40-12T 160 40 63 16.4 9 . 326440( 1400
EPX3000R32-32-125-5T 32 32 125 45 L4 326256 250 200-60-16T 200 60 63 25.7 14 . 326442 1600
EPX3000R32-40-125-3T 40 32 125 45 . 326258 230 250-60-12T 250 60 63 25.7 14 . 326444| 2000
EPX3000R32-40-125-4T 40 32 125 45 . 326260 250 250-60-18T 250 60 63 25.7 14 . 326446 2500
EPX3000R32-40-125-5T 40 32 125 45 L 326262 280 315-60-24T 315 60 63 25.7 14 [ 326448| 3000




® S W
MZG Clami)-'ll"ygfeil\}ilflﬁgjjcmter

BEHITI R BEHITI A

— iiﬁ ERE R NAR Ateme R Dimension (mm) RENH $o_ _oosuos
EREA AR MBS (R B (o) REIB | o, _gcoans S| proguctimage Dimensioning e | A | B | T | L | ap | Mo oEESeSRian:
g Product Image Dimensioning Specification re A B T A T’;::E;::f ESS%EQEEEEE el
APET 120202SR 0.2 12.7 | 7.938 25 11°
re 120204SR 04 | 127 | 7938 | 25 11 ] AXMT 0602PER-EM 0.2 6 415 | 26 1.0 575 | B OO
120208SR 08 | 127 | 7.938 25 | B 060204R-EM 0.4 6 | 415 26 10 | 575 | n#@: OOy
B APNT 120208SR 08 | 127 | 7938 | 25 110 | N o« e e 3 060208R-EM 0.8 6 415 | 26 1.0 | 575 | (Toolholder ONCM
2 ADET 160302SR 02 [15.875) 9525 | 3.18 15 Toolholder) ] 060216R-EM 1.6 6 | 415 | 26 | 10 | 575 | pog o oo
85° A i 160304SR 04 [15.875 9.525 | 3.18 15° | D23,Da7
160308SR 0.8 |15.875  9.525 | 3.18 15°
ADNT 160308SR 0.8 15875 9.525 | 3.18 15 . o o
90°
AXMT 0903PER-ML 0.4 9.5 6.21 3.6 1.4 8.8
. U EX E ﬁ S E ﬁﬁfﬂ ‘.\ 0903PER-EML 0.4 9.5 6.21 3.6 0.84 8.8 = N B
090308R-EML 08 | 95 621 36 - 88 | n: o oo
illi 090316R-ML 16 | 95 | 621 36 - | 88 | (Toololder) . .o
Right Angle Shoulder Fine Milling Cutter 090320REML 20 e oo by B oo DTM” Id olcH
090332R-EML 3.2 9.5 6.21 3.6 - 8.8 o oo
P
B £ g = l
™y
& =
#7) ,1.] ¢ . AXCT 060202R-AL 02 6 | 415 | 26 | 083 | 575 | s 5
. ; 060204R-AL 04 6 | 415 | 26 | 083 | 575 | gl .
Rk 15 f1KI$ % (Cutting Parameters): R15-R18 L x 0903PER-AL 04 85 | e 36 083 88 | N
vl TR (Spare Parts): PO1-POS s
i J1F Insert 47 Screw | #%FWrench
= <} Size . e s N
%E = Rt : S Order Price B TEO) BEAAEEB®T W TEQO #FRHTIk = omes %ﬁ
Cat. No o (s
— D d L L1 | L2 a @ % Number| (RME) Right Angle Shoulder Fine Milling Cutter Lock type milling head —_—
%‘Jﬁ UEX12R12-12150-1T 12 12 | 150 | 40 - 12 e 1326700 100 S = a %J?;
UEX12R16-16-160-1T 16 | 16 | 160 | 50 | - | 12 o |326702| 100 o PR |
E UEX12R16-17-160-1T 17 16 | 160 | 40 - 12 e 326704| 100 S ” EX 3
P UEX12R16-20-120-2T 20 | 16 | 160 | 50 | - 12 APCST1202 M3.5x8 T15 e |326706| 120 al ., ‘ P
UEX12R20-20-160-2T 20 20 | 120 | 40 - 12 e 326708 135 L
- UEX12R20-20-200-2T 20 20 200 50 100 12 . 326710| 135 —
w7 UEX12R20-21-160-2T 21 20 | 160 | 40 - 12 e 326712 120 me R Size LT Ingert BT Screw 0] M| Order Price &7
7 UEX16R20-25-130-2T 25 20 130 gg - 15 e [326714] 150 Cat. No D d L 1 Stock [T (RMB) W
5 5 | 160 - 5 26716 14
T e e o e I T S oA B TEQDAXO06R08-08-120-1T 8 8 120 20 o [325600] 160 ~ ———
| UEX16R25.25.250.2T 25 | 25 | 250 | 75 | - | 15 ADoT1603 s s o |308720 165 TE90AX06R10-10-75-2T 10 10 75 20 o |325802| 180 )
brid UEX16R25-26-200-2T 26 25 200 50 N 15 : o 326722| 150 TE90AX06R10-10-120-2T 10 10 120 20 . 325804| 180 brig )
E3 ]l UEX16R25-30-160-3T 30 25 160 50 B 15 o 326724| 180 TE90AX06R10-11-120-2T 1 10 120 20 AXMT0602.. M1.8x4 T6 . 325806| 180 E7]
UEX16R25-30-2003T 30 25 200 50 ~ 15 o 326726| 190 TE90AX06R12-12-150-2T 12 12 150 20 . 325808| 180
i1 UEX16R25.30.250.3T 30| 25 | 250 | 75 | . | 15 o |306728] 210 TE90AX06R12-13-150-3T 13 12 150 20 o |325810| 180 i
FE TE90AX06R16-16-150-3T 16 16 150 20 . 325812| 200 o)
%71 TE90AX06R16-16-150-4T 16 16 150 20 . 325814| 220 %]
] —ExREHEE B % TE9OAX06R16-17-150-3T 17 16 150 20 e [325816| 200
£ E D C 1 0 ﬁs _t =1 L_,_fl‘ jj A i j-'l . — TE90AX06R16-17-150-4T 17 16 150 20 . 325818 220 i
Fit EDC10 Integrated High Strength Square Shoulder Milling Cutter TE9OAX09R12-12-150-1T 12 12 150 20 e 325820] 180 Fot
TIHE = RIS (Cutting Paremetors) s R15.R18 o TE9OAXO9R12-14-150-1T 14 12 150 20 o [325822| 190 ki
—_— FR# (Spare Parts): P01-P04 TE90AX09R16-16-150-2T 16 16 150 25 . 325824| 180
TE90AX09R16-17-150-2T 17 16 150 25 . 325826| 180
TE90AX09R20-18-150-2T 18 20 150 30 e |325828| 220
. TE90AX09R20-20-150-3T 20 20 150 30 AXMT0903.. M2.5%6 T8 e |325830| 200
o —HAMMLLEN, BEY, BAERLE. TE90AX09R20-21-150-3T 21 20 150 30 o |325832| 200
o BIEMTRMRIILL, WEMTRMRMAAEH TE90AX09R25-25-150-3T 25 25 150 30 o |325834| 230
ERMT, EREET, BAE, BRIk TE90AX09R25-25-150-4T 25 25 150 30 o [325836| 260
TE90AX09R25-26-150-3T 26 25 150 30 e 325838| 230
* _ TE90AX09R32-32-150-4T 32 32 150 35 e |325840| 280
Lightweight one-piece rigid structure, high performance, more. TEQOAX09R32-35-150-4T 35 32 150 35 O 325842| 320
% Through the selection of different material grain, can be used in
the steel and copper aluminum alloyThe coarse and fine processing N )
wide application range, high efficiency, high rigidity! 7 5 R ~fSize Tl s JER LSy EEAEED Stock Order  Price
cat. No D|L|d|[m]| ® Clamp Number ~ (RMB)
order | Price TE90AXO0BRO91MO4 | 9 | 14| 4.5 | M4 1 d 325900 300
Number | (RMB) TE9OAXO06R112M05 | 11 | 16| 5.5 | M5 2 _ b 325902 | 300
BT30-EDC10-16-2T 2 60 16 e [ a200 | es0 TE9OAXO06R133M06 | 13 | 18| 6.5 | M6 3 AXMTO602.. M8 T . 325904 | 320
BT30-EDC10-20-2T 2 65 20 . 326902 950 TE90AX06R174M08 17 23 8.5 M8 4 ° 325906 350
BT30-EDC10-25-3T 3 Il 25 . 326904 1000
BT30-E0010-324T 4 9 B B o | 326006 | 1150 TE90AXO09R172MO8 | 17 | 23| 8.5 | M8 2 . 325908 | 320
B I I w© [T e azeas | 000 TEQOAX09R213M10 | 21 | 30 | 10.5 | M10 3 AXMT0903 . M2.5%6 T8 . 325910 | 320
BT40-EDC10-20-27 2 6 2 o | 32910 | 1000 - -
BT40-EDC10-25-3T 3 Il 25 . 326912 1150 TE90AX09R263M12 26 35 12.5 M12 3 * 325912 350
BT40-EDC10-324T 4 % 32 o | aze14 | 1250 TE90AXO09R353M16 | 35 | 43| 17 | M16 3 o 325914 | 380




® B R E
MZG Clamp Ty;p%eil\glilflﬁgjjcmter

BEREA SSDIOEAEREAEBIIE

SSDY0 Right Angle Step Face Milling Cutter

BEHITI R

EREK SRS muEe Rt Dimension (mm) REH 0 UHIS M (Cutiing Parameters): R15-R18
Product Image Dimensioning Specification re A B T T”““;“"W FEHF (Spare Parls); P01-P04
. TR a0 s 1| 6 310 s 0% | BED | WEJ |WEEE |BKH| IAMEE | g p Order | Price
160304 0.4 16.5 | 9.525 | 3.18 (= Blade Diameter Inside End face Long | Countersunk Stock N RMB
160308 08 | 165 | 9525 3.8 T Cat. No TTRET CEmEy - head diameter Insert umber ( )
220404 04 22 127 4.76 er)
by e o] o8 | % | 12r | Lot SSD90R50-22-4T 4 50 22 4 40 17 . 327100 | 280
A 60° T 220412 12 22 12.7 4.76
2204PDR - 22 | 127 | 476 SSDYORG3-22-5T 5 63 22 50 40 7 SDMT1204PDER ° 327102 300
R o7 98 5o | 23 SSD90R80-27-6T 6 80 27 60 50 37 conwizosorr | ® 327104 | 450
$E B 110304 0.4 1 6.35 @ 3.18 SSD90R100-32-8T 8 100 32 70 50 43 . 327106 680
/’\ 110308 08 | 11 | 635 318 sl
o / i 0 | 165 | omss | 318 S AN, SSDYOR125-40-10T 10 125 40 80 63 57 . 327108 | 850
i ARTBN y 160308 08 | 165 9525 318 (Toolholder) o seeee
& == ° 160312 1.2 16.5 | 9.525  3.18 D25,045 PAN
] S A N T 220412 12 | 22 | 127 | 476 o sveee ASX400 E% n’%ﬁ%ﬁﬂﬁ
—@% 330916 16 | 38 | 1905] 952 ASX400 Right Angle Step Face Milling Cutter ) ¥
D D2 D1
%] | ]
e Sl —E -
~ . = V I YIKI#%K (Cutting Parameters): R15-R18 —
7] Shoulder End Mill g T J FR# (Spare Parts): PO1-P04 K B
T R 4 3 G k=] I
Q
s ‘ 7= - ) " :
TIFF L a = Z?%S'( B D | BK L| AR D2 | BEER 7B PYIN) Order  Price
ORELLTIA, TIMIRAE ade ) Inside End face RMB
&l 5 YIS (Culling Parameters): R15-R18 * Cat. No numper |  Diameter Long diameter diameter Insert Number ( )
jj?; B4 (Spare Parts): PO1-P04 Equipped with a traditional blade, cutting low-cost ASX400R50-22-4T 4 50 40 22 41 . 327200 | 300 b
e R+t Size T Insert EARClamp | 44T Screw | #iFWrench ) ASX400R63-22-5T 5 63 40 22 50 . 327202 350 VL
ii * Gt Mo = p o " . ‘ D & ASX400R80-27-6T 6 80 50 27 60 SPUIT127508 . 327204 | 450 ET
%7 PTIRT6-T6-100 5 5 00 = o — ASX400R100-32-7T 7 100 50 32 70 . 327206 | 700 P
——  TP11R20-20-100 20 20 100 45 10 TPoN1103 TP-11 |36 | L3 e [325502| 150 aSASO0RT2 55 020 8 iz 63 40 80 * 327208 | 850
= TP11R20-25-130 25 20 130 45 10 e |325504| 150 ASX400R160-40-10T 10 160 63 40 100 . 327210 1300 =
gm TP16R20-30-100 30 20 100 45 14 e [325506] 150 az
7l TP16R20-35-100 35 20 100 45 14 o [325508| 150 ARFER, FE. ARE. ANT
——  TP16R32-35-110 35 32 | 110 | 45 14 o |325510| 150 WFEX12 EfRERBE&SENE GOHD, K, DHER ol
e ;mgggg-ig-”g ig gg Hg 32 13 TPON1603 TP-16 | 1/49 L4 e [325512| 150 WFX12 Right Angle Shoulder Face Mill LR, ERE
TN -40- o [325514| 150 an be usedtoinse o ;
%7;'7] TP16R32-40-115 40 32 115 45 14 o [325516| 150 LJZ.Z?‘;ZZ'ZLZZZZ i B
TP16R20-50-110 50 20 110 45 14 o [325518] 200 Low cutting force, large rake angle, 51
%01 }'gggsgg'gg'ug gg gg Hg 3% gg e [325520| 200 55 §14$H (Cutting Parameters): R15-R18 cutting light %
o -50- .y . 325522| 200 REH (Spare Parts): P01-PO4 High productivity, high-precision |
;% TP22R25-63-110 63 25 | 110 | 42 20 TPoN2204 | TP-22 | 5-16%7| L5 o [325524] 250 Ea
-80-130 80 32 130 42 20 o [325526| 335 7 f i
A2 '\71:(')?; Rt Size 7B o Order  Price %71
;ﬂ‘_t B TP BERSGREH#TIE Cat. No flutes D d H w T Insert Number (RMB) -
ﬂ;ﬁ Right Angle Shoulder Milling Cutter WFX12R50-22-4T 4 50 22 40 10.4 6.3 . 327300 300 H'g
WFX12R63-22-5T 5 63 | 22 | 40 | 104 | 63 D 327302 350 7
WFX12R80-27-6T 6 80 27 50 12.4 7 SOMT120408PDER . 327304 580
e MEHLTIE, MERAR WFX12R100-32-6T 6 100 32 50 14.4 8 o 327306 900
WFX12R125-40-7T 7 125 40Q 63 16.4 9 . 327308 1000
* Equip raditional blade, cutting low-cost T’:ﬁﬁ"fki: El‘ﬁz&‘!ml
N EOHIS, KR, A
: = WFX17 ERERE%TIE R, B
2 R~} Size T# dnsert | EARClamp | 44T Screw . .
as Y| Order || Price || Price WFX17 Right Angle Shoulder Face Mill
Cat. No D q H w T a D & & ﬁ ock RYG (RMB) (RMB) 9 9 I Can be used o insert milling, flat,
TP11R40-16-4T 40 16 45 8.4 5.6 9 0 325600 160 ‘LSVE‘SLKfaci groo‘ve . |
-16- . ; 3 > B ow cutting force, large rake angle,
TP11R50-22-4T 50 | 22 | 50 | 104 | 63 | o |TPUNMO3| TPA1 | 36 | L3 | o |3dse02] - | 160 55 SIS (Cutting Parameters): R15-R13 cuting lght
$§;g§gg-§§-§; gg gg 50 10.4 6.3 14 TPON1603 | TP-16 14T L4 . 325604 - 160 R (Spare Parts): P01-P04 High productivity, high-precision
Eop% 50 | 10.4 | 6.3 | 18 o [325606] 250 =
ThasRa027AT g0 | 27 | 50 |12a| 7 | 1o e e ML B g o R+ size 7R B Orcer  Price
- . 0.0f
TP22R100-32-5T 100 | 32 | 50 | 144 | 8 | 18 o |325612| 600 | 425 Cat. No Insert ST ISR Number  (RMB)
TP22R125-40-6T 125 | 20 | 60 | 164 | 9 | 18 o |325614| 1000 | 540 flutes | D d | H |W|T screw
Toarior | 0|t | &8t 8 | | oo | tear [ sroe | 15 | [zl o | falale fad oo T
-60- X o B =y
TP22R63-25.4-3T 63 | 254 | 50 | 10 | 6 | 18 o |325620| - | 160 WEX17R63-22-4T |l G 2R a s ] 69 ° 327402 | 315
TP22R80-25.4-4T 80 | 254 | 50 10 6 18 o 325622 - 270 WEX17R80-27-6T 6 80 | 27 | 50 |12.4| 7 . 327404 550
xgs}ggg;_ﬁ? 1(2)2 3318.715 gg 11332 150 13 . ggsg;é - 425 WEX17R100-32-8T 8 100| 32| 50 |14.4| g |AXMTI70S0BPEER-G| M37 ) T8 . 327406 | 800
38,1 . . . 5 = 540
TP22R160-38.1-7T 160 38.1 63 16.2 10 18 . 325628 ~ 850 WEX17R125-40-10T 10 125 40 63 | 16.4 9 . 327408 1050
TP22R200-47.625-8T | 200 |47.625| 63 | 25.4 | 14.3 | 18 o |325630] - | 1350 WEX17R160-40-12T 12 | 160 40| 63 |16.4]| 9 . 327410 | 1450




MZG'

LR 8k T]

Clamp Type Milling Cutter

1M1°FEREFE

BRITI A

o MEUN @ —iRuH
Stable Cuting

General Cutling un

x FREON

P|® Steel 00 wrzzee
M | FER Stainless Steel © OBBEOO
K | #% Iron o v wrnx
N SRAR SR BR AR Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o "

S | BRAS WRAS Carbide/Powder Metallurgy o <Heols

[H | ssBasmas Titanium/Superalloy/Carbon Fiber o Mo
>

@ EREH DR A (R Bl () BENF | vo_ o oaos
5 i Matcning  |RZZBTHILLLL
5 Product Image Dimensioning Specification re A T a T'DD‘”;OM; PR AT

RPGT 08T2-AL 4 8 278 | 110 | & .
1003-AL 5 10 3.15 11 @ .
10T3-AL 5 10 397 | 11° | (Toolnolden .
1204-AL 6 12 4.76 11° D29-D30 N

RPEW 0802MO 4 8 238 | 110 | B .
1003MO 5 10 3.15 11° T .
1003MO-DU 5 10 397 | 11° | (Toolholder) .
1204MOF 6 12 476 | 11° | D29-D30 .

RPKT 10T3MOF 5 10 397 | 11°
1204MOF 6 12 4.76 11°

=

RPKT 10T3MOT 5 10 397 117 | 7i: ceee

1204MOT 6 12 476 | 1 (Toolholder) ceee
D29-D30
[

RPMT 08T2MOE-JS 4 8 278 | 10| oo o eeee
1003MOE-JS 5 10 318 | 110 | B o eeee
10T3MOE-JS 5 10 397 | 110 | (Toolnolden o seee
1204MOE-JS 6 12 476 | 1 pze-bso o seee

=

RPMT 10T3MO-DU 5 10 397 117 | 7 csene
1204MO-DU 6 12 476 | 1 (Toolnolder) seece

D29-D30
[=d

RPMT 08T2MO-GH 4 8 278 117 | 2
10T3MO-GH 5 10 397 | 11° | (Toololder)
1204MO-GH 6 12 476 | 11° | p29-D30

B EVMRW BESESIR o
w
Round Nose Milling Cutter . @@ EAA )
« R, ERER : Z) "L
. GRZEK, HBLH |
o SR, B
i I
% Using the 15 © positive angle blade -
* Blade economy, the applicability of high .
% Capacity chip a large space, good chip disposal T !
% Cone design, steel high
15 YIS (Cutting Parameters): R22-R24 ‘ D i
REM (Spare Parts): P01-P04
32-% [E#iClamp 4R4T Screw 1 Wrench| - . Order Price Price
Cat. No D | 4 Hlw T a S Number (RMB) (RMB)
EMR5R50-22-4T 50 22 | 50 | 104 | 63| 5 e (327600 167 | 200
EMR5R63-224T 63 22 50 10.4 6.3 5 e [327602| 200 225
EMR5R80-27-6T 80 27 | 50 | 12.4 7 5 e (327604 307 | 350
EMR5R100-32-6T 100 | 32 | 50 | 14.4 7 5 e [327606| 483 | 540
EMR5R125-40-7T 125 | 40 | 63 | 16.4 9 5 RPMW1003MO| | M4x10 | L | @ [327608 767 | 750
EMR5R160-40-8T 160 | 40 | 63 | 16.4 9 5 | RPMT10T3MOE| ' M3.5%10 e [327610 867 | 1150
EMR5R50-25.4-4T 50 | 25.4| 50 10 6 5 e (327612 167 -
EMR5R63-25.4-4T 63 | 25.4| 50 10 6 5 e [327614| 200 | 225
EMR5R80-25.4-6T 80 | 25.4| 50 10 6 5 e (327616 333 | 350
EMR5R100-31.756T 100 | 31.75] 50 13 8 5 o [327618] 500 | 540
e R~} Size DF Insert |EdRClamp| 5T Screw Sk Order Price Price
Cat. No D q H O w a &3 ) S Number (RMB) (RMB)
EMRWBR50-22-4T 50 22 | 50 [ 104 | 63| 6 e (328100 167 | 200
EMRWBR63-22-4T 63 | 22| 50 | 104 | 63| 6 e (328102 200 | 225
EMRWBR80-27-6T 80 27 | 50 | 12.4 7 6 e (328104 307 | 350
EMRW6R100-32-6T 100 32 50 14.4 7 6 e (328106 483 540
EMRWBR12540-7T 125| 40 | 63 | 16.4 9 6 e (328108 767 | 750
EMRWBR160-40-8T 160 | 40 | 63 | 16.4 9 6 RPMT1204 MO e 328110 867 | 1150
EMRWBR200-60-9T 200 | 60 | 63 | 257 | 14 6 ver| Maxto T5 e (328112 1833 | 1600
EMRWBR250-40-12T 250 | 40 | 63 | 25.7 | 14 6 e [328114| 2500 -
EMRWBR300-60-14T 300| 60 | 63 | 257 | 14 6 @ e [328116) 3000 -
EMRWBR50-25.4-4T 50 | 25.4| 50 10 6 6 o [328118 167 -
EMRWBR63-25.4-4T 63 | 25.4| 50 10 6 6 RPMW1204 MO e 328120/ 200 | 225
EMRW6R80-25.4-6T 80 | 25.4| 50 10 6 6 e [328122] 333 | 350
EMRW6R100-31.75-6T 100 | 31.75] 50 13 8 6 e |328124] 500 | 540
B EMRM B 7] 7]
Corner Rounding End Mills(EMRM)
W EATRYETEES W Circular blade cutting edge strength is high.
RyERatES Series of products rich variety.
157 YIBIB% (Cutting Parameters): R22-R24 FEARAEHMMI The most suitable mold materials processing.
FM|H (Spare Parts): P01-P04
B o2 R I Size K Insert | EE4R Clamp|  #g¢TScrew | #RF Wrench SN Order  Price
Cat. No D L| d M =t & & ) Number (RMB)
EMRM4R162M8 16 | 35 8.5 M8 2 . 327700| 150
EMRM4R172M8 17 | 35| 8.5 | M8 2 RPMW0802MO | V-4R Wax T8 . 327702| 150
EMRM4R202M10 20 | 35]10.5| V10 2 . 327704| 160
EMRM4R212M10 21 | 35|10.5| M10 2 . 327706| 160
EMRM5R202M10 20 | 35| 10.5| M10 2 . 327708| 160
EMRM5R212M10 21 | 35|10.5( M10 2 . 327710 160
35| 12.5[ W12 M4X10
EMRM5R252M12 25 o 12; o 2 RPMWA003MO | Yo5R 15 . 327712| 200
EMRM5R262M12 26 d 2 M3.5X10 . 327714| 200
EMRM5R302M16 30 | 0] 17 :‘1“ 2 o | 327716| 300
EMRMS5R353M16 e I B o | 327717] 300
+6— 76
EMRM6R302M16 30 | ol e 2 RPMT1208M0 | v.6R a1 s . 327718| 300
EMRM6R353M16 35 3 . 327719] 300




LR 8k T]

Clamp Type Milling Cutter

B EMRW BE&uz#7
Round Nose End Mill

B EMR EBxz%7

AT
=]l¢;
Round Nose End Mill

°
ad Q

8 gl ' SL Fo |

ey \
. o L2 a
15~ 1418 # (Cutting Parameters): R22-R24 OERSMAFATIA, ML, - T
R (Spare Parts): P01-P04 % Fita variety of economic-type blade, cost-effective L2
e R~ Size ﬁg.lgf JK Insert 4247 Screw | 4R Clamp| 23 Wrench :g Order Price  Price L
Cat. No D d L |L1]L2| a |futes t53| Number (RMB) (RMB)
EMR4R10-10-120-1T 10| 10 [120] 30 | - | 4 | 1 e | 327500 | 67 -
EMR4R12-12-130-1T 12 | 12 (130 40| - | 4 | 1 % e | 327502 | 67 | 100 OIEEH, BRENES
EMR4R12-13-130-1T 1312130 40| - | 4 | 1 e | 327504 | 67 | 100 OEBEEA, HIEWF 7
EMR4R15-16-150-2T 16 | 15 |150| 40 | - | 4 | 2 e | 327506 | - 110 aR
EMR4R15-16-200-2T 16 | 15(200| 50 | - | 4 | 2 e | 327508 - 140 3L
EMR4R16-16-130-2T 16 | 16 |[130| 40 | - | 4 | 2 e | 327510 | - 110 % Blade economy, the high applicability.
EMR4R16-16-150-2T 16 16 | 150 | 50 _ 4 2 ° 327512 83 110 tting Parameters): R22-R24 % Capacity chip a large space, good chip removal
EMR4R16-16-200-2T 16 | 16 |200| 60 |100| 4 | 2 o | 327514 | 100 | 140 el (Sparer
EMR4R16-17-150-2T 17 | 16 | 150| 50 - 4 2 RPMT0802.. | M3x7 | Y-4R T10 | ® | 327516 83 110 . ; ) )
EMRAR16-17-200-2T 17| 16 |200| 60 | - | 4 | 2 o | 327518 | 100 | 140 s R e o A S st bl el SO PO Orcer  Price  Price
EMR4R19-20-150-2T 20| 19 |150| 40| - | 4 | 2 o | 327520 | 100 | 130 Cat. No D|d|L|LI|[L2| a |fues Number (RMB) (RMB) BRk
EMR4R19-20-200-2T 20 | 19 |200| 40 | - 4 2 e | 327522 | 117 | 145 EMRWA4R12-12-130-1T 12| 12{130] 40 | - 4 1 e (327900 67 - 7]
EMR4R20-20-150-2T 20 | 20 | 150 50 - 4 2 e | 327524 100 130 EMRW4R12-13-130-1T 13| 12(130]| 40 - 4 1 % ° 327902 67 -
EMR4R20-20-200-2T 20 | 20 [200| 60 | 100| 4 2 e | 327526 | 117 | 145 EMRW4R15-16-150-2T 16| 15|150| 40 - 4 2 e (327904 83 - 3
EMR4R25-20-250-2T 20| 25[250( 60| - | 4| 2 e | 327528 | 167 | - EMRW4R15-16-200-2T 16| 15|200| 40| - | 4 | 2 e [327906] 100 - TI#F
EMR4R20-21-150-2T 21|20 (15050 | - | 4| 2 e | 327530 | 100 | - EMRWAR16-16-150-2T 16| 16[150| 50 | - | 4 | 2 e (327908 83 - —_—
EMRA4R20-21-200-2T 21| 201200[ 60| - | 4| 2 e | 327532 | 117 - EMRWAR16-16-200-2T 16| 16|200| 60 | - | 4 | 2 e [327910, 100 o 5
EMR5R19-20-150-2T 20| 20 (15050 | - | 5| 2 ® | 327534 | 100 | - EMRWAR16-17-150-2T 17| 16[150| 50 | - | 4 | 2 o (327912 83 - TIHF
EMR5R19-20-200-2T 20| 19 [200]( 60| - | 5| 2 e | 327536 | 117 - EMRW4R16-17-200-2T 17| 16]200| 60 | - | 4 | 2 |t Y-4R | M3x7 T10 o [327914] 100 R
EMR5R20-20-150-2T 20| 19 (150 40| - | 5| 2 ® | 327538 | 100 | 130 EMRWA4R19-20-150-2T 20| 19|150| 40| - | 4 | 2 e [327916] 110 - EX S
EMR5R20-20-200-2T 20 | 20 |200| 50 | 100| 5 2 ® | 327540 | 117 | 145 EMRWA4R19-20-200-2T 20| 19(200| 40 | - 4 2 e [327918| 133 o %7
EMR5R20-21-150-2T 21| 20 [150| 50 | - 5 2 ® | 327542 | 100 | 130 EMRWA4R20-20-150-2T 20| 20| 150]| 50 - 4 2 e 327920 110 - —_—
EMR5R20-21-200-2T 21| 20[200| 60| - | 5| 2 ® | 327544 | 117 | 145 EMRWA4R20-20-200-2T 20| 20|200| 60 | - | 4 | 2 o [327922 133 o =
EMR5R20-25-150-2T 25| 20(150| 50| - | 5| 2 ® | 327546 | 117 | 100 EMRW4R20-21-150-2T 21| 20|150| 50 | - | 4 | 2 e (327924 110 - 7]
EMR5R20-25-200-2T 25| 20 (200 50 | - 5 2 ® | 327548 | 127 | 135 EMRWA4R20-21-200-2T 21| 20]200| 60 | - 4 2 e (327926 133 = 7]
EMR5R24-25-150-2T 25| 24150 40| - | 5| 2 ® | 327550 | 117 | 100 EMRW5R25-25-150-2T 25| 25[150[ 50| - | 5 | 2 o [327928 117 - —
EMR5R24-25-200-2T 25|24 (200(50| - | 5| 2 e | 327552 | 127 | 135 EMRW5R25-25-200-2T 25| 25|200| 50| - | 5| 2 e [327930] 127 -
EMR5R24-25-250-2T 25|24 [250( 50| - | 5| 2 ® | 327554 | 117 | 100 EMRW5R25-25-250-2T 25| 25/250| 50| - | 5| 2 o (327932 193 - prig )
EMR5R25-25-150-2T 25| 25150 50| - | 5| 2 ® | 327556 - 160 EMRW5R25-30-150-2T 30| 25|150| 60 | - | 5 | 2 o [327934| 133 - ]
EMR5R25-25-200-2T 25| 25|200| 60| - | 5| 2 e | 327558 | 127 | 135 EMRW5R25-30-200-2T 30| 2520060 | - | 5| 2 e (327936 167 -
EMR5R25-25-250-2T 25| 25(250| 70 |115| 5 | 2 ® | 327560 | 167 | 160 EMRW5R25-30-250-2T 30| 25/250| 60| - | 5| 2 = Y-5R | M4x9 | T15 o [327938 227 S #i7
EMR5R32-25-300-2T 25| 32(300| 70| - | 5| 2 o | 327562 | 267 | - EMRW5R32-35-150-3T 35| 32[150| 60 | - | 5 | 3 |RPMTI0T3MOE o (327940 217 - F&E
EMR5R25-26-150-2T 26 | 25 |150| 50 | - 5 2 ® | 327564 | 117 | 100 EMRW5R32-35-200-3T 35| 32(200| 60 | - 5 3 e (327942 250 - %7
EMR5R25-26-200-2T 26 | 25 (200 60 - 5 2 ® | 327566 | 127 | 135 EMRW5R32-35-250-3T 35| 32(250| 60 - 5 3 e [327944| 283 -
EMR5R25-26-250-2T 26| 25250 70| - | 5| 2 ® | 327568 | 167 | 160 EMRW5R32-35-300-3T 35| 32|300| 60| - | 5| 3 o [327946] 333 o h
EMR5R25-30-150-2T 30| 25 (150 48| - | 5| 2 e | 327570 | 117 | 110 EMRW6R25-32-150-2T 32] 25[150| 50 | - | 6 | 2 e (327948 133 | 165 FR
EMR5R25-30-200-2T 30| 25200 50| - | 5| 2 |RPMW1003..|M35x10| Y-5R | T15 | e | 327572 | 133 | 145 EMRW6R25-32-200-2T 32| 25|200| 55| - | 6 | 2 o |[327950 167 | 175 TR
EMR5R25-30-250-2T 30| 25(250| 60| - | 5| 2 ® | 327574 | 167 | 170 EMRW6R25-32-250-2T 32| 25(250| 60| - | 6 | 2 o (327952 200 | 190
EMR5R25-30-300-2T 30| 25(300[60| - | 5| 2 e | 327576 - 200 EMRW6R32-32-150-2T 32| 32|150| 50 | - | 6 | 2 o [327954| 167 | 165
EMR5R32-30-300-2T 30| 32(300| 60| - | 5| 2 e | 327578 | - | 200 EMRW6R32-32-200-2T 32| 32{200| 50| - | 6 | 2 e [327956) 200 | 175
EMRS5R32-35-160-2T 35| 32(150| 50| - | 5| 2 e | 327580 - 170 EMRW6R32-32-250-2T 32| 32|250| 60| - | 6 | 2 e [327958/ 233 | 190
EMRS5R32-35-150-3T 35|32(150| 50| - | 5| 3 e | 327582 | 177 | 180 EMRW6R32-32-300-2T 32| 32(300( 60| - | 6 | 2 e (327960 300 -
EMR5R32-35-200-2T 35| 3220060 - | 5| 2 e | 327584 - 180 EMRW6R32-35-150-2T 35| 32|150| 50 | - | 6 | 2 e (327962 183 -
EMR5R32-35-200-3T 35| 32[200( 60| - | 5] 3 e | 327586 | 200 | 190 EMRW6R32-35-160-3T 35| 32(160| 50| - | 6 | 3 o [327964 - 210
EMR5R32-35-250-2T 35| 32(250( 70| - | 5| 2 e | 327588 - 190 EMRW6R32-35-200-2T 35| 32|200] 50| - | 6| 2 e [327966| 217 -
EMR5R32-35-250-3T 35|32(250| 70| - | 5| 3 e | 327590 | 233 | 225 EMRW6R32-35-200-3T 35| 32(200|50| - | 6 | 3 e (327968 - 215
EMRS5R32-35-300-3T 35| 32(300( 70| - | 5| 3 e | 327592 | 300 | 245 EMRW6R32-35-250-2T 35| 32|250| 60 | - | 6 | 2 |REMWI04MO| o ol s | o 327970 267 | -
EMRS5R32-35-350-3T 35| 32(350(70| - | 5| 3 ® | 327594 | 367 | 275 EMRW6R32-35-250-3T 35| 32(250| 60| - | 6 | 3 o (327972 - 230
EMRS5R32-35-400-3T 35| 32(400| 70| - | 5| 3 e | 327596 | 500 | 320 EMRW6R32-35-300-2T 35| 32|300| 60| - | 6| 2 @ @ e [327974] 333 -
EMR5R32-40-150-3T 40| 32 (150 70| - | 5| 3 e | 327598 | 183 | 250 EMRW6R32-35-300-3T 35| 32{300{ 60| - | 6| 3 ® [327976] - 260
EMR5R32-40-200-3T 40| 32|200{ 70| - | 5| 3 e | 327600 | 217 | 260 EMRW6R32-35-350-3T 35| 32|350| 60 | - | 6 | 3 |RpMT1204MO e 327978 - 300
EMR5R32-40-250-3T 40| 32 (25070 | - | 5| 3 e | 327602 | 250 | 300 EMRW6R32-35-400-3T 35| 32(400| 60| - | 6 | 3 e [327980| - 350
EMR5R32-40-300-3T 40| 32(300{ 70| - | 5| 3 ® | 327604 | 300 | 340 EMRW6R32-40-150-3T 40| 32[150| 50 | - | 6 | 3 e 327982 200 | 250
EMR5R32-40-350-3T 40| 32(350| 70| - | 5| 3 e | 327606 | 383 | 380 EMRW6R32-40-200-3T 40| 32|200| 50| - | 6 | 3 e [327984| 233 | 260
EMRS5R32-40-400-3T 40| 32 (400 70| - | 5| 3 e | 327608 | 500 - EMRW6R32-40-250-3T 40| 32(250| 60| - | 6 | 3 e 327986/ 283 | 300
EMR5R32-50-150-4T 50| 32 (15050 | - | 5 | 4 o | 327610 | 267 | - EMRW6R32-40-300-3T 40| 32|300| 60| - | 6 | 3 e (327988 333 | 340
EMR5R32-50-200-4T 50| 32 200( 50| - | 5| 4 e | 327612 | 333 | - EMRW6R32-40-350-3T 40| 32(350| 60| - | 6 | 3 e [327990| 400 | 380
EMR5R20-30-110A-2T 30|20 (110 30| - | 5| 2 e | 327614 | 60 = EMRW6R32-40-400-3T 40| 32/400/ 60| - | 6 | 3 e 1327992 533 -
EMR5R20-30-110B-2T 30| 20[110[ 30| - | 5| 2 e | 327616 | 93 | 70 EMRWBR32-50-150-4T 50| 32|150| 50 | - | 6 | 4 o [327994| 267 | 340
EMR5R3/4-30-110-2T 30 |3/4/110] 30| - | 5| 2 e | 327618 | 93 | 70 EMRWBR32-50-200-4T 50| 32]200|/ 50| - | 6 | 4 e [327996] 333 | 380




LR 8k T]

Clamp Type Milling Cutter

°f& A B B R200 BB - 2
Round Nose End Mill M_WN

1= $)HI$ % (Cutting Parameters): R22-R24

%E‘E’]J]J )ﬂr R (Spare Parts): PO1-P04

LINEE e BEMM e THEUE s TREVE
P|® Steel ey wizxve
m | w50 Stinless Stel o osxuco o ERUBSHENN, BEES, MINREE.
K| %% = ‘:” = - — — b A LR * Adapter Grinding Blade Sandvik, Higher Accuracy, ProcessmgABeﬁerEffeLt \
SR/ B uminum/Copper/Magnesium/Zinc/Plastic/Woor . .
g ﬁ;;*ﬁ;i’:;‘ﬁ Carbide/Powder Metallurgy o xxee BE R Size Pakd 2Dyt S Stock Order Price
- SBRA R/ Titanium/Superalloy/Carbon Fiber 0 2200 Cat. No D d L L1 a Z‘:{;’ @ & Number (RMB) (RMB)
- EREE AR mae R Dimension (mm) RETA | v pronoo R200-5R20-25-160-2T 25 | 20 | 160 | - 5 | 2 e (328800 - 110
4 . i T A = —] vewhng [32285RRE0ES R200-5R24-25-150-2T 25| 24150 | 40 | 5 | 2 o |[328802 167 | 110
H Toolholder |& CONNNNNNNN R200-5R24-25-200-2T 25| 24 |200| 50 | 5 | 2 o (328804 183 | 145
R200-5R25-25-150-2T 25| 25[150 | 50 | 5 | 2 o |328806] 167 | 110
RCGT 0602-AL 3 6 2.38 7° = . R200-5R25-25-200-2T 25 25 | 200 | 60 5 2 e (328808 183 145
E0 $ 18 TS - R200-5R25-25-250-2T 25| 25250 | 70 | 5 | 2 o (328810 217 =
AT 2 % 363 | 7o | (Tootnolden S R200-5R25-26-150-2T 26| 25|150 | 50 | 5 | 2 o (328812 167 -
1204-AL 6 | 12 a6 | T . R200-5R25-26-200-2T 26 | 25[200| 60 | 5 |2 o (328814 183 =
R200-5R25-26-250-2T 26 | 25|250| 70 | 5 | 2 | RCOT10T3MO | M3.5x85 T15 o (328816 217 -
R200-5R25-30-150-2T 30| 25[150 | 48 | 5 | 2 o [328818 150 -
R . R200-5R25-30-200-2T 30| 25|20 5 | 5 |2 o (328820 183 -
e FO I R200-5R25-30-250-2T 30| 25250 | 60 | 5 | 2 o |328822 217 | -
1606MO-PM 8 | 16 635 | 7 | (ooinolden R200-5R32-35-150-3T 35| 32150 | 50 | 5 | 3 o (328824 200 -
2006MO-PM | 20 635 1 7" | by R200-5R32-35-200-3T 35| 32|200| 60 | 5 |3 o |328826] 233 -
R200-5R32-35-250-3T 35| 32|250| 70 | 5 | 3 o (328828 283 -
R200-5R32-35-300-3T 35| 32|300| 70 | 5 |3 o (328830 333 =
R200-5R32-35-350-3T 35| 32|35 | 70 | 5 | 3 o [328832] 383 -
RIS (R K = R200-6R25-32-150-2T 32| 25[150 | 50 | 6 | 2 o [328834] 183 | 165
TR
1606MO-PR 8 | 16 635 | 7 [ R200-6R25-32-200-2T 32| 25200 60 | 6 | 2 o (328836 200 | 175 A
2006MO-PR 10 20 635 | 7| e R200-6R25-32-250-2T 32| 25|250| 70 | 6 | 2 o (328838 250 | 190 e
R200-6R32-32-150-2T 32| 32150 | 50 | 6 | 2 e (328840 200 - T4
R200-6R32-32-200-2T 32| 32|20 60| 6 |2 o (328842 233 -
R200-6R32-32-250-2T 32| 32|250| 70 | 6 | 2 o (328844 267 - F )
RCMT 0803MO 4 | 8 318 7| o e R200-6R32-33-160-2T 33| 32| 160 | - 6 | 2 o (328846 - 165 %]
Jaole ER 3T s BN R200-6R32-33-200-2T 33| 32 |200| - 6 | 2 | RCOT1204MO | M3.5x10 T15 o (328848 - 175
1204M0 6 | 12 476 70 | (oololen ofic R200-6R32-33-250-2T 33| 32 |250| - 6 | 2 e (328850 - 190 —
1606MO 8 | 16 635 | 7° o e R200-6R32-35-150-3T 35| 32150 | 50 | 6 | 3 e (328852 200 - &7
2005M0) 0 20 835 7 °B°N R200-6R32-35-200-3T 35| 32 |200| 60 | 6 | 3 o [328854 233 - et
prsv—— . . pyv - R200-6R32-35-250-3T 35| 32 250 | 70 | 6 | 3 o (328856 283 -
S LA A 318 7 | ol R200-6R32-40-200-3T 40| 32 (200 60 | 6 |3 o (328858 267 -
10T3M0 s 1 s 7| .. R200-6R32-40-250-3T 40| 32)250 | 70 | 6 | 3 o (328860 307 - #is
12040 ¢ | 1 476 T | (taotnolaen) NN R200-6R32-40-300-3T 40| 32 |300] 70 | 6 |3 o [328862] 350 - %75
2006MO 10 29 6.35 ™ b3z o oo =
ggg;mg 11265 §z’ 323 ; o oo B R200 ER@#IE SERLSEE TS An!
Round Nose Milling Cutter oNRE, ETHMI o)
SRR, WS %7
£ % Adapter grinding blade Sandvik i
F 15 §1MI$ % (Cutting Parameters): R22-R24 * High precision, suitable for finishing FR
T TR (Spare Parts): P01-P04 Cone design, steel high JIHE
me Rt Size T E Insert FE#RClamp| 84T Screw | rench| Stook oy | e | i
Cat. No ST alTewlwolsl e &y & | s [
R200-5R50-22-4T 50 | 22 | 50 | 10.4 | 6.3 | 5 e (328900 200 | 200
R200-5R63-22-4T 63 | 22 | 50 [10.4| 63| 5 o (328902 240 | 225
R200-5R80-27-6T 80 | 27 | 50 |12.4 | 7 5 M3.5%8.5 o (328904 367 | 350
R200-5R100-32-6T 100 | 32 | 50 | 144 | 8 | 5 | RCUTIOWMOL YS5R| P B0l T19] e |328006 567 | 540
R200-5R50-25.4-4T 50 | 25.4| 50 [10.4 | 63| 5 o (328908 200 -
R200-5R63-25.4-4T 63 | 25.4| 50 |[10.4 | 63| 5 o (328910 240 =
R200-6R50-22-4T 50 | 22 | 50 | 10.4 | 6.3| 6 e (328912 200 | 200
R200-6R63-22-4T 63 | 22 | 50 [10.4| 63| 6 o (328914 240 | 225
R200-6R80-27-6T 80 | 27 | 50 [124 | 7 6 o (328916 367 | 350
R200-6R100-32-6T 100 | 32| 50 | 144 | 8 | 6 | RCOT1204MO| Y6R| Max10 | T15| o 378918 567 | 540
R200-6R50-25.4-4T 50 | 25.4| 50 [10.4 | 6.3| 6 o (328920 200 -
R200-6R63-25.4-4T 63 | 25.4| 50 |[10.4 | 63| 6 o (328922 240 -
R200-8R63-22-4T 63 | 22 | 50 | 10.4 | 6.3 | 8 o (328924 - 250
R200-8R80-27-6T 80 | 27 | 50 [124| 7 8 o (328926 - 400
R200-8R100-32-6T 100| 32| 50 | 144 | 8 8 o (328928 - 600
R200-8R125-40-6T 125 | 40 | 63 | 16.4 9 8 | RCoT1606MO| Y-8R| MSx12 | T20| o |328930 - 750
R200-8R160-40-6T 160 | 40 | 63 | 164 | 9 8 o (328932 - | 1150
R200-8R200-60-6T 200| 60 | 63 | 25.7| 14| 8 o 328934 - | 1600
R200-10R100-32-5T 100 32 | 63 | 144 | 8 | 10 M5x12 | T20| e [328936 - 600
R200-10R125-40-6T 125| 40 | 63 | 16.4| 9 | 10 | RCOT2006MO| Y10 ye45 | T30| e |328938 - 750




LR 8k T]

Clamp Type Milling Cutter

15°f5 A Bl 72

HEHIT) A

B TRS HEZ#%7

Round Nose End Mill

L]
CH

RIETS o HEVM @ —MUME g TREUM
Cutting Enviranme Stable Cutting GanoralCutting_%%_Unstable Cuttng
P|® Steel o0 vxx%ee
M | FE®R Stainless Steel © OBEEOO
K | %t Iron o o uxxx
N | S8R/ SRR i o
s | #rAs BRAs Carbide/Powder Metallurgy o P
[H | sumiaea/mes Titanium/Superalloy/Carbon Fiber 5 <ol
ERER AR RS =t Dimension (mm) BENH
§= Product Image Dimensioning Specification re A T a T"q:"‘r:‘::r
RDKW 0501MO 25 5 15°
0702MO 35 7 15°
0803MO 4 8 15" | @
10T3MO 5 10 5| e
1204MO 6 12 q50 | WS
fSTING H I 180 | (Toolholder)
1605MO 8 16 15° | D34-D35
1606MO 8 16 15°
2006MO 10 20 15°
RDKX 10T3MO 5 10 sg7 | 15 | =
1204MO 6 12 476 150 | JE:
1605MO 8 16 635 | 15° | (Toolholder)
10 | 20 635 | 15° | D34-D3s
=
RDKX 10T3MP-1 5 10 3.97 15° TIHE
1204MP-1 6 12 476 | 15° | (Toolnolder)
D34-D35
K,
7] [ | =
RDMW 10T3MOT-PM 5 10 3.97 15 TIHE
1204MOT-PM 6 12 4.76 15° (Toolholder)
1605MOT-PM 8 16 556 | 15° | pa3spas
=
RDMT 10T3MO 5 10 3.97 15° TIHE
1204M 6 12 4.76 15° (Toolholder)
D34-D35

TIHE

o hd |
DEET, BALE sl J
BRTMEK  HEE ol 11 5 &m&

I §IMI$ % (Cutting Parameters): R22-R24 Y Blade sconomy, the high applicability. L2 T L (@ L

FEM (Spare ):P01-P04 Y Capacity chipa large space. good chip removal. i
2SS Rt Size Iﬂ:ﬂ 2 v || e |EE AT St Order Price Price
Cat. No DJafLu]ie] a|nues & Number (GU) (RMB)

TRS2.5R06-08-60-1T 8] 88030 - |25] 1 0 328300 B 150
TRS25R08-09-100-2 9| 810030 | - |25]| 2 . 328302 " 150
TRS2.5R10-10-120-2T 10| 10[120] 40 | - [255| 2 . 328304 - 150
TRS25R10-11-120-2 11| 10{120]| 40 | - |25] 2 . 328306 = 150
TRS2.5R12-12-120-2T 12| 12[120| 40 | - |25] 2 . 328308 - 150
TRS25R12-12-120-3 12| 12[120| 40 | - |25] 3 . 328310 " 150
TRS25R12-13-120-2 13| 12[120| 40 | - |25] 2 . 328312 - 150
TRS25R12-13-120-3 13| 12[120| 40 | - |25] 3 . 328314 - 150
TRS2.5R16-16-1504 16| 16(150| 40 | - [2.5| 4 |ROMWOSOTMO} W18 — . 328316 - 160
TRS2,5R16-16-2004 16| 16[200| 40 | - |2.5] 4 . 328318 . 200
TRS25R16-17-1504 17| 16[150| 40 | - |2.5| 4 . 328320 - 160
TRS25R16-17-2004 17| 16[200| 40 | - |2:5] 4 . 328322 - 200
TRS2.5R20-20-1504 20| 20{150| 40 | - |2.5| 4 . 328324 - 170
TRS2.6R20-20-2004 20| 20|200| 40 | - |2.5| 4 . 328326 o 220
TRS2.5R20-21-1504 21| 20|150| 40 | - |2.5| 4 . 328328 - 170
TRS25R20-21-2004 21| 20|200| 40 | - |2.5| 4 . 328330 - 220
TRS3.5R10-10-120-1T 10| 10(120] 40 | - |3.5] 1 0 328332 B 150
TRS3.5R12-12-120-1T 12| 12|120| 40 | - |3.5] 1 . 328334 - 150
TRS3.5R16-16-120-2T 16| 16(120| 40 | - [3.5| 2 |ROMWOT02MO} M2E6 | — S 328336 - 120
TRS3.5R16-16-160-2T 16| 16[160| 40 | - [3.5] 2 . 328338 - 120
TRS4R12-12-130-1T 12| 12[130| 40 | - | 4 | 1 . 328340 67 100
TRS4R12-13-130-1T 13| 12[130| 40| - | 4 | 1 . 328342 67 100
TRS4R15-16-150-2T 16| 15(150| 40 | - | 4 | 2 . 328344 83 110
TRS4R15-16-200-2T 16| 15[200|40 | - | 4 | 2 . 328346 110 140
TRS4R16-16-150-2T 16| 16[150|50 | - | 4 | 2 . 328348 83 110
TRS4R16-16-200-2T 16| 16200 60 [100| 4 | 2 . 328350 110 140
TRS4R16-17-150-2T 17| 16|150| 50 | - | 4 | 2 . 328352 83 110
TRS4R16-17-200-2T 17| 16(200| 60 | - | 4 | 2 |ROMT0802MO| M3x7 |Y-4R | T8 . 328354 110 140
TRS4R19-20-150-2T 20| 19]150| 40 | - | 4 | 2 . 328356 100 130
TRS4R19-20-200-2T 20| 19|200| 40 | - | 4 | 2 . 328358 17 145
TRS4R20-20-150-2T 20| 20{150| 50 | - | 4 | 2 . 328360 100 130
TRS4R20-20-200-2T 20| 20|200| 60 |100| 4 | 2 . 328362 "7 145
TRS4R25-20-250-2T 20| 25(250|60 | - | 4| 2 . 328364 167 -
TRS4R20-21-150-2T 21| 20{150 |50 | - | 4 | 2 . 328366 100 130
TRS4R20-21-200-2T 21| 20{200]60 | - | 4| 2 . 328368 17 145
TRS5R19-20-1502T 20] 19]150 40 | = | 5 | 2 0 328370 100 -
TRS5R19-20-200-2T 20| 19]200] 40 | - | 5| 2 . 328372 17 -
TRS5R20-20-150-2T 20| 20|150| 50 | - | 5| 2 . 328374 100 130
TRS5R20-20-200-2T 20| 20|200| 60 |100| 5 | 2 . 328376 17 145
TRS5R20-21-150-2T 21| 20{150| 50 | - | 5| 2 . 328378 100 -
TRS5R20-21-200-2T 21| 20|200] 60 | - | 5| 2 . 328380 17 -
TRS5R20-25-150-2T 25| 20(150| 50 | - | 5 | 2 . 328382 "7 100
TRS5R20-25-200-2T 25| 20{200| 50 | - | 5| 2 . 328384 127 -
TRS5R24-25-150-2T 25| 24|150 40 | - | 5| 2 . 328386 17 100
TRS5R24-25-200-2T 25| 24(200] 40| - | 5 | 2 . 328388 127 -
TRS5R25-25-150-2T 25| 25[150| 50 | - | 5 | 2 . 328390 "7 100
TRS5R25-25-200-2T 25| 25(200| 60 [115| 5 | 2 — . 328392 127 135
TRS5R25-25-250-2T 25| 25(250 70 | - | 5 | 2 o . 328394 167 160
TRS5R32-25-300-2T 25| 32|300| 70| - | 5 | 2 |FOMTIOTEMO A I 328396 250 -
TRS5R25-26-150-2T 26| 25(150 |50 | - | 5| 2 s . 328398 "7 100
TRS5R25-26-200-2T 26| 25(|200]60 | - | 5| 2 . 328400 127 135
TRS5R25-26-250-2T 26| 25|250 |70 | - | 5| 2 . 328402 167 -
TRS5R25-30-150-2T 30| 25(150| 48 | - | 5 | 2 . 328404 127 110
TRS5R25-30-200-2T 30| 25|200(50 | - | 5| 2 . 328406 150 145
TRS5R25-30-250-2T 30| 25(250|60 | - | 5| 2 . 328408 183 170
TRS5R32-35-150-3T 35| 32|150| 50 | - | 5| 3 . 328410 183 180
TRS5R32-35-200-3T 35| 32|200| 60 | - | 5| 3 . 328412 217 190
TRS5R32-35-250-3T 35| 32|250 |70 | - | 5| 3 . 328414 283 225
TRS5R32-35-300-3T 35| 32(300| 70| - | 5| 3 . 328416 333 -
TRS5R32-35-350-3T 35| 32|350 |70 | - | 5| 3 . 328418 400 -
TRS5R32-35-400-3T 35| 32(400| 70 | - | 5| 3 . 328420 500 -
TRS6R25-32-1502T 32] 25[150 [ 50 | - | 6 | 2 . 328422 B 165
TRS6R25-32-200-2T 32| 25(200| 50 | - | 6| 2 o 328424 . 175
TRS6R25-32-250-2T 32| 25(250 |60 | - | 6| 2 . 328426 B 190
TRS6R32-32-150-2T 32| 32|150| 50 | - | 6 | 2 . 328428 167 -
TRS6R32-32-200-2T 32| 32|200|50 | - | 6 | 2 . 328430 217 -
TRS6R32-32-250-2T 32| 32(250( 60 | ~ | 6 | 2 | RowT1200M0 | yusio |V-6R | TIS | @ 328432 267 -
TRS6R32-32-300-2T 32| 32|300|60 | - | 6| 2 . 328434 333 -
TRS6R3240-150-3T 40| 32|150| 50 | - | 6 | 3 o 328436 233 250
TRS6R3240-200-3T 40| 32|200| 50 | - [ 6 | 3 . 328438 283 260
TRS6R32-40-250-3T 40| 32|250| 60 | - | 6 | 3 . 328440 317 300
TRS6R32-40-300-3T 40| 32|300| 60 | - | 6 | 3 . 328442 417 340

HA

aRn

Bk
%7

sk
I

b
T4

#%7]



MZG'

B TRS BR&E#IE

LR 8k T]

Clamp Type Milling Cutter

=i

<

J) K (Insert):
RNGJ1204MOELD ZP152

Round Nose Milling Cutter T
'\ T e e Shni ) CReEk :Pig -gff;(mm)/ )
Al z:0. -1, mm/rev
o @M15° Ef7IA % Usingthe 15 ° positive angle blade %.E EIJ 7] H Ve:100-300 (m/min)
o TIB A%, ERAMRE % Blade economy, the applicability of high IR [} ﬁifm’i‘l @ A 2 ﬁ‘ﬂi?’lﬁ‘l
« ZES@K, HEK * Capacity chipalarge space, good chip isposal = T el T
o ##3%t, WS K Conedesign, steel high TR Stainless Steel © oBBHOO
15" GIEIBH (Cutting Parameters): R22-R24 e ron b hd hdhd
ERH (Spare Parts): P01-P04 SR SR B AR Aluminum/Copper/MagnesiumiZinc/Plastic/Wood o .
WEASE MERAES Carbide/Powder Metallurgy ) EE XK
we R~t Size T Insert EHCl 9RET Screw | #F Wrench . Order  Price  Price B/ S A/ Titanium/Superalloy/Carbon Fiber B Mo
Cat. No D d H W T a @ ) Number (RMB) (RMB) EREM NEARY Amme R Dimension (mm) RENH | vo  oronme
TR:5R50-22-4T 50 | 22 | 50 [10.4]| 63 [ 5 e 328500 167 | 200 Product Image Dimensioning Specification re | A T e §§§§§§§§§§§
TRS5R63-22-4T 63 | 22 | 50 | 104 | 63 | 5 o 328502 200 | 225 —
TRS5R80-27-6T 80 | 27 | 50 | 12.4 | 7 5 e (328504 307 | 350
M4x9
&  TRS5R100-32-6T 100 | 32 | 50 | 144 | 8 5 | RDOTIOTSMO) Y-5R | \1aetol  T18| o |328506| 483 | 540 RNGJ 1204MOELD ) =
&5  TRS5R50-25.4-4T 50 | 254 | 50 | 10.4 | 63 | 5 o 328508 167 | - 1204M0SGD 6" e 7 i
Y TRS5R63-25.4-4T 63 | 25.4 | 50 | 104 | 63 | 5 o |328510] 200 | - 1204MOSHD et am
%7 TRS6R50-22-4T 50 | 22 | 50 | 10.4 | 6.3 6 e [328512] 307 | 200 he
| TRS6R63-22-4T 63 22 50 10.4 6.3 6 e (328514| 483 225 %7
- TRS6R80-27-6T 80 | 27 | 50 | 124 7 6 o [328516 1067 | 350
TRS6R100-32-6T 100 32 50 14.4 8 6 . 28518 1 4.
e TRS6R125-40-7T 125 | 40 | 50 | 14.4| 14 | e |ROOUTI24MO| Y-6R | Max10| T15| gzggzg 136373 o m KDR[E £ # J1#F
. 14 6 328522 R
Bk TRS6R160-40-8T 160 | 40 50 | 14.4 o 200 KDR Round nose cutter bar kS
7] TRS6R50-25.4-4T 50 | 25.4| 50 | 10.4 | 6.3 6 o (328524 167 - 1 Bk
TRS6R63-25.4-4T 63 25.4 50 10.4 6.3 6 e (328526 200 = 1 #7)
Py, TRS8R63-22-4T 63 | 22 | 50 | 10.4 | 6.3 8 e (328528 233 | 250 l
TIAF TRS8R80-27-5T 80 27 50 12.4 7 8 RDIT1606 MO | Y-8R | M5x11.5 T20 e (328530 333 400 L i
TRS8R100-32-6T 100 | 22 | 50 | 144 8 8 e [328532] 500 | 600 i
@5 WTRSM E7IHF R4 TI% a
. TIHF
:_E—* Corner Rounding End Mills(trsm) [ ] T,’*ﬁﬂﬁﬁﬁ'ﬁﬁﬁ; 12>£§§'E_LEZ§7*'
7] = ggii; ”dr[“’"::“”uj Rez-R2d * The Grain Can Be Used On Both Sides, 12 For More Economic! Pl
= JI A Insert $%4T Screw | #RF Wrench =
@ B 2 swl| meo |BHKL | WE 4 TR price S
1# 7] 1" {1HIL % (Culling Paramelers): R22-R24 ; Stz .Shank Blade (RMB) E7)
SR (Spare Parts): PO1-PO4 Cat. No Long | Diameter| |gngth | diameter | number 7
i - = I R e . KDR32Z02A32RN12L200 200 32 40 32 3 o [320200] 450
) R
i ih 8 5 L~ Testh PPN Order  Price KDR32Z03A32RN12L250 250 32 40 32 2 RNPU1204 o 15 e |320202| 500 N
B3] Cat. No D|L| d M Number (RMB) KDR40Z04A32RN12L.200 200 40 - 32 4 e 329204 500 lg;j':]
RDO0501R092M04 9 | 15| 45 | M4 2 o | 328600 | 320 KDR40Z04A32RN12L250 250 40 - 32 4 o |329206| 600 -
bAn! RD0501R102M05 10 | 16 | 5.5 M5 2 MS2004 o 328602 300 g
TE RDO501R112M05 11 18| 55 | M5 2 o | 328604 | 300 £
R i i &
1R123M 18 M6 : -.0501.. - T6 o 328608 | 300 1=%vi 7]
2
w e |l sz o | " CORERUSNE
3 1 18 M6 1 o |328612 | 300 ; i
F RD0501R164M08 16| 23] 85| ms| 4 o | a28614 | 350 KDR Cylindrical Milling Cutter Fﬁt
TR RDO501R174M08 17 | 23] 85 | M8 2 o | 328616 | 350 o
RDO7T1R122M08 12 23] 85| M8 2 RD..0771.. - MS2205 T7 o [ 328618 | 380 il
RD0702R162M08 16 | 23 | g5 | M8 2 O |328620 | 350
RDO702R172M08 17 23| 45 | M8 g o |328622| 350
RDO702R173M08 17 23] oo | M8 ] o | 328624 | 350
RD0702R203M10 20 | 30 10’ 5 | M10 4 o 328626 350
RDO702R213M10 21 | 30 M10 B o | 328628 | 350
RDO702R254M12 25 | 35| 100 | miz| 3} RD..0702.. Ms2506 8 o |328630 | 400
RDO0702R255M12 25 | 35 M12 5 o | 328632 | 400
RDO702R264M12 22 35| 125 | 12 5 ® 328634 | 400 5§18 $ M (Cutting Parameters): R22-R24
RDO702R265M12 26 | 35| 125| m12| 6 o | 328636 | 400 S (Spare Parts): PO1-P04
RD0702R355M16 35| 43| 125 | mie| 2 o | 328638 | 450
RDO702R356M16 a5 | 43| 17 [ Mi6| ° o | 328640 | 450
: ) = wg | mg i T g g ord i
RD0802R162M08 16 | 23| 17 [ ™8 5 0 328642 | 150 s e = 7L InE AR 7% 7 A St e
ock
RD0802R172M08 17 | 23| 85 | wm8 5 o 328644 | 300 fi i Number (RMB)
Tt 171500 &5 | wimo 2 RDMT0802MO ViR MS3007 T8 . = Cat. No Long | Diameter | Inner hole | Face diameter | Blade number Insert
RDO0802R212M10 1| 30 13 ;3 M10| 3 o | 328648 | 300 KDR40Z04S16RN12 40 40 16 38 4 e 320300 600
RD1003R202M10 20| 30| 95T mio| 3 o | 328650 | 300 KDR5O0.
RD100SRA0M1G 208/ 12 g Midl 3 O 3288501/ 300 Z04S22RN12 40 50 22 42 4 e |329302| 650
ROT00ARE5aNT2 55| 35| 108 iz 4 . e KDR50Z05522RN12 40 50 22 42 5 e [320304| 700
RD1003R263M12 26 | 35| 455 | M12 j D..1003.. Y-5R M$3507 T15 o 328656 300 KDR63Z05S22RN12 50 63 22 49 5 . 329306 | 750
RD1003R353M16 35| 43| 17 | M16 o | 328658 | 320 RNPJ1204
RD1003R354M16 e | as| | Ve 2 o 328000 320 KDR63Z07S22RN12 50 63 22 49 7 . 329308 | 800
RIS 2535 1ag [ Miz| e T KDR80Z06527RN12 50 80 27 60 6 e |329310| 900
RD10T3R262M12 26 | 35| 125 | M12 35510 o | 328664 | 300 KDR80Z08S27RN12 50 80 27 60 8 e [320312] 1100
RD10T3R302M16 30 | 40| 17 | M16 RDMT10T3MO Y-5R T15 e |328666 | 160 KDR100Z07S32RN12 50 100 5
RD10T3R323M16 32 | 43| 17 | M16 M4X9 o | 328668 | 320 3 78 ’ e | 320814 1200
RD10T3R353M16 35| 43| 17 | M16 e |328670 | 200 KDR100209S32RN12 50 100 32 8 9 e [329316| 1400




MZG ... BCF/SWB

TR o

ok 48 ot

ML fAfmI

o MEUM g —MUH g FHEH
Genoral Cut uns

Cutting iment table Cutting able Cutting

22 ERER AR aiEEe R~F Dimension (mm) RENGE | o P|® Steel TErTTIT
H Product Image Dimensioning o re A B T T""*“:"“zg §§§§g zl ;:iﬂ StainisseiSiesl © oses00
oolholder Iron
ZC.. ZCET 080CE 7] 8 79 3.97 N | $B/40 $8/% BR/AH Aluminum/Copper/Magnesium/Zinc/Plastic/Wood .. “,.xxx
%ggv 1 SE 13 18 j;i S | MEAS® HERAS Carbide/Powder Metallurgy o PAPRPRPS
|*—A—' o | e 25 s | LH| svmmesmas Titanium/Superalloy/Carbon Fiber b <ol
~ 75 12.3 6.1 =
\OY - ek s | 1 | oo AR A3 SRR REDH | oy goonns
= 4 e p ZCET e0cE o e gad | 745 o g Bl et imege Dimensioning Specification re A B T Matching [BZZBSIRT222
%gé; ? gE w7 s 1§§ g% ;54[)0 - Toolholder [ OONNNNNNNN
> 4.24 (Toolholder) SWB.. SWB  216HM =7] 8 ‘75 7.9 3 .o
8 - 2o B e e AE RS i
o : ZCEW 125SE 125 | 208 | 93 | 54 | 230HM T 53| i am o
I:l‘ B ZCET  150SE 1—} 25.7 11.8 7.09 7 232HM 16 26 16 522 ::
u o I \O |- AR AR IR g:
%71 ZCEW  200SE 20 | 319 157 | 7.0 e | o8 w1 SR R T I e
CPMT 080204 41/217] 04 784 | 784 | 238 s 2008 o 85 s b= o
CPMT 090308 0.8 9.525 9.525 3.18 5.5 3% B ol
225HS 10.5 3.8 TE: .o
B 230HS 123 | 535 (Toolholder) .o
N 250HS 7 :.
B BCF/BCFL kfazitT] 3 8 090304 4 g
Spherical End Mill al ggg%"" M
— 51 ] i g
sk — ' ' -
ﬂﬁ L1 N L1 .
E BCF & BCFL & B S\WB B8]
i Spherical End Mill
- o RAMERTIATHEHHEMTED
EL 3 M BCFAP7IE M BCF forthe edged-type VR RENE RS, FRITITIEH I 7 AR B 300 2 "
%] BCFLA I 7] & BCFL for four-edge-type % Use of available high-precision machining precision blade surface. 8 5 X
—_— parameters): R25-R26 * Blade surface of convex design, and reduces not only the sharp cutting edge #7)
= Parts): P01-P04 Vibration noise. EL% I | 5| @I [ [
&7 =
"l we Rt Size i 7 Insert T sorew S o T al a 7]
2 7 & il 2l - L1 7]
R Cat. No D|d|L|L1] a ofmes @ & i Price  Price
i F000) | FA0D) | s4EAED) (RMB) (RMB) S
e (Cutting Parameters): R25-R26
E3 ] ggg]gs:;gg ;8 ;g ;gg gg ;3:,3 2£4 329400] 330 | 510 | 580 SRA (Sparc baric): PO1-PO! prid”]
= pRergiigatt 200120112001 50 ) 301 2 329402 430 - - ® REMEANATANSHENTRE * Use of available high-precision machining precision blade surface. A5
i1 C25-10R-150 5 | 5 |1 ZCEWT | zcEWAT M35%9.5 | T10 329404] 530 - - TR REOERT, TILIIT)EF T R R A * Blade surface of convex design, and reduces not only the sharp cutting ed
FE €25-10R-200 201125 11150 70111801\ 24| “iooce | ‘wonse | CPMTOROR| o T\ q 320406 T sH0) 650 REREEE Vibration noise ! preine e AN
p - : 329408| - | 560 | 650 i *aE
gg}ggggg gg gg ggg 1(5)8 :3’»8 53 2%2;‘12 > ;38 328 B e Bk | HE ﬁf ARK] R [ BA7R [ARANK [ A m7su e a0 3 %7
" - 1 7 rder rice
9 C20-125R-150 | 25 | 25 | 150 70 | 39 | 2/4 7 AT I W Eol DR | ghank | Effective e
Fik C25-1.25R-1 700 Cat. No Long | Diameter Peripheral Number (RMB) &
Fa .25R-150 25 | 25 | 150|100 | 39 | 2/4 P P 329416| 400 790 380 . diameter| Length | The main blade| _Side blade | Peripheral blade | Length | Maln screw |Outside screw >
TIHH IR 25 | 32 (200|100 30 | 2ia | LT | LT | cruromosn weo | Tis|Saata| 500 | 790 | 80 SWBML2535525 220 | 25 [12.5] 25 | 70 329600| 800 %
— e T - gg ggg 123 gg Z: g;gjgg 600 | 900 | 980 SWBM2535532 200 | 25 [12.5| 32 | 100 | swe225HM | SwB225HS |ZCMT100308R| 35 | DSW-4085 | Esw-206 |329602| 900 7R
. = 1020 | 1100
gggjgs:;gg 30 | 32 [160] 70 | 43 | 2/4 329424 460 | 730 | 800 2wg;§50?‘22222 250 | 25 125/ 32 | 110 329604| 1000
I 30 | 32 |200(100| 43 |24 | L. | Lo ws<i2 | 120 |329426| 560 | 850 | 950 200 | 30 | 15| 32 | 120 329606| 1100
Caz1oR 250 30 | 32 |250 150 | 43 |24 | ‘00 fsose | cPmososos| 115 |329428| 700 | 960 | 1050 SWBM3040S32 250 | 30 |15 32 | 150 329608| 1250
gaz15R 300 30 | 32 | 300|150 | 43 | 2/4 329430| 830 | 1100 | 1150 SWBL3040S32 300 | 30 | 15| 32 | 200 329610| 1450
= 30 | 32 350|200 43 | 2/4 329432 - 1300 | 1400 SWB230HM | SWB230HS | IM-SP32GS 41 DSW-509 | CSW-407
HPRIRERTT e T o 300432, - 1300 1400 SWBE3040S32 350 | 30 [15| 32 | 200 329612| 1650
C32-16R-200
e e gg g; ;gg lgg jg 34 scew | zeew M2 | Tao | 329436 - | 850 | 950 SWB30080MT4 30 |15 | MT4| 80 329614| 1300
C32-16R 300 3 | 55 1500 120 | 29 2/1 160CE Teose | CPMTOSOsOs| L T jg 329438 - | 960 | 1050 SWB30120MT4 30 | 15 | MT4| 120 320616| 1500
CareRs0 32|32 13001150 43 | 24 gggﬁg - :100 1150 SWBS4050S42 200 | 40 | 20 | 42 | 120 3296781 1350
C42-20R200 40 | 42 200100 50 | 2/4 Seeii T30 1280 SUNEL U0 2 250 | 40 | 20 | 42 ) 150 329620 1500
35'%82‘%88 40 | 42 |250| 150 | 50 | 2/4 329446 - | 1240 | 1350 SWBL4050S42 300 | 40 |20 | 42 | 200 |swazonun| swezeonsn| SN0 g rswsian | esw-0s |329622] 1700
C42-20R-350 Aon i1 Bl gﬁ zoew | ZCEW | oyirosnsos| MOX8 | TR0 |320448| - | 1350 | 1450 SWBE4050S42 350 | 40 |20 | 42 | 200 SPHAD90304 329624| 1900
200CE 200SE 329450 -
MT5-20R-200 10 ImT51200 | 100 | 20 | 274 M4x9 T15 Sooan| 1‘2‘18 1?28 SWB40090MT5 40 | 20 | MT4| 90 329626| 1600
MT5-20R-250 40 |MT5/250 | 150 | 50 | 2/4 SWBS5080C508 200 50 |25 |50.8| 120 329628| 1
IMTE:20RE260N 329454 - | 1350 | 1450 750
GRIIEIERE5 ?,8 gg-s 200 100 | 50 | 2/4 329456| - 1300 | 1400 SWBM5080C508 250 | 50 | 25 |50.8| 170 329630| 2100
050:8-25R-300 o 50?2 338 128 gg gf: Vns gggzgg - 1410 | 1500 SWBL5080C508 300 50 | 25| 50.8| 220 329632 2500
C50.8-25R.350 et 0 || o o 22;:0[0\/; iscotsvg ceuTosoaos |\ Eg S 1%8 lggg SWB50100MT5 50 | 25 | MT5| 100 |SWB250HMNLSWB250HSNL| IM-SP43GS 80 | HSW-614H | csw-510 |329634| 2300
C50.8-25R-400 50 |50.8|400|200]| 50 | 2/4 320464 R 2030 | 2150 SWB50120MT5 50 | 25 | MT5| 120 329636| 2500
MT5-25R-200 50 |MT5|200|100 | 50
MT2.25R 250 o0 Ivel 220 | 120 | 20 gﬁ 329466 - | 1520 | 1600 SWB50150MT5 50 | 25| MT5| 150 320638| 2700
329468 - 1700 | 1800 SWB50170MT5 50 | 25 | MT5]| 170 329640| 3000




Clam?—'ll"?feil\}ilflﬁgjjcmter A B P F/B N M

ok A ot

IR A

ML fAfmI

MR L (%EVIH‘I [ WL ® TREDH IR @ REMH Q —AQV!ﬁIJ 2 Tﬂi HI
Ll Steel o0 wxzXee k] Steel o0 exzzee
THR Stainless Steel © VBBEROVO THM Stainless Steel © oBBBOO
w5 Iron o 9 wrxx H Iron o v exx®
S8R5 B R R Aluminum/Copper/Magnesium/Zinc/Plastic/Wood . . SRR S B AR Aluminum/Copper/MagnesiumiZinc/Plastic/Wood 0 .
BRES BRES Carbide/Powder Metallurgy o zxee BEAS HRAS Carbide/Powder Metallurgy o T
HmRA /A Titanium/Superalloy/Carbon Fiber o zxe0 HERA S/TH Titanium/Superalloy/Carbon Fiber o 2z00
ERER AR HisRe R~ Dimension (mm) BETH ERER AR Mg R~ Dimension (mm) RENE o o
Product Im Dimension Specificat el g Product I Dimensionin Specificat (ETieifine Snz;nz;§§§§§£§§
roduct Image imensioning Specification e | A B | T Fren roduct Image mensioning Specification re | A B | T Meene BB eSRE A
e ZPFG 080 4 8 97 | 21
N i AN -
%% (C) A 160 8 16 | 166 42 - BNM 060 3 6 2
n‘_ﬁ \‘\ - 200 oo | 20 | 203 52 (Toolholder) - re oo 81 es 2
300 15 30 | 292 | 72 b9 100 5 10 a5 | 26
T B 320 16 | 32 | 302 | 72 A 110 55 | 11 5 o0 =
N4 A 120 6 12 10 3 T
0.3 8 9.7 | 21 160 8 16 12 4 (Toolholder)
0.3 10 124 | 27 200 10 20 15 5 D40
0.5 10 121 2.7 B 250 12.5 25 18.5 6
1.0 10 121 2.7 300 15 30 225 7
0.3 12 14.6 3.2 320 16 32 235 7
05 12 146 | 32
1.0 12 14.6 3.2
e 0.3 16 16.6 4.2
0.5 16 16.6 4.2
1.0 16 16.6 4.2
\ N AR
I o) 03 | 20 | 199 | 52 =4 o
“i \JV A 05 | 20 | 199 52 iy B BNM skf3z8t7]
\) 1 20 99| 53 R SphericalEnail
20 | 20 | 199 @ 52 D39
I B 0.3 25 226 6.2 7] ﬂ:
0.5 25 22.6 6.2
\e 1.0 25 226 6.2 N
EX 3 15 | 25 | 226 | 62 EX
2.0 25 22.6 6.2
iin 0.3 30 272 72 %ﬂ
0.5 30 27 7.2
= 1.0 30 2712 7.2 =
- 0.3 32 28.2 7.2 —
|7 . 0.5 32 282 | 72 <0.015mm 7]
K 1.0 32 28.2 7.2
i-pJ] o 7]
] & o Qutmild
% W ABPF i 8 ' |
i BRI hor prig )
SI8%T] arts): PO1- ey sl
E] Z - l-a| ‘ EX]
&5 Spherical End Mil <0.015mm L1 . }.—U 5
i ) #i7
F&E ) BNM-R TE
%71 o 157 YIMIBH (Cutting Parameters): R25-R26 Pl
‘ ) RE# (Spare Parts): P01-P04
L1
i L i
FR o JIRREE "V BRI, FREEMBE. WwE d | BNk BEIE SelxiB oy ; ; FR
T e REZEEmES, DR, A, NTERREARE. w2 Bk =03 = ° 3 stock TR e

o TIOSFHHRLE, BHEOTHRYE. Shank Effective Number (RMB) (RMB)

Cat. No L D diameter | length L1 | o R e _—

* The blade mounting surface "V" type design, make install more solid. ABPF-R ABPF-S gupbpeojinas) GiampkScin]

* R spiral blade design, fast, smooth cutting, machining surface roughness has a guarantee. - - _ﬂmﬂggggg?g}é Bg ]‘g ’F}g :g gg BNM-100 | FSW-3007H : gggggg S ggg

% Blade through special processing, have excellent resistance to crash damage. BNML-C12-6R-;30-1T e i B w ] BNM-120 | FSW-3509 . o | ?

; _6R-150- 50 . 329806 | 135 -

3 = R size Zodes e Sgrew | RFVgench PPy Order  Price BNML 1657007890 106 e 0 P 100 o [320808] - 300
Cat. No D dl L] a SN Number  (RMB) BNML C16-8R-150-1T 150 16 R8 16 50 BNM-160 | FSW-4013 . 329810 | 170 -
___ BNML C16-8R-200-1T 200 16 RS 16 60 e | 320812 | 200 -

BPE4R10-110 Ra | 10| 110 361 & ZPFG80(-G)/ZDFG80-W ZPFG4R T8 o 329700 | 900 BNML-200115T-825 191 20 R10 25 115 o 350814 n 285
ABPF5R10-160 R5 | 10| 160| 40| 7 ° 329702 | 950 BNML C20-10R-150-1T 150 20 R10 20 50 . 329816 | 170 -
BPE5R12-160 R5 | 12 | 160| 50 ZPFC100(-G)/ZDFC100-W | ZPFGSR o ® 1320704 | 950 BNML C20-10R-200-1T 200 20 R10 20 60 BNM-200 | FSW-5016 e | 320818 | 200 -
ABPEGR12-160 RG 12 [ 160] 45 g ZPFG120(-G)/ZDFG120-W ZPFG6R 120 . 329706 | 950 BNML C25-10R-250-1T 250 20 R10 25 60 . 329820 | 235 -

____ ABPFB8R16-200 R8 | 16 | 200] 80| 10| ZPFG160(:G)/ZDFGI60-W | ZPFGER 120 ® 1320708 | 1000 BNML C25-12.5R-150-1T | 150 25 | R12.5 125 45 e | 329822 | 200 | -
ABPE10R20-200 R10 | 20 [200] 65 (125 PFG200(-G)/ZDFG200-W | ZPFGTOR 125 O 320710 | 1100 BNML C25-12.5R-200-1T 200 25 R12.5| 125 55 BNM-250 | FSW-6020 . 329824 | 235 -
ABPF12.5R25-200 | R12.5| 25 | 200| 80| 15 ZPFG250(-G)/ZDFG250-W | ZPFG12.5R T20 D 329712 | 1100 BNML C25-12.5R-250-1T 250 25 R12.5| 125 60 . 329826 | 270 -
ABPF15R30-150 R15 | 30 | 150| 80 | 20 ) ! e 329714 | 1200 BNMM-300106T-532 186 30 R15 32 106 . 329828 | - 7000
ABPE15R30-200 | Ri5 | 20 | 200| 100| 20| ZPFG300CGIZDFGI00-W | 2PFGToR 0 e 320716 1300 BNML-300160T-532 240 30 | Ri5| 160 | BNM-300 | FSW-B025 | o |3p0830| - | 1100

BPF-R5-M6 R5 | M6| 43 [ 26 - PEG100 PEGER 120 e [320720 [ 650 BNM-R5-M6 40 10 R5 M6 BNM-100 W-3007H . 329850 | - 650
ABPF-R6-M6 R6 | M6| 43| 26| - ZPFG120 ZPFGBR T20 o [329722] 650 BNM-R6-M6 40 12 R6 M6 BNM-120 W-350 . 20852 | - 650
-R8- R8 | M8 | 43| 26 - ZPFG160 ZPFGBR T20 e [320724 | 650 BNM-R8-M8 40 16 R8 M8 BNM-160 W-401 . 20854 | - 650
ABPF-R10-M10 R10 [M10] 49| 30 - ZPFG200 ZPFG10R T25 o [329726 | 650 BNM-R10-M10 50 20 R10 M10 BNM-200 W-501 . 20856 | - 650
ABPE-R12.5-M12 | R12.5[M12| 55 | 33 | - ZPFG250 ZPFG12.5R T20 e 1329728 800 BNM-R12.5-M12 60 25 R12.5]  M12 3 BNM-250 W-602 e [320858 | - 800
ABPF-R15-M16 R15 | M16] 65| 42| - ZPFG300 ZPFG15R T30 e [329730] 800 BNM-R15-M16 65 30 R15 M16 41 BNM-300 W-8025 . 329860 | - 800
ARPF-516-M8 16 | M8 [ 43 25 - ZCFW160 ZPFG8R T20 329732 [ 650 BNM-S100-M5 40 10 - M5 20 BNM-S100| FSW-3007H e [320870 | - 650
ARPF-520-M10 20 | M10] 48] 29| - ZCFW200 ZPFG10R T25 e 1329734 | 650 BNM-S120-M86 40 12 - M6 22 BNM-S120] FSW-3509 . 329872 | - 650
ARPF-525-M12 25 [M12] 55| 33 [ - ZCFW250 ZPFG12.5R T20 e 1329736 | 800 BNM-5160-M8 40 16 - M8 28 BNM-5160] FSW-4013 e | 320874 - 800
ARPF-530-M16 30 | M16] 461 41| - ZCFW300 ZPFG15R T30 e [329738] 800 BNM-S200-M10 50 20 . M10 30 BNM-5200]_FSW-5016 . 329876 | - 800




LR 8k T]

Clamp Type Milling Cutter

-/ Yk ) s
Bk 72 48 4t B T2139 5 0.015mm )
Q,
= RS H (C ters): R25-R26 o 0
it T : y
MR o Q‘EVIH‘I ") —IQ‘UJQU = JK“E’IJH L ‘
zfm z:‘c:uesssmu .; ;::;;; RS SR : High-performance alloy structural steel
e Iron o o vxxx o 70 44 40 M1 30 4 R, 7 30 T [ B0 4 R Blade cutting edge sharp, can process different materials.
AR ERAH Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o B o B HE R AR AL EL 7S 0 B2, R ) Bl IR AR R * precision to ensure its high-performance, high-speed cutting is also stable.
R Ty ms I Y A A o e e
i . — Cat. No D d L L1 a Number (RMB) (RMB)
R DRI RS o LEny T2139C08-4R-110 8 g8 | 110 | 25 Z e (329900, - | 195
PN P e B &8 |v Toolholder T2139C10-4R-100 8 10 | 100 | 25 4| paooupos | T2139 T e [329902) 100 | 195
2200, D08 w5 | 7 | 2s T2139C12-4R-130 8 12 | 130 | 40 4 . 4R 8 e (329904 100 | 220
" bio 5 | 10 | 85 | 26 - T2139C16-4R-150 8 16 | 150 | 40 4 o 320006 127 | -
D12 6 12 10 3 =
a5 . o1z & [ 12| 103 - T2139C10-5R-120 10 10 | 120 | 30 5 12139 e [329908] 100 | 160 B
aE D20 0 20 15 s FE T2139C12-5R-150 10 12 | 150 | 40 5 | P3200-D10 R T15 e |320010/ 100 | 180 aB

~ D25 12.5 25 18.5 6 ’ o

i BES 25| & | 188 ¢ 042 T2139C16-5R-150 10 16 | 150 | 40 5 o 329912 127 | - 37
“ET] D32 16 32 | 285 | 7 T2139C12-6R-130 12 12 120 40 6 e [329914| 100 160 %7

— T2139C12-6R-150 12 12 | 150 | 50 6 | pazoopin | 12139 | 10 e 1329916/ 100 | 180
B T2139C16-6R-150 12 16 | 150 | 50 6 6R o 320018 127 | - B
w7 T2139C16-6R-200 12 16 | 200 | 50 6 e 329920 150 | - %7
— T2139C16-8R-150 16 16 | 150 | 50 8 e [329922] 133 | 185
T2139C16-8R-200 16 16 | 200 | 60 8 | pazor-pie | T2139 | 10 o 1320024/ 167 | 240
T2139C20-8R-200 16 20 | 200 | 60 8 8R e 320026 200 | -
= T2139C25-8R-250 16 25 | 250 | 60 8 o 320028 233 | -
sha T2139C20-10R-150 20 20 | 150 | 50 10 o [329930] 167 | 260
TIHF T2139C20-10R-200 20 20 | 200 | 60 10 | pazoupzo | 12139 | 1o e (320932 200 | 320
IR T2139C25-10R-250 20 25 | 250 | 60 10 10R e [320934 233 | 360
e T2139C32-10R-300 20 32 | 300 | 60 10 o 320036 267 | -
> - —— T2139C25-12.5R-150 25 25 | 150 | 45 | 12.5 e [329938] 200 | 520
3 F W TR el ?J] Hl TE RIS T2139C25-12.5R-200 25 25 | 200 | 55 | 12,5 19139 o [329940| 233 | 580
ETA MR | RE 23 Cutting Parameter T2139C25-12.5R-250 25 25 | 250 | 60 | 125 | P3200-D25 | (2000 | T30 o (320042 267 | - ES
w7 = i Processed Material | Inserts | C44m9 | Gutting T2139C25-12.5R-300 25 32 | 300 | 60 | 12.5 : e (320944 300 | - P
. d .
— 3 Material |ve@mmin)| Condition| @6 = @8 ©10 @12 @16 @20 @25 @30 ©32 V2P AL 25 |l 57 |l 2w | ok |l 125 W 25T I WEE O
= — T2139C32-12.5R-250 25 32 | 250 | 120 | 12.5 e (329948 - | 690 =
. *® =
gl LB AR e ap(mm) | 005 | 0.07 0.1 04 | 042 | 0.12 045 0.5 | 0.5 VISR Sl 2 S 0N ICCI =S S 20050 EECN S &7
7] Mild Stests TNeo | 180230 | ey T2139C32-15R-150 30 32 | 150 | 45 15 o [320052( 217 | - e
ss i ] 02 | 03 04 04 05 05 | 06 06 06 T2139C32-15R-200 30 32 | 200 | 55 15 | basoenao | 72139 | 140 e [320954[ 250 | 750 @ —

R Jp201 B T2139C32-15R-250 30 32 | 250 | 60 15 15R o [320056 283 | - e
iy BER. 22N angs ap(mm) 0.05 | 0.07 | 0.1 0.1 0.12 | 0.12 | 0.15 | 0.15 | 0.15 T2139C32-15R-300 30 32 300 60 15 e |329958 317 = s
=5 Carbon Steela Alloy Steels Zp150 | 190200 | gais T2139C32-15R-350 30 32 | 350 | 60 15 e [320060( 367 | - =351

s-C scM ZP152 f(mmt) 02 | 03 04 04 05 05 | 06 06 | 06 T2139C40-15R-250 30 40 | 250 | 121 15 o 320062 - | 830
%01 P . IR T2139C32-16R-150 32 32 | 150 | 45 16 e (320964 217 | - %01
TEm 15 B4R (300HBRL ) ZP152 o i 0.05 0.05 0.06 0.09 0.09 0.09 0.11 0.11 0.11 T2139C32-16R-200 32 32 200 55 16 o [329966| 250 800 Tm
%7 Die steel ZP153 i SRS T2139C32-16R-250 32 32 | 250 | 60 16 9139 e 329968 283 | - Pl
SKD SKT fmmpy | 015 1 026 03 04 04 | 04 05 | 05 05 T2139C32-16R-300 32 32 | 300 | 60 16| Pa200-p32 | 710 T30 o [320070| 317 | -

3 30~40HRC IHIRE 5 " . " " " T2139C32-16R-350 32 32 | 350 60 16 o [320972] 367 - -
F fggffn (Steel D ZP153 | .1 60 sp(mm) 002 | 0.04 | 005 | 0.07 | 0.09 ) 0.09 | 0. o o T2139C40-16R-250 32 40 | 250 | 121 16 o [320074| - 920 Fit
TR P63 ﬁffjm’ﬁ‘,‘:)i 045 025 | 03 | 04 05 05 06 06 0.6 T2139C40-16R-350 32 | 40 | 350 | 121 | 16 o |320076] - | 1400 TyiF

DIHIR B BN RSESE, HElE, BETHRE, REN KALE.
THER 7P152 e 0.03 | 0.05  0.06 0.09 | 0.09 0.09 | 011  0.11 | 0.11 T B2 AR B AR I TR PR RO ) .
Stainiess Steels zp153 | 00 | smmes B Cutting ability and precision are good, the row of cut is good, high-speed cutting stability, and has a wide range of applications
sus f(mmit) 0.15 0.25 0.3 0.4 0.4 0.4 0.5 0.5 0.5 Can be applied to abrasive materials used in finishing and the manufacture of gas turbine blades.
M m
IHR -
REWCER D) sz | ap(m""“) 0.03 | 0.05 | 0.6 009 | 009 0.09 011 | 011 0.1 B T2139M BB ¥ % 7]
z‘uag\css Steel (wet condition) ZP153 §(?mi§?/ii 0.15 0.25 0.3 0.4 0.4 0.4 0.5 0.5 0.5 Ball Precision Cutters (T2139M)
ooy 20328 MERE | 006 | 008 | 0.1 0.15 | 017 | 047 | 0.9 | 0.19 | 0.19
|- ZP201 | 200-400 ;.pgﬂ)g = aaen
FC.FCD ZP152 fz]mm;l:) 0.2 0.3 0.4 0.5 0.6 0.6 0.7 0.7 0.7 . ZEH (S
T3
N SRR A . i}ilm*mf 0.12 | 0.15 | 0.17 0.2 0.26 | 0.26 0.3 0.3 0.3 w2 R <t Size J1H Insert 384T Screw #®F Wrench order | Price
150-300 . Stock
o Copeen ooz ZKo1 %z]m’fnff 025 03 | 05 | 06 07 07 08 | 08 08 Cat. No D L d m | Teeth /% Number
DERE T2139M4R-M4 R4 25 4.5 M4 1 P32..-D08 T2139-4R T10 o 331120 350
s BRAGMAESE é;gg i ap(mm) | °02 | 004 ) 005 ) 006 ) 008 ) 008 ) 01 0.1 0.1 T2139M5R-M5 Rs | 25 | 55 | ws 1 P32..-D10 T2139-5R T20 o | 331122 | 350
- TR E T2139M6R-M6 R6 35 6.5 M6 1 P32..-D12 T2139-6R T20 L4 331100 350
i e fmmy | O | %2 | 0250251 03 | 03 | 05 | 05 | 05 T2139M8R-M8 Re | 35 | 85 | wme | 1 P32.-D16 | T21398R T20 o | a33ti02| 350
- YIELRE 0.02 0.04 0.05 0.06 0.08 0.08 0.1 0.1 0.1 T2139M10R-M10 R10 35 10.5 M10 1 P32..-D20 T2139-10R T20 . 331104 400
25-60 ap(mm) T2139M12,5R-M12 R12.5 40 12.5 M12 1 P32..-D25 T2139-12,5R T30 . 331106 450
TRy %E}gg - STHER | o4 02 | 025 025 | 03 03 | 05 05 05 T2139M15R-M16 R15 | 40 17 | m16 1 P32..-D30 T2139-15R T30 e | 331108 | 500
f(mm/t) T2139M16R-M16 R16 40 17 M16 1 P32..-D32 T2139-16R T30 ° 331110 600




MZG ... ASJ/TJU

$h et A

$h 5t

BEHITI R BEHITI A

FREH NERT mwRs (3% e (@) RENF | vo_ g ouoe ERERK MR ST ) RETIF
g L32--858838
ProductImage Dimensioning Specification re A B T a T’;::EL‘:ZF ggg%%égég%ﬁ Product Image Dimensioning Specification re A T Tﬂ:‘l’:':‘”i
ADMT 080308L 08 | 78 62 | 30 15
s 100308L 08 | 104 | 635  3.18 15 A g0t T CCMT 060204 04 | 635 238
- 12T308L 08 | 126 | 7.93 | 39 5 | = 097304 04 | 9525 30 odl
APMT 160408L 08 | 1645 953 476 | o 097308 08 | 9.525 39 TV
170408L 0.8 17.6 | 9.53 | 4.76 " Toolholder) CPMT 090308 0.8 | 9525 3.15 (Toolholder)
190508L. 08 | 196 10 | 5.0 " | oes 120408 08 | 127 276 D43-44
250508L 0.8 254 " 5.5 " 120430 3.0 12.7 4.76
APMT 090208R 08 | 91 51 | 26 1" o .o
1 V. : CPMT 0802042 04 | 7.94 238
‘T—T ACMT 100308R 0.8 10.1 6.35 34 7
APMT 100320R 2,0 10.1 6.35 3.4 7 = 1N 0902042 0.4 9.525 2.38 = E_%
12T308R 08 | 13.14 | 7.93 | 3.9 1" L o oo 120308Z 08 | 127 3.15 T aRn
12T320R 20 | 1314 793 39 1| (Toolholder) 1502062 08 | 15875 4o (Toolholder) o
a 12T330R 30 | 1344 793 | 39 1| pss 5 1504302 3.0 |15.875 46 Da3-44 AL
150408R 08 | 1588 953 | 4.76 1" o oo im 1904082 08 | 19.05 4.76 %]
—_— I AT 150430R 30 | 1588 | 9.53 | 476 1 I (90302 30 | 19.08 476
& ) [ A
= Drilling and milling cutter m ‘Iﬂ‘ M DrillingAnd Milling Cutter | L2 - Ijm!
Bk " 1S YIBIB K (Cutting Parameters): R16 — ‘ = ’ ’ TRk
iﬁﬂ =" {HIE# (Cutting Parameters): R16 FR# (Spare Parts): P01-P04. N ‘ f*jj
FEM (Spare Parts): PO1-P04 g] °. % Drilling and milling shared wide ———
* Bottom-free state from drilling to milling process. L2 | 2d @ EI R, E R L1 scope of application
. P ctye ots, 5o he Gesh roug g, Ce 0 lahtprocessing "#‘ L @IS N, £ 5!‘ - X Gutting resistance, the load light
X = } Size 7] T 5 Insert 4R4T Screw | HFWrench n n p—
Bl e Rt Size 71k Insert 4R4T Screw | #RF Wrench Cg.{-.il R~ ND% — Stock Order Price Price B
TI#F c t-?\l- Stock at. No D d L L1 L2 a | flutes Number (RMB) (RMB) TJI#F
" at- o D | d| L ||| al|SS e TJUOB-08-100-1T § | 8 100 30 | - | 6 | 1] oo e 332700, - | 90
E . = -
ASJ16-17-160-4T 17 16 | 160 | 40 - 16 |ADMT080308L APMT09208R| M2.5%6/M2x5 T8/T6 e 332400 175 TU10-10-100-1T 10 0N 00N 6 | cpurosozoaz | M2o*6 e Sl 332707/ J67] S0 =X
%7l TR T T Ee T o 20 R T TJU12-12-130-1T 12 12 | 130 | 30 - 6 1 e [332704] 67 95 #%7]
= ASJ20-20-200-4T 20 | 20 | 200 | 40 - 20 ADMT100300L e 332404/ 215 ALACIEZ16120:27) 16 LGN 208 getc R 6 2 e [382706 93 1o —
= M2.5%6 T8 TJU16-16-150-2T 16 16 150 50 - 6 2 e 332708 93 120 =
a7 ASJ20-21-160-4T 21 20 | 160 | 35 = 20 ACMT100300L e (332406 200 TJU16-16-200-2T 16 16 60 100 6 2 332710 1 T
ASJ20-21-200-4T 21 20 | 200 | 35 - 20 e 332408 215 g 200 - 100} 150 a7
7] S RO R SRIRIETRRE . = 5 Eerrnl en TJU25-16-250-2T 16 25 | 250 | 60 - 6 2 e (332712 167 - 7]
s smmmow | o ||| | o Ll .75 A T e s
348 ASJ25-25-250-4T 25 25 250 75 - 25 ADMT12T30L e |332414| 270 CCMT 060204 M2.5x6 G
S M3.5x7 T10 TJU16-17-200-2T 17 16 200 60 100 6 2 T8 T15 e 332718 110 150 pid s
#5) ASJ25-26-160-4T 26 25 160 50 - 25 APMT12T300L . 332416| 230 TJU20-20-120-2T 20 20 120 40 - 6 5 CPMT 0902042 M3.5x8 . 332720 107 N Z3
ASJ25-26-200-4T 26 25 200 50 o 25 e 332418 250 -
TJU20-20-150-2T 20 20 150 50 - 6 2 e (332722 107 140
i1 2§j§£$g$$ g'g g: fgg gg - 32 : gggfég gzg TJU20-20-200-2T 20 | 20 | 200 | 60 | 100 | 6 | 2 o [332724 127 | 150 i1
Fo ASJ25-30-2004T 30 | 25 | 200 | 80 . 25 e 332424 260 LA02520;250:27) 20 2o 20l [y 5 g 2 o |3%2r26) 200 B rE
%71 ASI32-30-2504T 30 25 250 80 ~ 25 o 332426 280 TJU20-21-150-2T 21 20 150 40 100 6 2 e 332728 107 140 871
o ASJ32-33-1604T 33 32 160 80 B 32 o |332428 250 TJU20-21-200-2T 21 20 200 50 - 6 2 e (332730 127 - »
o8 A I R TR S - - W T TJU25-25-150-2T 25 25 | 150 | 50 - 9 2 e (332732 133 | 160 i
FX TJU25-25-200-2T 25 25 200 60 - 9 2 e [332734] 160 180 FR
¥ ASJ32-33-250-4T 33 | 32 | 250 | 120 - 32 APMT160400L e 332432 300
TIHE M4x9 T15 TJU25-25-250-2T 25 25 | 250 | 70 | 115 9 2 e (332736 200 | 195 TIE
ASJ32-35-160-4T 35 | 32 | 160 | 80 | - | 32 APMT150400L o (332434 250 TR e CPMT 090308
- - 300 70 - 9 2 M4x9 T15 e (332738 300 -
ASJ32-35-200-4T 35 | 32 | 200 | 90 - 32 e |332436) 275 TJU25-26-150-2T 26 25 | 150 | 50 ; 9 5 | CPMT120308Z o 332740 133 | 160
smmema | %) |z | 2 om saze s Ramaniar | oo | i (200 | & | 5| 5|3 L | e
- TJU25-26-250-2T 26 25 | 250 | 60 - 9 2 e [332744] 200 -
sl E AR A bR R : oo o SRR AN R AR DAL s g [ 7o
- TJU32-32-200-2T 32 32 | 200 | 60 - 12 | 2 | T 120408 e (332748 227 | 210
B CH W47 5N TJU32-32-250-2T 32 32 | 250 | 60 - 12 | 2| CouT1eo40sz | ME¥12|  T20 e [332750] 267 | 220
Screw Countersunk Head Milling Cutter TJU32-32-300-2T 32 32 300 60 165 12 2 e 332752 333 250
o EER (Coting P co N *— TJU32-32-350-2T 32 35 350 60 215 12 2 ® [332754] 400 -
= (Cutting Parameters)
B (Spare Parts): P01-P04 ot © ] TJUM %E%ij]
gg%?g;—ﬁi, —RMIEMR, ‘ L Boring & Milling Cutter(TJUM)
’ = ES 8 (Cutting Parameters): R16
E TR Rt Size 7% T Insert 4T Screw #]F Wrench FEH (Spare Parts): P01-P04
Cat. No D D1 d L1 [ |t 2 R &+ Ssize JIA Insert 86T Screw | F Wrench
CH-8-14-C25 14 2.9 25 21 108 1 e 332600 200 Cat. No D L d M Teeth
CH-10-17.5-C25 17.5 5.3 25 26 115 2 CCMT060204 M2.5%6 T8 e 1332602 200 . 4
CH-12-20-C25 20 | 7.8 | 25 30 | 120 2 : e (332604 200 TJUM162M08 16 | 35 | 85 M8 2 Comtosoa0ez M2.5X6 T8 e | 332800 | 150
g:ﬂgﬁgﬁgg gg 180-53 gg 3;{;5 gg g S gggggg 558 TJUM202M10 20 | 35 | 105 | mto 2 Com1os0204  |M2.5X6/M3.5X8|  T8IT15 o | 332802 | 150
= - ° 5 CPMT090308
CH-18-29-C32 29 | 115 | 32 | 435 | 139 | 2 |coMTooT30s|  M4x9 T15 o |332610] 300 TJUM252M12 2 | 40 | 125 | M2 2 CPuT 1203062 M4x9 s R e
CH-20-32-C32 32 | 145 ] 32 59 144 2 e [332612] 300 TJUM322M16 32 40 17 M16 2 e, M5X12 T20 . 332806 | 200




® S W
MZG Clami)-'ll"y;p%eil\}ilflﬁg%utter

E & ﬁlj % RS o REUM @ —MUME g FREDH
Guting Envirormen Stasle Cutting General Cuting uns ting
LAY Plm Steel °v vxxxve
M | FES Stainless Steel O O8BBOO
K | #&% Iron o 0 exxE
%E ﬁlj ﬂﬂ T NC| SRAsH/ 8RR AH Aluminum/Copper/Magnesium/Zinc/Plastic/Wood  |e .
S | BRAEBEAS Carbide/Powder Metallurgy o PR
HERES/BAE Titanium/Superalloy/Carbon Fiber 0 PYTY )
> z sio
A 7= mE R LA R~ MRS RS Dmension (mm) RENE | o gcoamn =R FemER LR MR e [y e (G REIH
(RS Veiching  [92285RRELEE [ Matching
5 Product Image Dimensioning Specification re A B T Tm;‘mdjr EEER R H Product Image Dimensioning Specification re A B T .
re e
Tz N, 4 EN
2 4 TCMX 090204 04 | 86 | 556 238 f=4 .« / TCMT 090204 04 | 86 | 556 | 2.38 =
y 110204 0.4 10 6.35 2.38 THE . B 110204 0.4 10 6.35 2.38 T
Vas " - 16T304 0.4 155 | 9.525 | 2.38 o ecee . 7 167304 0.4 155 | 9.525 | 2.38 (Toolholder)
(¥ (Toolholder) : /2 oolholder)
. ‘ D45 D46

R B SSP45° M AIAT] n I B SSO-15° #fA7] I =S i
aB SSP45° Positioning Chamfering Dln‘ TN/ | 15° Chamfering i A aB
hvs 4’» N L?a ’7 4"’J v
%71 L ‘ %71

L

=" FEH (Spare Parts): P01-P04 <
& o y . B S . ; B
gt o AYETIAA5" GIHE, IRAIMEA, VTR, WO E * This culter can be 45 ° cutting, chamfering can be done, groove cutting, drilling may be the use of central location o EA—MRBLAK, CNCH#K, CNCHEK, KM M o

o EA—fEEEAR, CNCEERR, CNCERR, KA MK % Suitable for general milling machine, CNC milling machines,CNC lathes, drilling chamfering 05" REH (Spare Parts): P01-P04 * Suitable for general milling machine, CNC milling machines,CNC lathes, drilling chamfering 7

‘3 BS Rt size N | BREE | BE | TIA psert | 8T s $#BF wrench i - kS
Bk sk = gt Lt e U § e i me R Size NH | BREE | HE| TIH et | BT Sorew | HF wrencn order  price [MELES
%7 Cat.No D d [or ] un [ L] e [h0]Cmamenne] angle Cat.No 5 ‘ p ‘ o1 ‘ % ‘ T ‘ | No.of | Chamfering| » 0\ Number ~ (RMB)
——— SSP-12-C12-110 | 12 | 12 | 0 | 30 | 110 | 45° | 1 |©0~@12] 45° | TCMX0902..| M2.2x5 6 e [333801] 200 _|ivies| _range i

iﬁﬁ SSP-15-C16-110 | 15 | 16 | 0 | 30 | 110 | 45° | 1 |@0~@15| 45° | TCMX1102..| M2.5x6 T8 o |333802| 200 551 6 1 VN I I WA Ot |53 O 11541 28 A 2B 1
7 SSP-20-C20-130 | 20 | 20 | 0 | 30 | 130 | 45° | 1 |@0~@20| 45° | TCMX16T3..| M4x9 T15 e |333800| 200 B SSVY-30° @7

El  f5/15

L

e
%7l ot ﬁlj 7] H' o EA—RUEK, CNCHIK, CNCEMK, #FEfM
—_— 1= REAF (Spare Parts): PO1-P04 % Suitable for general milling machine, CNC milling machines, CNC lathes, drilling chamfering =
E_JJ p— Py p— Rt Dimension (mm) REE e R~ Size T | Bl ﬁ_ B | TIA |nsert 82T Screw | #8F Wrench ook Order  Price E_FJ
7] . Matching Cat. No D d o1 ] u] L No. of |Chamfering| ,, oo Number ~(RMB) e
e ieEe BreReiET S re A B T " Mce‘r 2 |flutes| range 7]
— SSY-12-C12-110 12 12 3 30 | 110 | 30° 1 |@3~@12| 30° | TCMT0902.. | M2.2x5 T6 L 333840| 200

R LRA10304 04 | M | 835 318 SSY-16-C16-110 | 16 | 16 | 5 | 30 [ 110 | 30° | 1 |@5~016 | 30° [ TCMT1102..| M2.5x6 T8 o [333841] 200
PN B 110308 0.8 1 6.35 3.18 N
brid 160304 04 | 165 | 9525 | 3.18 =l S8Y-20-C20-130 | 20 | 20 5 30 | 130 | 30° 1 |@5~@20| 30° | TCMT16T3.. M4x9 T15 e [333843| 200 prig )
EX ]| 160308 08 | 165 | 9525 3.18 T E ]

220404 04 22 12.7 4.76 (Toolholder) _ ° —

L. reft " 220408 0.8 22 | 127 | 476 D25,045 u TCM 45° flfs7) _ = N
17 l—a J\eoor |1 220412 12 | 22 | 127 | 476 457 Chamfering A el #17
EFE 2204PDR - 22 12.7 4.76 > k. 7 'dl — EFE
%71 TPMR 090204 04 | 96 | 556 238 — %71

B 110304 0.4 " 6.35 3.18 .

o 110308 0.8 1 | 635 | 3.8 = \ ] -
i 160304 04 | 165 9525 | 3.8 N . i
Fot . 123303 03 | 163 9 310 {Toolholder) . o EA—RRERK, CNCHA, CNCEMR, $hREA FX
TIHE ; B A Neoor |1 22041% 12 | 2 | 127 | 476 Db A A.AH 5" FEH (Spare Parts): PO1-P04 * Suitable for general milling machine, CNC milling machines,CNC lathes, drilling chamfering kil

— I 330916 1.6 33 19.05 | 9.52 .
S R=F Size TR insert | 4T Screw | #/F Wrench Order  Price
Cat. No D 4 D1 1 L a SICEIS Number  (RMB)
H TP ° ° o T o TCM-20-C12-110 | 20 12 5 30 | 110 | 45° 1 | 95~@20| 45° ]
307 457 60 od1 . TCM-20-C16-110 | 20 | 16 | 5 | 30 | 110 | 45° | 1 |@5~@20 | 45° .
E? ﬁfﬂ © B s TCM-25-C20-110 | 25 | 20 | 5 | 30 | 110 | 45° | 1 |@5~@25 | 45° | TCMT16T3..| M4x9 T15 D
amiering TCM-30-C20-110 | 30 | 20 | 10 | 30 | 110 | 45° | 1 |@10~@30| 45° .
\ a’ L2 TCM-40-C20-110 | 40 | 20 18 | 30 | 110 | 45° 2 |@18~@40| 45° o
L
B SSH-60° ffA7 — — =
® 7TJ30°/45°/60°4H|, TR * Canbe 30°,45°, 60 ° cutting, can be chamfered 60° Chamfering ' A
= BEE (Spare Parie) PO1POL o BEAMI bR —AREKR * Milling machine for machining centers and general use. p| o1y v o e
e R+t Size BfEE | 7ydy | PHInsert EARClamp | #84T Screw | #EFWrench Bl order | Price - Z,W .
il . o . oo L
Cat. No a°| D [dl| d | L |L2 Chf;"ﬂff;"g Z‘&;’ A ﬁ 74 Number (RMB) o
TP16R30C20-40-120-2T | 30 | 40 | 27 | 20 | 120] 90 | ©27-@40 | 2 | TPMN1603..| TP-16 | 1/4%F L4 | *|333400] 200 :ﬁ—ﬂ_"“m' CNCHEFR, CNCE, #iik A
—20- w o = F®# (Spare Parts): PO1-P04. Suitable for general milling machine, CNC milling machines,CNC lathes, drilling chamfering
ThioR4502020-11047 | 45 | 25 | 5 | 20 | 110 60 | os.pzs | 1 |TPMNIe03.| Te-te | 1 | e | JI5S0G) d00 . :
-25-110- Bl R+t Size T | ERER | AE | IR jpsert | ¥ screw | |F wiench Order  Price
TP22R45C20-32-120-1T | 45 | 32 | 10 | 20 [120] 90 | ©10-@32 | 1 333406 250 it it 8 \umber | (RvB
7 et Mo d | D1 | L1 | L | a |y 9| Angle A ey | ()
TP22R45C20-32-130-2T | 45 | 32 | 10 | 20 | 130|100 | @10-@32 | 2 | TPMN2204..| TP-22 |5/16%% L5 ©[333408| 250 D flutes| range
TP22R45C20-50-130-2T | 45 | 50 | 26 | 20 [ 130|100 | @26-@50 2 ©333410| 300 SSH-15-C12-110 15 12 4 30 | 110 | 60° 1 |@4~@15| 60° | TCMT0902.. | M2.2x5 T6 ° 333820 200
TP16R60C20-25-110-1T | 60 | 25 | 10 | 20 [ 110 80 | @10-@25 | 1 | TPMN1603..| TP-16 | 1/4% L4 ©[333412] 200 SSH-18-C16-130 | 18 | 16 | 4 | 30 [ 130 | 60° | 1 |@4~@18] 60° [ TCMT1102..| M2.5x6 T8 e [333822] 200
TP22R60C20-40-120-2T | 60 | 40 | 16 | 20 [120| 90 | &16-@40 2 | TPMN2204.. | TP-22 |5/16% L5 ® 333414 250 SSH-25-C20-130 | 25 | 20 5 30 | 130 | 60° 1 |@5~@25| 60° [ TCMT16T3.. M4x9 T15 ° 333824| 200




® S W
MZG Clami)-'ll"y;p%eil\}ilflﬁgjjcmter

LEJJ % 7]“ T DS o BEUN ¢ —MUH g FREOM
Cutting Environmen St Cutting General Cutting Uns tting
P|l#® Steel e wxxxve
M | FES Stainless Steel O O8BBOO
K| #% Iron o v vrrs
m
| N | 2R85B R A Aluminum/Copper/Magnesium/Zinc/Plastic/Wood | . 0
%;E ﬁj 7] )ﬂl_ s | Bmesmras Carbide/Powder Metallurgy B ™ %ﬁf ﬁlj 7] H‘
HERES/BAE Titanium/Superalloy/Carbon Fiber 0 PYTY )
>
L SRS s L T%?T oi2gs838883 ERER MRS awpe Rt Dimension (mm)
- e ES CUEREER) SPERIEETEn [t - B u 2 Toolholder |8 OORRN RN R Product Image Dimensioning Specification re A B T
re
4 =
8 ADNT 160308SR 0.8 |15.875  9.525 3.18 150 | ME: o« o o g’/ 110 APKT 1135PDER-G2 08 | 11 | 635 | 35 N o
e (Toolnolder) Y 1604PDER-G2 | 08 165 0525 476 (Toolholder) .
85° A D23,047 . T D14-D16
D48,D52
HEFRERER
ol fer copr alanium ot
s M SSK-A5 2HEREAT i s
&R SSkas5 Discarding Chamfering Y 11° APKT 160402-AL 02 | 165 | 9525 476 LI . a8
37 T 160404-AL 04 | 165 9525 | 476 (Toolholder) . 3
I 160408-AL. 0.8 16.5 | 9.525 | 4.76 D14-D16
%7 /o1 U d T . @7
i ) 048,052
D) o A4 TIWAST IHI, IR, VIRTIE [y S
— smtse 1 . T ALK, ONCHIE, CNCEIR, #RHEA 1o coppr dominom A
* This cutter can be 45 © cutting, chamfering can be done. "
7] 5 E# (Spare Parts): PO1-POA * Suitable for general milling machine, integrated machining center. = 7]
e APMT 1135PDER-M2 | 0.6 11 635 35 N o eeee
Tkk BE R+ Size N | BATEE | BE | TTH nsert | 8T screw | 1E8F Wrench Order  Price [[SCIEDERMZ| 08 | 165 | 9.525 | 476 (Toolholder) DR - &
%] No. of |Chamfering & ) ST \umber  (RMB) T D14-D16
Cat. No p | d [or [t [ [ a |ha]hamerns] ange [ e | s D48.D52
sy  SSK-20-CP0-130N] 20 | 20 | 8 [ 30 [130]45°| 1 [©6~020] 45° | AD..1603.. | M4x8 T15 . Goneral processing
TIFF
4
ﬁu % 7]” T ) APMT 1135PDER-H2 08 | 11 635 35 ER o eeee
1 1604PDER-H2 08 | 165 | 9.525 | 476 (Toolholder) . ceee
T D14-D16.
D48,D52
s ]
ok YEHIT) R .
%7l
—_— EREE R e Rt Dimension (mm) BRERE N B AR
= Matchin: 0zz3shIeeee =
= AT S Speciictin R ¢ | onocer |238830RERAY =
"7 oolholder &7
7] /e 7]
R o 1D 1 — SPMW 090304 04 | 9525 0.525 3.8 1o | s o e e e
x: 7 I, \j A (Toolholder) 3
# 4 N ety
iy ) SDMB 26152 04 | 83 | 83 25 15° | par o e oee %
E3]l T ]
. o — S
I —— W SSK45° & EREAT = x
SSK45° Discarding Chamfering m w7

7] Chamfering ) _ o
Y  AFRSMEBMI, HEEMT
N D) D‘7<O§ 9 e IRAMKAESW, EARTHER, BEF 2]
a — o
L1

F * For internal and external chamfering p sing, end-groove FR

ﬂ*ﬁ o SR (Spare Parie PO1P08 L % Blade shape is square, use indexable four times more economical.
Iddiid a4

me R Size 7% | @A | BE| DA nsert | 4T screw |#HF wrench Order | Price D1 7@ "I
A L1 L T

o

Chamferi
Cat.No D | d [ D1 1] L[ a |hoof|chamtens)ange & Number ~ (RMB)

SB-16-C16-110 15 | 16 3 30 | 110 | 45° 1 |@3~@15| 45° | SPMW0903 M4x8 T15
SD-03-C12-110 12 | 12 4 30 | 110 | 45° 1 |@4~@12]| 45° | SDMB26152 M3x7 T8

a=45°

B SD-45° msn i)

Internal And External Chamfering

}!}]} o KEETIAIA5" UIHI, IRATHEEIA, VBTN

« AFRSMEAMI, HEMMT A |
© IHMRAEST, ERATEER, BEF ¢ BE—BER, CNCHR, CNCER, EREA
% Forinternal and external chamfering processing, end-groove. % This cutter can be 45 ° cutting, chamfering can be done.

1= LERMH (Spare Parls): P01-P04

* Blade shape is square, use indexable four times more economical. * Suitable for general milling machine, integrated machining center.

== TEM (Spare Parts): P01-P04

#S R+ Size T | ElfAEE | AE | IR nsert | #$T screw | |MF Wrench Order  Price
e R+t Size DL 4 fﬂ]%?ﬁE FBE | TIR Insert | BT screw | #RF Wrench Order  Price cat. No D d D1 | 11 L a | No.of |Chamfering| 5o E & ) SICEI Number  (RMB)

Cat. N No. of |Chamfering SICEE Number  (RMB) flutes | range
Lo D | d D1 L] L | @ |fies| range |A"9 SSK-15-C12-110 [ 15 | 12 [ 5 [730 [110 [ 45° [ 1 [@5~@15[45°| 12.5x6 T8 e [333710] 200
SD-12-C16-110-1T| 22 | 16 | 12 | 30 | 110 | 45° | 1 |012~@22| 45° . SSK-16-C16-110 | 16 | 16 | 5 | 30 | 110 | 45°| 1 |@5~@16] 45° e X e 333712 200
§D-25-C20-110-2T| 25 | 20 | 15 | 30 | 110 | 45° | 2 |015~025 45° | o oo c o | oo T8 . SSK-20-C16-110 | 20 | 16 | 8 | 30 | 110 | 45°| 1 |@8~@20] 45° e [333714] 200
SD-20-C20-110-2T| 30 | 20 | 22 | 30 | 110 | 45° | 2 |@22~@30| 45° . §SK-20-C20-130 | 20 | 20 | 8 | 30 | 130 | 45° | 1 |@8~20|45°| . o, idx9 s e |333716| 200
SD-30-C20-110-2T| 40 | 20 | 30 | 30 | 110 | 45° | 2 |@30~@40| 45° . SSK-20-C20-200 | 20 | 20 | 8 | 30 |200|45°| 1 |@8~@20| 45° - - e |333718| 200
SD-40-C20-110-2T| 50 | 20 | 40 | 30 | 110 | 45° | 2 |@40~@50] 45° . SSK-25-C25-120 | 25 | 25 | 10 | 30 | 120 | 45°| 1 |@10~@25| 45° e |333720| 300




® S W
MZG Clam?-'ll"ygfeil\}ilflﬁgjjéutter

B BMC/MC #if7) =) B CA X fAnkT]
BMC/MC Chamfering L CADouble Chamfer Countersunk Head Cutter

ih o b
gos oy

. o MR, ERAERELMA, AORER, RSN
= Spare Parts): P01-P04
(Spare Parts): PO1-PO * AAriety Of Angles, Applicable Hole Back And The Edge Chamfer, Reduce Secondary Clamping, Time Efficient!

T i F Wrench -
= R T Ssize J1K Insert 84T Screw Eit Order | Price
Gat. No sed B2almeoexl| (O] & Sl \mber (RMB)
%% BMC09-3015D-C20-150 30 15 20 | 150 ® 333200 350 %%
AR BMC09-3030D-C20-150 30 | 30 | 20| 150 o |333202| 380 o am
%EALJJ BMC09-3045D-C20-150 30 | 45 20 | 150 o [333204| 400 i&tuﬂ
BMC09-3060D-C20-150 30 60 20 50 333206 400
. MC09-1215D-C20-135 12 15 20 :35 SDMT090308 M4x9 T10 : 333208 300
[ A MC09-1230D-C20-135 12 | 30 20 | 135 o [333210] 300 D d B fa
7] MC09-1245D-C20-135 12 | 45 20 | 135 o |333212| 350 %7
. MC09-1260D-C20-135 12 60 20 135 ° 333214 350 =
%71
W EREET =)
shg Inverted Chamfering m
- L [—— : :
— o | |
E$ S 45“1% ‘
7] i L2 L1
E:m o , S REM (Spare Parls): PO1-P04 E:Il
H7) i = B | A7, | 8 | B | B0 | gy | 0 Scrow |5 von] DAsen order price
R % Noneed for reverse running of spinds that minimizes defect of tool £ 5| Eg| Eg | AE| R |RT | HEE| S & Bitels Number (RMB) R
iy 55 ®RHF (Spare Parts): PO1-PO4 % Specially designed body gives maximum rigidity. CatiNo D D1 H A c d L - Brid 7y
%51 . CA1218-6.5 | 18 | 12 | 6.5 | 0.8 | 0.8 | 25 | 100 - [333920 365 %51
i, s RiiS]ze Jf Jnsert | MR Rerew | REWGND | R CA1521-6.5 | 21 | 15 | 6.5 | 1.0 | 0.8 | 25 | 120 cemTl v [333922 365 ——
%g ek (9 D | d|Clt|L2|13|E [0\ & Number (RMB) CA1622-65 | 22 | 16 | 6.5 | 1.0 | 0.8 | 25 | 120 | T8 |M2.5X6 ;oo - [333924 365 %g
G I N B 0 I R A sl Ch202665 | 26 | 20 | 65 | 0 | 08 | 25 | 120 “| - fsaod ses g
" BC-2721 27 | 21 | 25 | 56 | 70 | 13 | 3.2 | TCGTi0204 | M2:565 e e (333104 380 CA2026-8.5 | 26 | 20 | 8.5 | 1.0 | 0.8 | 25 | 120 > 333928 365 ”
5;% BC-3124 31 | 24 | 25| 56 | 80 | 13 | 3.7 o 333106 380 CA2531-6.5 | 31 | 25 | 6.5 | 1.0 | 0.8 | 32 | 120 - 1333930 365 ;ffi
TR CA2531-85 | 31 | 25 | 85| 1.0 | 0.8 | 32 | 120 . [333932 365 e
— m ERERLT CA2531-10.5| 31 | 25 [10.5| 1.0 | 0.8 | 32 | 120 - [333934 365
Inverted Countersunk Head CA3036-8.5 | 36 | 30 | 85| 1.0 | 0.8 | 32 | 120 - [333936 365
CA3036-10.5| 36 | 30 |10.5| 1.0 | 0.8 | 32 | 120 - [333938 365
I B CAS41-10.5| 41 | 35 | 10.5] 10 | 08 | 32 | 120 - 353943 433
PN c - . . . . .
Dl ﬁﬁﬁ,/gg J CA4046-10.5| 46 | 40 [10.5| 1.0 | 0.8 | 32 | 120 - [333944 500
2 ‘ CA4248-10.5| 48 | 42 |10.5| 1.0 | 0.8 | 32 | 120 cCMT| ¢ [333946 500
1] | | CA4552-10.5| 52 | 45 [10.5| 1.0 | 0.8 | 32 | 120 | T15 M4.0X9 jora | . |333948 548
CA4855-10.5| 55 | 48 |10.5| 1.0 | 0.8 | 32 | 120 - [333950 548
QALAMT, wmBiLA CA5057-12.5| 57 | 50 |12.5]| 1.0 | 0.8 | 32 | 120 - [333952 548
o IR i CA5562-10.5| 62 | 55 | 10.5| 1.0 | 0.8 | 32 | 120 - [333954 548
CA6067-15.5| 67 | 60 |15.5| 1.0 | 0.8 | 40 | 130 - [333956 705
ms R Sine JJert qq}érew :ﬁ}‘”@"w S Order  Price CA7077-12.5| 77 | 70 |12.5| 1.0 | 0.8 | 40 | 130 . [333958 820
a. o D d [fC L2 Ls | E Number (RME) CA7077-15.5| 77 | 70 |155| 1.0 | 0.8 | 40 | 130 - 1333960 820
e I R B I e ol B T8 o 355508 500 CAB8088-15.5| 88 | 80 | 15.5| 1.0 | 0.8 | 40 | 130 - [333962 978
M16-2617 26 | 17 [ 20 | 50 [ 50 | 13 [4.85[ oo 0o e (333904 300 CA8088-20.5| 88 80 |20.5| 1.0 | 0.8 | 40 | 130 * 1333964 978
M20-3321 33 | 21 | 25 | 56 | 70 | 13 | 6.4 | [loreonod M4x9 T15 e [333906] 300 CA9098-20.5| 98 | 90 |205| 1.0 | 0.8 | 40 | 130 « 1333966 1115
M24-4025 40 25 25 56 80 13 7.9 ° 333908 300




LR 8k T]

EREET]

B APKEXRIZHTIHF
APK Corn End Milling Cutter

MZG'
A ERBGHTIR (EEDHSY )

Indexable corn milling cutter (Recommended cutting parameters)

Clamp Type Milling Cutter

o Q0 -
M T BB A R B A% i -
Groove milling Step milling Deep step milling t
ae ae ae 7% o _
[=] o
\aY)
. o EUAMEART), MR —ESU—
Iap Iap o RYFANAHMEERAE, ZRRAMME. - |
s ap o e om0 % o s st i, e e o e e Go0s an
=1 a
ﬁﬁ / % 7 E:R=3 R+t Size T TR T Insert 4R4T Screw | #%F Wrench Order  Price Eﬁ
%7 P - w Cat. No D d L1 I A SEES L oer (Rus) G S)
Mo | ae5J]RE&E—Hap<0.5D ae<0.5D ap<1.2D ae<0.2D ap/M FHIHI 71K C20-20AP11-28-125-2T 20 20 28 | 125 | 2 6 e 1334500 1750
ki SIS - C20-20AP11-35-110-2T 20 20 35 | 110 | 2 8 o |334502| 1040 B
| %7 e IH*—J B il YK & Cutting amount C25-25AP11-38-130-2T 25 25 | 38 | 130 | 2 8 | AP.1135. | M2.5X6 T8 o 334504/ 1900 %71
. A 3 RN T C25-25AP11-35-120-2T 25 25 | 35 | 120 | 2 8 o |334508| 1280 N
s B 7R 2k # Square shoulder milling C32-32AP1148-150-3T 32 32 | 48 | 150 | 3 12 o |334508| 2750 Bk
#7) Processed - Inserts Wi () f(mm/z) C32-32AP16-55-135-2T 32 32 55 | 135 2 8 o [334510] 1440 %7
sy | Material il ML Finish | 414 Medium| & 418 Heavy Czonpiosstasar | 40 | 32| s | s | 2| 5 | APE4. | meoxiz | Tis O Gill T e
kil ZP151 C32-50AP16-55-1354T 50 32 55 | 135 | 4 16 o |334516] 1880 ZLi
ae 7P163 270(240-350) | 0.1(0.08-0.2) 0.2(0.1-0.3) | 0.25(0.2-0.35) C50.8-50AP16-80-205-3T 50 | 50.8 | 80 | 205 | 3 18 | APKT1504.. e 20 o |334518| 5440 ppa
g " C50.8-50AP16-125-250-3T | 50 | 50.8 | 125 | 250 | 3 | 29 |SPMT45272.. o |334520 6480 gl
=1 g%‘ﬂﬂ <180 ZP201 | 220(180-300) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) B AP B ERBEST]
. Mild Steels ZP153 | 270(200-360) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) AP Integral Type Maize Rough Milling Cutter
= ZP152 | 240(180-350) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35)
wn ZP151
" ZP163 | 240(210-320) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) T
we | BER. g0 080 ’
75 | AeW - ZP201 | 200(160-280) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35)
=" S ¥ (Cutting Parameters): D51
17 Carbon Steel & ZP153 240(180-360) | 0.1(0.08-0.2) 0.2(0.1-0.3) | 0.25(0.2-0.35) FRH (Spare Parts): PO1-P04
FE Alloy Steels HigE S Dimensions |71 B | 7
%77 ZP152 | 220(150-330) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) s Dimensions |71/}
" 2P 151 T M e "
€ - - - - 334552 |BT40-63AP16-110-160-4T 1 i
Fx Zpie3 | 220(180-300) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) 334552 |BT40-63AP16-110-1604T | 63 | 110 160| 24 pa
Sk a% 280-350 BCfF(Accessory):  JIH:APMT1604.. $BET:M4X10  $RF:T15 7
TEW ZP201 | 180(150-250) 1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) J -
I
Die Steel ZP153 | 220(160-340) 1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) B APC FXREUEHTIE
Comn Th Rough Milling Cutt
ZP152 | 200(120-300) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) O Type Fougn Wing tutter
ZP153 170(120-240) 1(0.08-0.2) 0.2(0.1-0.3) | 0.25(0.2-0.35)
R <270 ZP152 160(150-270) 1(0.08-0.2) 0.2(0.1-0.3) | 0.25(0.2-0.35) : ﬁ?}?iﬁﬁ;jﬁgg;gﬂiﬁ%xﬂﬁz
ZP151 | 150(110-270) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35) e g pertormanee based rough miling, deep Hole an be processed
Stainiess Steels *  Arbor size can be arbitrarily change the depth of maximum efficiency.
ZP150 | 140(100-250) | 0.1(0.08-0.2) | 0.2(0.1-0.3) | 0.25(0.2-0.35)
200(120-240) | 0.1(0.08-0.2) | 0.2(0.1-0.3 R o by parenad
ek 180-250 ZK50S ( ) ( ) ( ) TRt ) .
Castlron ZK50 180(120-300) | 0.1(0.08-0.2) 0.2(0.1-0.3) cﬁt?\l 5 Rt Size IR HT SRS clel EEAEEn
at. No d A H
-AL D50AP16-22-42-65-31 50 22 42 65 9 ®  [334530] 2750
D50AP16-22-70-90-4T 50 22 70 90 16 _ o |334532| 3040
- - D63AP16-27-42-65-4T 63 27 42 65 12 €S| .
BEs --- ZK01 300 0.2(0.08-0.4) D63AP16-22-70-90-4T 63 22 70 90 16 BE M4 T15 . ggjggé gggg
D80AP16-32-70-100-5T 80 32 70 100 16 .
Aluminum PCD 300- 0.2(0.08-0.4) DB0AP16-27-110-135-4T| 80 27 | 10 | 135 24 e e e




Clam?-'ll"?feil&iﬁﬁgjjcmter E. ﬁlé {E-;E jj

B SPC EFEREKREMHET

SPC Integral Type Maize Rough Milling Cutter L
= YI8IE® (Cutting Parameters): D51 [—
ERs o BEUHM ¢ —muE g TR REM (Spare Parts): P01-P04 _ 1_<‘
Cutting Environment Stabl Cuting Ganaral uttin Unstabl Cuting

k2] Steel v wxERee T 1 .

TR Stainless Steel O OBBHVO B2 fF(Accessory): I

€ tron U TIH:LPMT1504..

SRAR R Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o . SPMT1204..

BEAS BFRAE Carbide/Powder Metallurgy o rRee BRET:M5X12

R & B Titanium/Superalloy/Carbon Fiber o znoe ﬁ¥:T20

FREH AR MRS bRy BIRIEE (i) E‘E‘f?ﬁ L $25 953383 MigES Dimensions | J1H % | 71%
Product Image Dimensioning Specification re A B T T;‘:‘;W’:r 8835%3%55&& Specification D|L1] L T Edge
334214 |BT40-SPC40-60 40 | 60 | 107 4
“ : sezewammnrs e o R A R
APKT  150412-PM 12 1633 | 127 | 476 = =g 2 -
afA 150412-KM 12 | 1633 | 127 | 476 ELE ® SHORKE, RAELE. ) 334220 |BT50-SPC63-80 63 | 80 [153 4 B
&R LPMT  150412-PM 12 | 1633 | 127 | 476 (Toolholder) * The overall structure, cutting better rigidity! 334222 |BT50-SPC80-120 80 | 120|188 4 aB
37 150412-KM 12 11633 | 127 | 4.76 D53-D54 OMCid * Avariety of cutting length, flexible choice. 334224 |BT50-SPC80-150 80 [150]/203 4 3L
%l %l
Te A 4
B e - B HMPO1 BFX EXRKEMEHT) an
i A SPMT 120408-PM 08 | 127 | 127 | 476 . ) .
. B {) — 120408.KM 08 | 127 | 127 | 476 ﬁ'f"mmm oMM HMPO1 Integral Type Maize Rough Milling Cutter

HE;: S o " D53-D54 f*;:
7] T #%7]

W SPM EHK18E 71
SPM Corn End Mill

05 YIHISH (Cutting Parameters): D51
REH (Spare Parts): P01-P04

© SMEEREMART], RMNTRAL.

O RYATH7IFHMETRRE, KERANE.
* High-performance-based rough milling, deep hole can be process
* Arbor size can be arbitrarily change the depth of maximum efficiency.

ls T\
J D0 o A
B~ D
o L1 *
—— | L
I 50 P
 si T Insert T Screw | F Wrench

B3| me R~F Size a5 - nse crew N - om| Price 71
Py Cat. No D | d | L1]| L |Fore N t| o] |T| [0 & A S Number (RMB) EET 17
T SPM-32-120-40-C32 | 32 | 32 [ 40 [ 120 334600/ 1200 b S . % @
7] SPM-32-150-40-C32 | 32 | 32 | 40 | 150 SCMT09T304 334602 1300 ‘ : = || 2 5 EV

- SPM-38-120-40-C32 | 38 | 32 | 40 | 120 J e s 334604) 1400 L o | -

#  SPM-38-15040-C32 | 38 | 32 | 40 | 150 . 334606] 1500 ; %
FR SPM40-150-50032 | 40 | 32 | 50 | 150 P27215-3 | 12 [SDMT090308] M4 T15 334608 1600 FR
T SPM40-170-56L-C42| 40 | 42 | 56 | 170 LPMT1504 | 15 | SPMT1204 | M5 T20 334610 1800 VL]
———  SPM-50-200-77L-C42| 50 | 42 | 77 | 200 LPMT1504 | 14 | SPMT1204 | M5 120 334612 2000

SPM-50-250-158-C42| 50 | 42 | 158 | 250 LPMT1504| 30 | SPMT1204 | M5 120 334614] 2200 ~_
713k 7 4R 0

B SPC EREMESTIA

ik

owm>>>>>
ENENUNIEN (AR
®© o0 0000 o0

NN SN

i IS YIMIS % (Cutting Parameters): D51 Detachable head
CornType Rough Milling Cutter e
T si TR Insert 424T Screw |#RF Wrench .
me R See EF | % @It | [FilC
= B H (Cuttin Cat. No D | L2 | L1 | L |Figure|Edges|T El T @ & /A Number (RMB)
REH (Spare

HMPO1- 050-84-BT50-SP12 50 | 84 | 145|246 A | 4 |2 16 334620] 9000
o - 063-74-BT50-SP12 63 | 74 | 135|236 | A | 4 |2 14 334622 9000
O mMRBARN, MTRAL. = 063-104-BT50-SP12 63 | 104165266 | A | 4 [ 2], oo 120] (ono o | g [334624) 9000
O RYFAETIAMBEMRE, RERKALE. 063-134-BT50-SP12 63 | 134 [ 195|296 | A | 4 |2 26 334626| 10000
 lan-performance based rovan miling, deep hole can be proceseec. 080-104-BT50-SP12 80 | 104 | 165|266 | A | 4 |2 20 334628 10000
orse by changs e depth e marmam efieeney 080-144-BT50-SP12 80 | 144 | 205 |306| A | 4 |2 28 334630 12000
HMPO1- 050-84EC-BT50-SP12 | 50 | 84 | 145 | 246 | B | 4 |2 16 334632] 10000
e R~ Size 75 Insert 24T Screw 063-74EC-BT50-SP12 63 | 74 | 135 | 236 B 4 |2 14 334634/ 10000
Cat. No D q A H (7% o] | T] © |7 063-104EC-BT50-8P12 | 63 | 104 | 165|266 | B | 4 | 2|, o000 20 (oo o | (334635 12000
SPC-80-31,75.80L 80 | 3175] 67 | 80 | 6 [ oot Ioovmizoal 18 » 063-134EC-BT50-SP12 | 63 | 134 | 195|296 | B | 4 |2 26 334636 13000
SPC-80-32-80L 80 | 32 | 67 | 80 | 6 o 080-104EC-BT50-SP12 | 80 | 104 | 165 | 266 | B | 4 |2 20 334637| 12000
SPC-100-40-100L 100 | 40 | 77 | 100 | & |LPMT1504] 4 |SPMT1204] 24 W5 T20 o [334404] 4500 080-144EC-BT50-SP12 | 80 | 144 | 205|306 | B | 4 |2 28 334639 13000




LR 8k T]

Clamp Type Milling Cutter

E=R B SMT TRETI &
VI mI T-Slot Side Mill

o BEIM e ® JREIN
El Steel o0 wrx%ve
TR Stainless Steel O OsBHEVO
Er Iron o o vzzz
SRR/ BRL AR Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o .
BRAGHREE Carbide/Powder Metallurgy o xx00
HmRA S WA Titanium/Superalloy/Carbon Fiber 0 2n0e
EEEE AR R~ Dimension (mm) BETIWR 2zgnne
Matching aReeee
Product Image. Dimensioning A oagaan
< ;j £ : ! . SEGLEEEE M 1" FEAF (Spare Parts): P01-P04
e .
. TGF32L 150 04 20 15 | e oK me R~t Size T J1F Insert #2¢T Screw | #®F Wrench order | Price
: i 200 0.15 28 2.0 o e
%ﬁ 8 T sszam 250 015 | 16 | 258 | 318 25 | 28 . e Cat. No Dmin| D | D1| L i — A Number (RMB)
RSl b r More Type o 018 5 32 | oesoss Sl SMT63-22T43-6 | 63 | 50| 22| 50 6 TT430 M5x 13 T20
%7 ‘4.‘ I A25 80-27T43-8 | 80| 50| 27| 50 8 TT43L M5x13 T20
—_— a
s GF32L 150-RO. =l ] an
) .7 0.75 20 R0.75 . .o |
%71 @ TR ORTD 1.0 6 | 28 | 5ug R10 | n#: PR ATS TaIfEEET] #7
— 37 22 250-R1.25 125 10 28 R1.25 | {toolholder) o e T-Slot Side Mill
Bk PA More Type 300-R1.5 15 2.8 R15 | Despes . e
7] =5 A25
a0z
ot . N AR,
— e - 3 T o o e
TR b I I 33 | oo 2330 2 2
TIFF 500 0.2 50 | DSs-Ds6 cee o o se -
Ex L1 }7
%] 2y TT43L  200-R1.0 1.0 RO | 1 offol T
: égggii: 11;: 2 | a5 | 50 Ei{ mﬁ‘: . BN 1 SR# (Spare Parts); PO1-P04
: 200-R2.0 3.0 RoD | Seeoen ool = Rt si T Insert | #84TScrew | #&FWrench .
500-R2.5 25 R25 P BS (45 TI% o Order  Price
Cat. No D[ d [ D1 L | 1] L2 ][ L3 |Nooffues Number (RMB)
| ATS-24-11 24 25| 12.5| 112| 80 21 11 2 CCMT060204| M2.5X6 T8 o 335500{ 300
j&’p; ) ATS-31-14 31 32 16 | 120| 77 30 14 4 CCMT080304 M3x7 T10 e 1335502| 320
B [ ] SMT T ] ATS-39-18 39 32 20 130| 80 32 18 4 CCMTO09T308 M4Xx10 T15 o 335504| 350
E3 ) g-_' *g %;E 7] ATS-49-22 49 32 26 | 140| 80 39 22 4 CCMT120408| M5X11 T20 e [335506] 400
%07 T-Slot Side Mill
m W o500 —REEBATRT 1
890 Integrated high power T cutter LMJ
;_ﬂ‘;t 15 RES (Spare Parts): PO1-P04 e H?‘lt
I\ W I\
k) =y TIHE
. =
ji
D
2
\ A
11—
SMT25 o SN — XM, EEREMIEMER! L
SMT32 % High rigid integral structure, so that the cavity processing more easily!
1 R (Spare Parts): P01-P04 B = T B I HI 3R A Stock Order Price
Blade D w d| L
me R~t Size T J1F Insert 4247 Screw | #WF Wrench Stock order [ Price Cat. No number| Diameter | Cutting width Insert Number (RMB)
Cat. No D | D D1 L L1 No.of flutes A Number (RMB) o
SMT 25-25KT32-1 25 25 17 125 | 56 1 TGF32L M3.5X10 T15 . 335530| 500 890-220172R98.5-BT40 8 98.5 8 2136 335100 2600
32-32KT32-1| 32 | 32 | 24 | 125 77 1 TGF32L M3.5x10 T15 e |335532) 600 890-220172R96-BT40 8 96 8 21| 36 | N331.1A-054508 ° 335102 2900
39-25KT32-3 | 39 25 30 125 | 23 3 TT43L M5X13 T20 o 335534| 800
44-25KT43-3 | 44 | 25 | 36 | 125 23 3 TT43L M5x13 T20 o |335536] 1000 890-220172R115-BT40 8 115 8 21| 36 4 335104 | 3400




LR 8k T]

Clamp Type Milling Cutter

B DMP TE!#E#%T]
T-Slot Side Mill

BLHIM T

LIUES e BEAN e cman g TAzaw UL
P|® Steel o0 wzzRee " .
M | FHER Stainles: © OsBBOO °
K | &% Iron e 0 exxx AN
N | $3AR- 90/ 8 R Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o . [a] T ©
S HBERAEMKASE Carbide/Powder Metallurgy BT D1
- SEEA S WA Titanium/Superalloy/Carbon Fiber o PPN 7‘
mREH AR MRS RS Dimension (mm) ¥o_ _o-oaoo ' L
Productimage S A 8Zzsecsiiic
- . _ _ R = B v @ OONNNNNNNN = REH (Spare Parts): P01-P04
rre )
S = R~ Size 5 T 5 Insert | $RET Screw | #RF Wrench i
| f:\\ MPHT 060304-DM 04 | 635 | 635 3.8 <4 . e Ci"? 7]?& JSPP| Order | Price
&) 5 W |0 oo in : 2 G N T T A e aoer (%) S
A / . e (Toolholder) Op°
\J 1o etherten DMP06-21-9 21| 25| 10| 100 9 | 32 1 MPHT0603.. | M2.5X6 T8 e [335510] 400 ﬂf
- Z. T DMP06-25-11 25| 25| 12| 100| 11 | 35 1 MPHT0603.. | M2.5X6 T8 e (335512 500 AL
DMP08-32-14 32| 32| 15| 110| 14 | 45 2 MPHTO0803.. M3 X7 T10 e (335514 600 7
& DMP12-40-18 40 | 32| 19| 125| 18 | 55 2 MPHT1204.. | M5X11 T20 e (335516 700
5&77 BDMP ZENGT(EOR) 7,‘, — DMP12-50-22 50 | 40| 25| 140 22 | 65 2 MPHT1204.. |  M5X 11 T20 e [335518] 800 %
DMP three-sided edge milling cutter (bayonet type) ‘
TR Sk = e _ | sk
i B DNP =ZEJHTITIZR %
. DMP Three-sided Edge Milling Cutter (cutter Type) s
TIFF
il
TIFF
* an
%) ’»
£
©
=l
| ol
i
#71 @D =
| acC
17 ©
FE st ——
%7 =
Ei o -
FR g
k) v
H 1%~ E&H (Spare Parts): P01-P04
1= S (Spare Parts): P01-P04 R Tj’ Size T K Insert 84T Screw RF Wrench .
B S E:S Stock NOrdsr :\'Acs
) o R ~ Size B K Insert 94T Screw #F Wrench o Pri Cat. No oD |@C |@d|ap| W | H Z umber ( )
&5 Stock | Sl | R DMP06-08008-B22 | 80 | 45| 22| 8 [10.4| 40 | 10 e |335300] 1500
Cat. No @D |@C |@d| ap| H| Z Number (RMB) :
DMP06-10008-B27 100 55| 27| 8 |12.4| 40 | 14 MPST060304 M2.5X6.5 T8 ° 335302| 1600
DMP06-08008-K27 80 41 27| 8 121 10 ° 335200 1400 DMP06-10010-B27 | 100 | 55| 27| 10 |12.4| 40 | 14 oo ° 335304 | 1600
DMP06-10008-K32 100 47 32 8 12| 14 MPST060304 M2.5X6.5 T8 o 335202 1500 DMP06-12510-B32 125 65| 32| 10]14.4| 50 | 16 ° 335306| 1800
DMP06-10010-K32 100 | 47 | 32| 10| 14| 14 . 335204 1500 DMP08-12512-B32 | 125 | 65| 32| 12 [14.4| 50 [ 12 e [335308| 1800
DMP06-12510-K40 125 | 55 | 40| 10| 14| 16 . 335206| 1700 DMP08-16012-B40 | 160 | 89| 40| 12 [16.4| 50 | 14 | MP:T080305 M3X7 T10 e (335310 2500
DMP08-12512-K40 125 55 40 12 16 12 MPOT080305 M3X7 T10 ° 335208| 1700 DMP08-20012-B40 200 89| 40| 12 |16.4| 50 18 ° 335312| 3000
DMP08-16012-K40 160 | 62 | 40| 12| 16| 14 . 335210( 2300 DMP12-12512-B32 [ 125 | 65| 32| 16 [14.4]| 50 [ 10 e [335314] 1800
DMP12-16012-K40 160 62 | 40| 16| 20| 12 ° 335212| 2300 DMP12-16016-B40 | 160 | 89| 40| 16 (16.4| 50 | 12 e |335316| 2500
DMP12-16018-K40 160 | 62 | 40| 18| 24| 12 . 335214 2300 DMP12-16018-B40 | 160 | 89| 40| 18 |16.4| 50 | 12 e |335318| 2500
DMP12-16020-K40 160 62 | 40| 20| 26| 12 ° 335216( 2300 DMP12-16020-B40 | 160 | 89| 40| 20 [16.4| 50 | 12 | o coo0, 00 M5X13 120 e |335320| 2500
DMP12-20016-K50 200 | 72 | 50 | 16 | 20 | 14 | MPcoT120408 M5X13 T20 . 335218 2800 DMP12-20016-B40 | 200 | 89| 40| 16 |16.4| 50 | 14 e |335322| 3000
DMP12-20018-K50 200 72 | 50 | 18 | 24| 14 ° 335220 2800 DMP12-20018-B40 | 200 | 89| 40| 18 [16.4| 50 | 14 e |335324| 3000
DMP12-20020-K50 200 | 72 | 50 | 20 | 26| 14 . 335222 2800 DMP12-20020-B40 | 200 | 89| 40| 20 |16.4| 50 | 14 e |335326| 3000




LR 8k T]

Clamp Type Milling Cutter

FL/EmIT B SVP =ZETISETI(JIER)

SMP Three-sided Edge Milling Cutter (Cutter Type)

= TR (Spare Parts): P01-P04

amEs o BEN @ —mUH g FREun
El Steel ) -xxxu;
FER Stainless Steel © osszzOO
Er Iron o o vzzz
SRR TR R Aluminum/Copper/Magnesium/Zinc/Plastic/Wood 03 "
BRAGBRAS Carbide/Powder Metallurgy o P
YRS S B Titanium/Superalloy/Carbon Fiber 0 2n0e
EaEE AR MigEe Rt Dimension (mm) BENW <o
Product Image Dimensioning Specification re A B T '
I-re
she g | 5| g | o8 |22 = :
afA o| D - 07T308-TT 08 | 704 | 7.94 | 397 LR .
=3 i N>y 090408-TT 08 | 98 | 98 | 430 (Toolholder) .
- : " 110408-TT 08 | 115 115 48 D59-D60 .
ii\':Mﬂ 140512-TT 12 | 143 | 143 | 50 . A
& — 1
7] B S\MP Z@E7STIFOE)
Bk SMP three-sided edge milling cutter (bayonet type) ap oD
iﬁﬁ 15~ & (Spare Parts): P01-P04
55t = L
TIHF o
il E
T Ol — w2 T Insert 4R4T Screw| #2F Wrench: .- -
— . = P Order rice
i 20 5| |@d| gc Cat. No . B & A T
o |
| SMP-80-06-8T-B22 6 SPMG050204 | TS2003| T6 e [335700| 1500
=] SMP-80-08-8T-B22 sol 8 |40l 22| 45| 32| 22 | 2xa e [335702| 1500
= SMP-80-10-8T-B22 10 SPMG060204 | TS2202) T6 o [335704| 1500
’ E SMP-80-12-8T-B22 12 SPMGO07T308 | TS2511| T8 ® |335706| 1500
344 e — = SMP-100-06-10T-B27 6 SPMG050204 | TS2003| T8 ® |335708| 1600
#5 SMP-100-08-10T-B27 8 ® |335710| 1600
H SPMG060204 | TS2202| T8
£ @ e R size T nser | 847 Scow | 5 Ve o | SMP-100-10-10T-B27 | q09| 10 | 40| 22| 50 | 32| 27 | 2x5 o |335712| 1600
= = -100-12-10T- .
;;ﬁﬂ Cat. No o0 | aploa[H[oc | T (o) |¢® /% S Number  (RMB) SMP-100-12-10T-B27 12 SPMGO07T308 | TS2511| T8 335714 | 1600
Er———r 5 sovcososor | vszoos | e | e | s3m000 | 1400 SMP-100-14-10T-B27 14 SPMG090408 | Ts3504| T15 o [335716| 1600
4 SMP-80-08-8T-K22 8 " N - o | 335602 | 1400 SMP-100-16-10T-B27 16 e |[335718| 1600 h
Fx swe-oo-toerazz | F | o | | Crovenans | TemnE) T | e Jossod ] reoo SMP-125-06-12T-832 6 335720 | 1800 F
jﬂlﬁ SMP-80-12-8T-K22 12 1 SPMG07T308 | TS2511 T8 o | 335606 | 1400 Clevmubm el SPMG050204 | TS2003| T6 ° 7]%
SMP-100-06-10T-K27 6 SPMG050204 | TS2003 T8 o | 335608 | 1500 SMP-125-08-12T-B32 8 oM 004 | Ts2202| T8 e (335722 1800
SMEZ100208:107=K27; 5 SPMG060204 | TS2202 | T8 O e E SMP-125-10-12T-B32 10 SPMGO6020 220 ® |335724| 1800
SMP-100-10-10T-K27 100 10 27 50 2X5 B . 335612 1500 2X6
SMP-100-12-10T-K27 12 L SPMG07T308 | TS2511 T8 o | 335614 | 1500 SMP-125-12-12T-B32 125 12 sl 25! 70 | a8l 32 SPMGO7T308 | TS2511| T8 ® |335726| 1800
SMP-100-14-10T-K27 14 1 Seme090608 | 183502 | 115 o | 335616 | 1500 SMP-125-14-12T-B32 14 spueos0aos | Ts3s0al 115 o |335728| 1800
SMP-100-16-10T-K27 16 . 335618 1500
SMP-125-06-12T-K32 6 SPMIG050204 | 192003 | T8 o | 335620 | 1650 SMP-125-16-12T-B32 16 e (335730 1800
SMP-125-08-12T-K32 8 o [ssse22 | 1650 SMP-125-18-10T-B32 18 o |335732] 2500
MP-125-10-12T-K32 10 12 SPMG060204 | TS2202 ) TO 335624 | 1650 SPMG110408 | TS4006| T15
e . SMP-125-20-10T-B32 20 o |335734| 2500
swp-izstzazrksz |zl L 2X6 "SpmGo7Ta08 | 182511 | T8 o | 335626 | 1650 Tle9nebn il 2X5
SMP-125-14-12T-K32 MEAE 1 <ome00060s | Tsas0s | 118 o | 335628 | 1650 SMP-125-25-10T-B32 25 SPMG140512 | TS5009| T20 ® 335736 2500
SMP-125-16-12T-K32 o o | 999650 L 1650 SMP-160-12-16T-B40 12 SPMG07T308 | TS2511| T8 e (335738 2500
SMP-125-16-10T-K32 18 o rer10008 | 191008 | 118 o | 335632 | 1650 2X8
SMP-125-20-10T-K32 20 [ 2X5 - o | 335634 | 1650 SMP-160-16-16T-B40 16 SPMG090408 | TS3504| T15 ® |335740| 2500
SMP-125-25-10T-K32 25 25 SPMG140512 | TS5000 | T20 o | 335636 | 1650 16018197 o
SMP-160-12-16T-K40 12 12 ) SPMG07T308 | TS2511 T8 o | 335638 | 2300 SMEL SOL1S AT BA0 160] 18| 50| 28| 80 | 52| 40 SPMG110408 | TS4006| T15 EESIRE7]|pobT0
SMP-160-16-16T-K40 w| [ X8 [ s Tresea T i T a0 T 2300 SMP-160-20-12T-B40 20 2X6 ® |335744| 2500
SMP-160-16-12T:K40 | 160 | 18 | 40 7s SPe110000 | Toa000 | 15 | @ | %542 | 2300 SMP-160-25-12T-B40 25 SPMG140512 | T55009| T20 o |335746| 2500
SMP-160-20-12T-K40 20 20 2X6 o | 335624 | 2300
SMP-160-25-12T-K40 25 [75 | SPMG140572 | 155000 | 720 o [ 335646 | 2300 SMP-200-16-18T-B40 16 2X9 | SPMG090408 | TS3504| T15 e |335748] 3000
SMP-200-16-18T-K40 16 [ 16 ] 2x9 | SPMG090408 | TS3504| T15 o | 335648 | 2800 SMP-200-18-14T-B40 200 18 50| 28| 80 | 52| 40 SPMG 110408 sa006| T4 e |335750| 3000
SMP-200-18-14T-K40 18 335650 | 2800 PM 4 TS4 5
smp-200-20-14T-ka0 | 20| 20 | 40 20 80 o7 | SPMG110408 | TS4006 | Tis : 335652 | 2800 SMP-200-20-14T-B40 20 2X7 e |335752| 3000
SMP-200-25-14T-K40 25 [25] SPMG140512 | TS5009 T20 o | 335654 [ 2800 SMP-200-25-14T-B40 25 SPMG140512 | TS5009| T20 ® | 335754 | 3000




LR 8k T]

Clamp Type Milling Cutter

et
TIHF

]
TIFF

7]

B
#3

%0
FH
#7)
i
F3
7

pe1

o BEUH @ —muH g FREUH
Stable Cuting Gonoral Cuttn Unstabl Cuting
El Steel o0 wrx%ve
FHR Stainless Steel © vzBBOO
EEY Iron o o exxx
AR SRR R A Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o M
BEAS BFRAE Carbide/Powder Metallurgy o zx0e
R & B Titanium/Superalloy/Carbon Fiber o znoe
EEEE AR MmEe Rt Dimension (mm) BETW %0 _9roans
Productimage Dimensioning Speciflcation re | A | B | T Jeehno - |3EBESOREEEE
/I'E
IS XSEQ 1202 127 | 127 | 23 - o .o
o S 1203 127 | 127 | 3.0 o o oo
B 1273 127 | 127 | 35 : o e
L\ / 1204 127 | 127 | 40 (Toolholder) .« .o
¢ 12T4 12.7 | 127 4.5 D61-D62 ONCM
A T
= 1
B SMPO1 ZEVISETI(FOE)

SMPO01 three-sided edge milling cutter (bayonet type)

H SMPO1

ZEISTTIER

SMPO01 Three-sided Edge Milling Cutter (Cutter Type)

= FE# (Spare Parts): P01-P04

J1 K Insert

24T Screw

@D
1 SE# (Spare Parts): PO1-P04
ﬂ % R TJ' Size Pl Ilfen 4847 Screw | #®RF Wrench Order
Cat. No @D |ap |@d | H |@C [Tmax t& Number
SMPO01- 100X4-K27-10 4 XSEQ1202 M4x3.2X ° 335800 1500
100X5-K27-10 5 XSEQ1203 M4x4.2X ° 335802 1500
100X6-K27-10 | 100 6 27 12 45 25 XSEQ12T3 M4x5.1X T15 ° 335804 1500
100X7-K27-10 7 XSEQ1204 M4x6.1X ° 335806 1500
100X8-K27-10 8 XSEQ12T4 M4x7.1X ° 335808 1500
SMPO01- 125X4-K40-16 4 XSEQ1202 M4x3.2X ° 335810 1800
125X5-K40-16 5 XSEQ1203 M4x4.2X ° 335812 1800
125X6-K40-16 | 125 6 40 12 56 32 XSEQ12T3 M4x5.1X T15 ° 335814 1800
125X7-K40-16 7 XSEQ1204 M4x6.1X ° 335816 1800
125X8-K40-16 8 XSEQ12T4 M4x7.1X ° 335818 1800
SMPO01- 160X4-K40-16 4 XSEQ1202 M4x3.2X ° 335820 2000
160X5-K40-16 5 XSEQ1203 M4x4.2X ° 335822 2000
160X6-K40-16 | 160 6 40 12 67 45 XSEQ12T3 M4x5.1X T15 ° 335824 2000
160X7-K40-16 7 XSEQ1204 M4x6.1X ° 335826 2000
160X8-K40-16 8 XSEQ12T4 M4x7.1X ° 335828 2000
SMPO01- 200X6-K50-18 6 XSEQ12T3 M4x5.1X ° 335830 3000
200X7-K50-18 | 200 7 50 12 71 62 XSEQ1204 M4x6.1X T15 ° 335832 3000
200X8-K50-18 8 XSEQ12T4 M4x7.1X ° 335834 3000
SMPO01- 250X6-K50-24 6 XSEQ12T3 M4x5.1X ° 335836 4000
250X7-K50-24 | 250 7 50 12 71 87 XSEQ1204 M4x6.1X T15 [ 335838 4000
250X8-K50-24 8 XSEQ12T4 M4x7.1X ° 335840 4000

] = e Order Price
cga:t_ o ap tg__ LN\ umber  (RMB)
SMPO1- 063X4-A22-08 4 XSEQ1202 | M4x3.2X e | 335850 | 1500
063X5-A22-08 5 XSEQ1203 | M4x4.2X e | 335852 [ 1500
063X6-A22-08 | 63 | 6 | 22 | 40 | 32 14 XSEQ12T3 | M4x5.1X| T15 e | 335854 | 1500
063X7-A22-08 7 XSEQ1204 | M4x6.1X e | 335856 [ 1500
063X8-A22-08 8 XSEQ12T4 | M4x7.1X e | 335858 | 1500
SMPO01- 080X4-A22-08 4 XSEQ1202 | M4x3.2X e | 335860 [ 1800
080X5-A22-08 5 XSEQ1203 | Mdx4.2X e | 335862 | 1800
080X6-A22-08 | 80 | 6 | 22 | 50 | 40 18 XSEQ12T3 | M4x5.1X| T15 ® | 335864 [ 1800
080X7-A22-08 7 XSEQ1204 | M4x6.1X e | 335866 | 1800
080X8-A22-08 8 XSEQ12T4 | M4x7.1X e | 335868 | 1800
SMPO1- 100X4-A27-10 4 XSEQ1202 | M4x3.2X e | 335870 | 2000
100X5-A27-10 5 XSEQ1203 | M4x4.2X e | 335872 [ 2000
100X6-A27-10 | 100 | 6 | 27 | 50 | 48 23 XSEQ12T3 | M4x5.1X| T15 e | 335874 | 2000
100X7-A27-10 7 XSEQ1204 | M4x6.1X e | 335876 [ 2000
100X8-A27-10 8 XSEQ12T4 | M4x7.1X e | 335878 | 2000
SMPO1- 125X6-B32-12 6 XSEQ12T3 [ M4x5.1X e | 335880 [ 3000
125X7-B32-12 | 125 | 7 | 32 | 50 | 70 30 XSEQ1204 | M4x6.1X T15 e | 335882 | 3000
125X8-B32-12 8 XSEQ12T4 | M4x7.1X e | 335884 [ 3000
SMPO1- 160X6-B40-16 6 XSEQ12T3 | M4x5.1X e | 335886 | 4000
160X7-B40-16 | 160 | 7 40 | 50 | 70 41 XSEQ1204 | M4x6.1X T15 . 335888 | 4000
160X8-B40-16 8 XSEQ12T4 | M4x7.1X e | 335890 | 4000




® S W
MZG Clami)-'ll"ygfeil\}ilflﬁgjjcmter

B AJX A EEE S

FastFeed End Mill

8 LSRR @ BEMH e TRUE s TREMM
7 P @ Steel o0 wxzzee
7 M | TR Stainless Steel © OBBHEOO
B K| e Iron o v exxx
N | B/ /5 WA Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o .
‘ S | ®EAt BRAS Carbide/Powder Metallurgy o tx0e
£ 1 - H/mm e R/ A Titanium/Superalloy/Carbon Fiber B BB
oEML  BUE 'E;g EREE LR aame Rt Dimension (mm) REIE | vo o
15 HIMIBH (Culling Paramelers): R19 * The most suitable for large-feed cutting. [ aenne lo222s858388
REH (Spare Parts): P01-P04 s Product Image Dimensioning Specification re A i a° TmHmld:r OBBZEoREARE
)= <+ Si 7 EfR Clamp | 847 Screw : .
s Roeie ﬂ% Stock (ST AL [ A JOMW 06T215ZZSR-FT | 1.5 635 278  13° (=4 .o
i cat.No o d L_|| L& e /= Hlumoen{(RME)J[(RME) DMWY OOTI0IOSRET| 20 oios gy o (AR b B
E“_E AJXOBR16-16-120-2T 16 16 | 120 | 30 1 2 e (321100 - 150 120420ZDSR-FT gg Kg g:zg i (octreleen) .. ’E.“_E
%EALJJ AJX06R16-16-160-2T 16 | 16 [ 160 | 40 | 1 | 2 o [321102] - 150 (R052020S0 3 556 | 18 ? oy ﬁnﬂ
AJX06R16-17-120-2T 17 | 16 | 120 | 40 1 2 o 321104 - 150
— MWO06T215ZZSR - .
AJXOBR16-17-160-2T | 17 | 16 | 160 | 40 | 1 | 2 | “OMWOST152S M25<6| T8 | o |321106| - | 150
& 200 e [321108 - 180 . .|
AJX06R16-17-200-2T 17 | 16 | 200 | 50 1 2 JOMT 06T2152ZSR-M| 15 635 278  13° = B
7] AJX06R16-18-150-2T 18 16 | 150 | 40 1 2 e |321110] - 180 080320ZZSR-JM %.D B0 | 318 | 13 LA .o %]
N AJX08R20-20-160-2T 20 | 20 | 160 | 40 | 1.5 | 2 e (3271112 200 | 165 OIS o0PD R | 20 | 9525 347 | 15, (Toolholder) oK —
Tkk AJX08R20-20-200-2T 20 20 | 200 50 1.5 2 e [321114| 233 225 140520ZDSR-JM| 2.0 = 140 556  15° D63-D64 .o Kk
7] AJX08R20-20-250-2T 20 | 20 | 250 | 60 | 1.5 | 2 o [321116] - 280 %7
AJX08R20-21-160-2T 21 | 20 | 160 | 40 | 1.5 | 2 . e [321118] 200 | 165
it AJXOBR20-21-200-2T | 21 | 20 | 200 | 50 | 1.5 | 2 | JOMW0SI0ZZSR M3x7 1 T10 | o 1321120 233 | 225
ki AJX08R20-21-250-2T 21 | 20 | 250 | 60 | 1.5 | 2 o 321122 - 280
2 . o) 3 =
E AJX08R20-22-160-2T 22 | 20 | 160 | 40 | 1.5 | 2 e 321124) - 200 W AUXE iR ESE R m .‘ I! |5
: AJX08R20-22-200-2T 22 | 20 | 200 | 50 | 1.5 | 2 e [321126] - 260 FastFeed Face Millin
> g Cutter T T S oy
ki AJX09R25-25-150-2T 25 | 25 | 150 | 40 2 |2 e (327128 233 | 200 o Tamn =
= AJX09R25-25-200-2T 25 | 25 | 200 | 50 2 |2 e 321130 267 | 225 b
Ek AJX09R25-25-250-2T 25 | 25 | 250 | 60 2 2 e 321132 - 285 @R E & KA
#7] AJX09R25-25-300-2T 25 | 25 | 300 | 60 2 |2 e 321134 - 320 @ RATA I * Withst
—_— AJX09R25-26-150-2T 26 | 25 | 150 | 40 2 |2 e 321136 233 | 200 (5 VM % (Cutting Parameters): R19 OTIHAWHHRMITIAEE | 5101 cpec, edge angle
= AJX09R25-26-200-2T 26 25 200 50 2 2 . 321138| 267 225 BR# (Spare Parts): P01-P04
[ AJX09R25-26-250-2T 26 | 25 | 250 | 60 2 2 e [321140 - 285
7] AJX09R25-26-300-2T 26 | 25 | 300 | 60 2 |2 o 321142 - 320 me R~F Size EE 45 Clamp| 847 Screw| 5 Wrench order | Price || Price
AJX09R25-28-160-2T 28 25 | 160 | 40 2 2 e 321144 - 220 Cat. No D |D1]D2] 4 nlwlT @ ‘ Stock Number (RMB) (RMB)
- 321146 - 290
ﬁ;gggggggg_g gg gg §28 gg g g JOMWO9T3202DSR | AJX-09 | M4x10 | T15 : 321148 - 350 AIX12R50223T | 50 | 47 | 38.3| 22 | 50 | 10.4| 6.3] 1.5 e [321200] 283 | 280
AJXO9R25-28-300-2T 28 25 | 300 | 60 2 2 o [321150 - 400 AJX12R50-22-4T 50 | 47 | 38.3] 22| 50 |10.4| 6.3| 1.5 |JDMW120420ZDSRFT| AJX-12 M4x10|  T15 e (321202 317 280
AJX12R63-224T | 63 | 30 | 51.3] 22| 50 |10.4| 6.3] 1.5 e [321204| 483 | 350
AJX09R25-30-160-2T 30 | 25 | 160 | 40 2 |2 o [321152] - 220
N AJX14R63-223T | 63 | 30 | 51.1] 22| 50 [10.4| 6.3| 2 e [321206] 283 | 350
%i7 AJX09R25-30-200-2T 30 | 25 | 200 | 50 2 |2 o 321154 - 290
@ AIX14RE3-224T | 63 | 30 | 51.1| 22| 50 |10.4| 6.3| 2 ) e (321208 317 | 350
FE AJX09R25-30-250-2T 30 25 | 250 60 2 2 e 321156 - 350 JDMW140520ZDSR-FT| AJX-14 M5x12 720
%7 AIXOOR25-30-300-2T 30 | 25 | 300 | 60 2 |2 o (321158 - 400 AJX14R80274T | 80 | 76 | 68.1| 27| 50 [12.4| 7 | 2 e 321210 483 | 600
AJXO9R25-32-160-2T 32 | 25 | 160 | 40 > 13 o l|321160 - 220 AJX14R100-32-5T | 100| 96 | 88.1] 32| 50 |14.4| 8 | 2 e [321212] 700 | 800
i AJX09R25-32-200-2T 32 | 25 | 200 | 50 2 2 e [321162 - 290 T
FX AJX09R25-32-250-2T 32 | 25 | 250 | 60 2 |2 o [321164] - 350 Ft
TIHR AJX09R25-32-300-2T 32 | 25 | 300 | 60 2 | 2 e [321166] - 400 T
 — AJX12R32-25-160-2T 25 | 32 | 160 | 40 2 |2 e (321168 - 240 B AJXES N ) R =
AJX12R32252002T | 25 | 32 | 200 | 50 | 2 | 2 o |[321170| - | 270 = it 48 9 71 5K % ‘ o
AJX12R32-25-250-2T 25 | 32 | 250 | 60 | 2 | 2 o (321172 - | 325 AJX High Feed Milling Head Lm! h’
AJX12R32-25-300-2T 25 32 300 60 2 2 e 321174 - 400 W OELsE Sie B Low-speed, high feed
AJX12R32-30-160-2T 30 32 160 40 2 2 e (321176 - 240 Y1 % % 2 E B 8w ek TSR3 Cutting efficiency of an ordinary cutter round nose and face plate 3 times
AJX12R32-30-200-2T 30 | 32 | 200 | 50 2 |2 o [321178] - 270 322 T Cone design, steel high
AJX12R32-30-250-2T 30 | 32 | 250 | 60 2 |2 e [321180] - 325 _
AJX12R32-30-300-2T 30 | 32 | 300 | 60 2 |2 o [321182] - 400 .
AJX12R32-32-150-3T 32 | 32 | 150 | 40 2 |3 o (321184 267 | 240 S
AJX12R32-32-200-3T 32 | 32 | 200 | 50 2 |3 e [321186] 317 | 270 I MBS (Cutting Parameters): R19
AJX12R32-32-250-3T 32 | 32 | 250 | 60 2 |3 o 321188 367 | 325 SR (Spare Parts); PO1-PO4
AJX12R32-32-300-3T 32 | 32 | 300 | 60 2 3 | UDMT120420ZDSR | AJX-12 | M4x10| T15 e [321190] - 400
AJX12R32-33-160-2T 33 | 32 | 160 | 40 2 |2 o 321192 - 240 . — p— :
AJX12R32-33-200-2T 33 | 32 | 200 50 | 2 | 2 o (321104 - 270 = R Size Teeth /g ISP Order  Price
AJX12R32-33-250-2T 33 | 32 | 250 | 60 2 | 2 o [321196] - 325 Cat. No D|L|d|M Number ~(RMB)
LENPiRePe Sl SO} o0 e 50 O i O gg:;gg §?7 248 AJXO6R162AM0830 | 16 | 30 | 8.5 | M8 | 2 | jomwosT215 ] e . e | 321300 150
ﬁ;lggggggﬁggfﬁ gg gg ggg gg g g ° 321202 36; 3;5 AJX06R172AM0830 17 30| 8.5 M8 2 ZZSR-FT i . 321302 150
AJX12R32—35—300:3T 35 32 | 300 | 60 2 3 : 321204 - 400 AJX08R202AM1030 20 | 30| 10.5 | M10 2 JOMWO80320 . 321304 | 160
AJX12R32-40-150-3T 40 | 32 | 150 | 40 | 2 | 3 e [321206] 300 | 300 Ix08 kR 2AMI0S Oy =i SO WOV ERiley 2 22SR-ET . M3X6 T15 e | 321306 | 160
AJX12R32-40-200-3T 40 | 32 | 200 | 50 2 3 e (321208 367 | 360 AJX08R222AM1030 22 | 30| 105 | M10 2 . 321308 | 200
AJX12R32-40-250-3T 40 | 32 | 250 | 60 2 |3 e [321210] 433 | 430 AJX09R252AM1235 | 25 | 35| 125 | M12| 2 JDMWOST320 |, oo V358 T15 e | 321310 160
AJX14R42-50-180-4T 50 42 | 180 | 35 2 4 | JDMT140520ZDSR | AJX-14 | M5x10| T20 e 321212 - 420 AJX09R262AM1235 26 | 35| 12.5 | M12 2 ZDSR-JM ) . 321312 | 200




AR 8% 7]

Clamp Type Milling Cutter

5 =5 LA
B ASR Hutthrser) )RR ARG TH S i
FastFeed End Mill —/ ‘
Lsan: ZR1 MDAMT p MEN

Revani Fockeimilng  Seotplngmlng  Shouldermiling  Copy millng %ﬁﬁ J jj ' !‘

R IR Y ﬁ‘im%ﬂl ") —AQ‘VMIJ 2 ﬁ‘ﬂ‘iﬂli@(‘l
P|® Steel o0 exzzee
M | TR Stainless Steel © OBBHEOO
K| #% Iron o v exxx
N | 6340 8 2R AH Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o .
S | BEas BRAS Carbide/Powder Metallurgy o xz0e
- BERA A/ BT Titanium/Superalloy/Carbon Fiber o PN
;ﬁ EaEE RS aame Rt Dimension (mm) RENHF $9__aroans
3 §’§-‘ Product Image Dimensioning Specification re A B T a° T’::"‘:gl‘::r §§§§%§g§§§§
. | I EPNW 0603TN-8 . : [
BA MER R AR 47 * Double clamping body rigidity a EPMT 0603TN- HEECRR R .
~ = A LA 4T Y EDNW 12T3TN-10 10 10 10 | 39 . T A
n‘_ﬁ o fiE AR LTIH * The most suitable for large-feed cutting L1 L : EDMT 12T3TN-10 10 12 10 3'5; 12 (Toalholder) aB
AL o EFFEAEITL * With standard cooling holes pes-bee v
7] o TIE RSB TR AT R 2 * 4forspecial shaped blade edge angle %71
0803TN-10 10 8.1 8.1 3.18 11 .
B W 10T3TN-10 10 10 10 | 397 | 15° .o Efa
B9 omes cussrnm memime | % w e )= S wn
[E—_—_— REH# (Spare Parts): P01-P04 1g¥ﬂn-1g 10 135 | 135 ;:55 1; g?n older
: | ' - 15 | 135 | 135 | 556 | 15 e oee £ 3]
g% RS R=t size r\fg.ﬁgf T Insert 17T Screw $RFWrench O Order  Price  Price IS0SZDTNRIS | 15 15875 19875 556 1% D65-D66 TRk
Cat. No D d L L1 | flutes @ Number (RMB) (RMB) 1505ZDTN-C15 | 15  15.875 15875 556 15 ®7
i ASRO6R16-16-120-2T 6 16 120 40 2 e (321500 100 | 150 N
T ASR06R16-16-150-2T 16 16 150 | 40 2 e [321502 100 | 160 ASR 1REtATRAET)
"~ ASRO6R16-16-200-2T 16 16 | 200 50 2 e (321504 133 | 180 FastFeed Shell Milling Cutter ‘ :
s ASRO6R16-17-120-2T 17 16 120 | 40 2 e [321506 100 | 150 H
T4 ASR06R16-17-150-2T 17 16 150 40 2 o (321508 100 | 160
ASRO6R16-17-200-2T 17 16 | 200 50 2 o [321510 133 | 180
E ASR0BR20-20-120-3T 20 20 120 40 | 3(2) o [321512 - 160 ®
w7 ASRO6R20-20-150-3T 20 20 150 | 40 |3(2) o [321514) 150 | 170
__"" ASR06R20-20-200-3T 20 20 | 200 50 | 3(2) o (321516 183 | 200
= ASRO0BR20-21-120-3T 21 20 | 120 | 40 |32 o [321518 - | 170 T SRS (Cuting Parametors):R21 | =
H7)  ASROBR20-21-1503T | 21 | 20 | 150 | 40 |3(2) e 321520 150 | 170 I (pore et
7] Qggggggggg-g 21 20 | 200 50 | 3(2) o |321522| 183 | 200 me R Size D nsert | EARClamp | T Screw | 3 Wiench OO Order  Price
- 25 25 150 50 | 3(4) e 321524 183 | 175 Cat. No @ A o2
ASRO6R25-25-200-3T 25 25 | 200 | 50 |3(4) o [321526| 217 | 225 . D Bl d H w T ©) Number| (RM5)
ASROBR25-25-250-3T 25 25 | 250 | 60 |3(4) o [321528 250 | 260 ASRO6R50-224T 50 | 47 22 50 104 ) 63 ) (0 B M25x6 | T8 e |%21709 280
R R o 5E 150 50 | 3(8)| comcconma < 321530183 m1E0 ASRO6R63-224T 63 60 22 | 50 | 10.4 | 6.3 | Gmens : e [321703 350
B ASR06R25-26-200-3T 26 25 | 200 | 50 |3(4)| commowamne | M25%6 T8 o [321532| 217 | 240 ASF15R80-27-5T 80 | 70 | 27 ) 50 | 124 7 e |321704 600
7  ASROBR25:26-250-3T | 26 | 25 | 250 | 60 |3(4) e [321534] 250 | 260 S SRRI00: 2% i O =~ O [ o @ @ * |321708 800
v ASROGR25.28.1804T P P T80 00 4 PR e 50 ASF15R12540-6T | 125 | 90 40 | 50 | 16.4 9 [P 20 e (321708 1000
4]  ASRO6R2530-2004T | 30 | 25 | 200 | 60 | 4 o 321538 - | 260 ASEISRAGOAO-STI| (60 200 a0 TS 0T A AT s ysiszom s I 20 U200
ASROGR25-30-250.4T 20 25 | 250 50 4 o |a21510| - 300 ASF15R200-608T | 200 | 120 | 60 | 50 | 25.7 14 |G o (321712 1600
g ASRO6R32-32-150-4T 32 32 | 150 | 50 |4(5) o 321542 233 | 260 ASF15R200-60-10T|] 200 | 120 | 60 | S50 | 25.7 14 i O__ |l vy
Fot ASROBR32-32-200-4T 32 32 200 60 | 4(5) e [321544| 300 | 285 A
745 ASROBR3232-2504T 32 32 | 250 | 60 |4(5) o |321546| 367 | 350 B ASRM &4 RNk T]
_ """ ASRO6R32-33-1604T 33 32 160 - 4 o [321548 - 260 ASRM Super Radius Mill
ASRO6R32-33-200-4T 33 32 | 200 B 4 o [321550 - 285
ASROBR32-35-150-4T 35 32 150 50 | 4(5) o 321552 267 | 300 5 BB (Cuting Parameters): R21
ASRO6R32-35-200-4T 35 32 200 50 | 4(5) o 321554 333 | 380 FRAE (Spare Par)poT-P0d
ASROBR32-35-250-4T 35 32 250 60 | 4(5) o 321556 417 | 450 : D Insert i3 o BE Wench | <
ASROBR3240-1504T | 40 | 32 | 150 | 50 | 4(6) o |s21558 300 | 350 a5 i Teeth 5 S 8 | e e
ASROBR32-40-200-4T 40 32 | 200 50 | 4(6) e [321560| 367 | 450 Cat. No D L d M | ¢ (0) [ Number  (RMB)
ASR06R32-40-250-4T 40 32 250 60 4(6) ® (321562 467 600 ASRM2016R-2 16 25 8.5 M8 2 ° 321800 300
ASR08R20-20-130-2T 20 20 130 50 2 EPNWOS03TN-0 . 321564 - 180 ASRM2017R-2 17 25 8.5 M8 2 o 321802 300
ASR08R20-20-180-2T 20 20 180 | 100 | 2 | copwosoarvio | M35%8 T15 e [321566 - 230 ASRM2018R-2 18 25 |85 | M8 2 e [ 321804 | 300
ASRO8R20-20-250-2T 20 20 | 250 | 130 | 2 e 321568 - | 280 ASRMZ00R 2 2 o e B T, P e B
ASR10R25-25-140-2T 25 25 140 60 2 [ —— M4x9 e [321570] - 200 ASRM2022R-3 22 30 10.5 | M10 3 EPMTO603TN- M2.5X6 T8 o 321810 400
ASR10R25-25-200-2T 25 25 200 120 2 EDEW1OTITN-10 EARASR10Y T15 . 321572 - 260 ASRM2025R-4 25 35 12.5 M12 4 PMTOBO3EN-8LF ° 321812 450
ASR10R25-25-300-2T 25 25 300 180 2 FEARIR4MS3508 e 321574 - 350 ﬁggm%gggg-j gg gg ]gg m% 3 ° gglg:g 450
ASR13R32-30-150-2T 30 32 150 70 2 o [321576] - | 220 - : 2 460
ASRM2030R-4
ASR13R32-30-200-2T 30 32 200 120 2 Vseto e (321578 - 300 ASRM2032R-5 gg ig ]; mlg g 2 gglg;g ggg
ASR13R32-30-300-2T 30 32 300 180 2 ED.13TATNASQD) | o cptay T20 e 1321580 - 380 ASRM2040R-6 40 40 17 M16 6 EPNWO0B03TN-10 o 321822 560
ASR13R32-32-150-2T 32 32 150 70 2 ED.W13T4TN-10 nu;m#&mmoe o (321582 - 280 ASRM0020-2 20 30 10.5 M10 2 EPEW0803TN-10 M3.5x8 T15 o 321824 350
ASR13R32-32-200-2T 32 32 200 12 5 E . ASRM0021-2 21 30 | 10.5 | M10 2 o | 321826 | 350
ASR13R32-32-300-2T S o |321584 350 ASRM0025-2 25 3 | 125 | Mi2 | 2 o 1321828 | 500
- 32 32 300 180 2 ® [321586] - 500 ASRM0026-2 26 35 | 125 | M12 2| eonwioTsTet0 M4x9 o | 321830 | 500
B 4TS TR A IR R A BIABHRC), AREMIE. B RAMLIEME T =E 5, NTRHIR T HERZE 0. NV 2 40 117 M16 |3 | cocwiorainig| ERASRIOY s o | 321832 ) 550
W Arbor before an overall heat treatment (hardness reached 48 HRC), and then intensive. To avoid secondary heat treatment to make cutter body deformation. ASRM0035:3 25 33 ]; mg g [EARIRENIS3508 2 251232 Zgg
So as to ensure the accuracy of the tolerance range and superior rigidity ASRM0040-4 40 40 | 17 M16 4 o | 321838 | 600




® S W
MZG Clami)-'ll"ygfeil\}ilflﬁgjjcmter

B SKSIRHALIHT]
SKS High feedrate end mill

TS A

T Foawmi et Tormera o

BEHITI A

IR Y Ia‘E*JIH‘I ") —AQ‘VMIJ 2 ﬁzﬂ‘iﬂli@(‘l
P|® Steel o0 exzzee
g M | T Stainless Steel © ozEso0
K | #% Iron o v exxw
N | B/ /5 WA Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o .
A S | EEA® BRAS Carbide/Powder Metallurgy o tx0e
8 - - H/mm e R/ A Titanium/Superalloy/Carbon Fiber B BB
° ;ﬁ EREE NEARY Amme Rt Dimension (mm) REIH T
1la . 5"% Product Image Dimensioning Specification re A T a° T’:"‘:gl‘::r §§§§%§g§§§§
1 . WOMW 04T215ZER 15 | 65 | 28 | 13°
L i WDMW 050316ZER 1.6 8 32 1;‘
50316ZTR 16 8 3.2 13° =
A 6T320ZER COOE I C N B
6T 3: TR 8 3.97 13° h
o e 2L s ar
U 2|5 - L
o = E A LA b 10X6202ER | 20 16 6 1x A
#7] ® BiEAKHAYIHI 10X620ZTR 20 | 16 | 6 | 13 %71
Afs = 223‘1\2?&;?'; Vm_‘ ;4‘ R * The most suitable for large-feed cutting. B
27 B SKSH iEtAE#IIE ot e o W bl
87 ] A ) (5 S
Pk = Rt Size ZJ% Zoleer (EAE0 || LS 'SP Order Price  Price Ul = e G o) G e TRk
o. K
£ Cat. No D | d L[ t1 ] a |nutes ‘ s & ﬁ Number (RMB) (RMB) ‘ f w7
SKS04R16-16-150-2T 16 | 16 | 150 | 30 T 2 e (321900 - 185 ‘ . SRS TERTE _—
32 SKS04R16-17-70-2T 17 | 16 | 70 | 30 | 1 | 2 - o [321902] - 180 : CRERENEHES 4
TIFF SKS04R16-17-110-2T 17 | 16 | 110 | 30 | 1 | 2 | WOMWO4T215 M2.5x6 | T8 o [321904 - 180 ; cmES KA T T
_— SKS04R16-17-150-2T 17 | 16 [ 150 | 30 | 1 | 2 o |321906] - 185 G MERH (Cuting Parameters):R20 s SREHHEBNI —_—
e SKS05R20-20-130-2T 20 | 20 | 130 | 30 | 1.5 | 2 o [321908 - 200 FRH (Spare Parts) PO1-PO4 ob2 - DA REHIRNIARES B
TIFF SKS05R20-20-180-2T 20 | 20 | 180 | 40 | 1.5 | 2 o [321910] - 220 o TIFF
SKS05R20-20-200-2T 20 | 20 | 200 | 40 | 1.5 | 2 o [321912 - 220 -
R SKS05R20-20250-2T | 20 | 20 | 250 | 50 | 1.5 | 2 | womwososts | - Maxz | Tio | e [321914] - | 250 Be Rt Size LG S L S W Order | Price | Price Ek
)| SKS05R20-21-130-2T 21 20 | 130 | 30 | 15 | 2 e [321916] 233 | 200 Cat. No D D1 d H w T @ & Number (RMB) (RMB) %]
 — SKS05R20-21-160-2T 21 | 20 | 160 | 30 | 1.5 | 2 o [321918 - 200 SKS0BRB0224T | 50 27 52 50 | 104 | 63 3221001 283 | 280
= SKS05R20-21-200-2T 21 | 20 | 200 | 40 | 15 | 2 o [321920] 267 | 250 SKS08R63-224T | 63 50 20 50 | 104 | 63 o |322102 317 | 350
[ SKS06R25-25-140-2T | 25 | 25 [ 140 [ 30 | 2 | 2 e [321922] - [ 240 SKS0BRE6274T | 66 | 60 | 27 | 50 | 12.4 | 7 |woMwosos20zTR| sks-08 ™% 720 | e [322104f - | 500
7] SKS06R25-25-160-2T 25 | 25 | 160 | 30 | 2 | 2 o (321924 - 240 SKS08R80-275T | 80 70 27 55 | 12.4 7 o 322106 483 | 600
SKS06R25-25-200-2T 25 | 25 | 200 | 40 | 2 | 2 e 321926/ 233 | 260 SKS08R100-32-6T| 100 | 90 32 | 55 | 14.4 8 e 1322108 700 | 800
SKS08R26-25-250-21 | 25 | 25 | 250 | 50 | 2 | 2 e |321928 - | 320 SKST0R63-224T | 63 | 60 | 22 | 50 | 10.4 | 6.3 e [322110] 300 | 425
SISEZ 220-300:7 1 e o RS0 O o Ol (N i 1 e |321930) 267 | 380 SKS10R63-274T | 63 | 60 | 27 | 50 | 12.4 7 Masetog e (322112 350 | 460
SKS06R25-26-140-2T 26 | 25 | 140 | 30 | 2 | 2 e (321932 267 | 240 SKS10R80-275T | 80 76 27 | 55 | 124 7 |WOMT10X6202TR| SKS-10 “ysuiy | T20 | o |355994| 500 | 700
zz— SKS06R25-26-160-2T 26 | 25 |160| 30 | 2 | 2 o [321934| 317 | 240 SKS10R100326T| 100 06 32 55 | 14.4 8 e 1322116 700 | 960
A SKS06R25-26-200-2T 26 25 | 200 | 40 2 2 e (321936 367 | 260 -
WDMWO6T. - [
& SKS06R32-32-150-3T 32 | 32 |150| 30 | 2 |3 320 | SKS-06 | M4x10 | T15 | o 1351938 267 | 260 W s B Low-speed, high feed
%7 SKS06R32-32-200-3T 32 32 | 200 | 40 2 3 e [321940| 317 330 t)_]ﬁ'/la;i;néﬁlﬂiﬁf%ﬂﬁﬂ%f% Cutting efficiency of an ordinary cutter round nose and face plate 3 times
SKS06R32-32-250-3T 32 | 32 | 250 | 50 | 2 | 3 o 321942 367 | 380 ER R WiEE Cone design, steel high
il SKS06R32-35-150-3T 35 | 32 [ 150 | 30 | 2 | 3 o [321944) 300 | 260
FR SKS06R32-35-200-3T 35 | 32 |200| 40 | 2 | 3 o [321946) 367 | 330
kil SKS06R32-35-250-3T 35 | 32 | 250 | 50 | 2 | 3 o (321948 433 | 380 B HEP RI-LAEHETIE -
— SKS06R32-40-150-3T 40 32 | 150 | 30 % 3 e 321950 - 280 HEP Series Seven Angle Face Milling Cutter
SKS06R32-40-200-3T 40 | 32 |200| 40 | 2 | 3 o [321952 . 350 3 b
SKS06R32-40-250-3T 40 | 32 | 250 | 50 | 2 | 3 o [321954 420
SKS08R32-32-160-2T 32 | 32 | 160 | 40 | 2 | 2 o (321956 280
SKS08R32-32-200-2T 32 | 32 |200]| 50 | 2 | 2 o (321958 320
SKS08R32-32-250-2T 32 | 32 | 250 | 60 | 2 | 2 o (321960 - 380 =
SKS08R32-32-300-2T 32 | 32 | 300 80 | 2 | 2 o [321962 - 450 ,,’///;-
SKS08R32-32-350-2T 32 | 32 [350 | 90 2 2 e [321964 - 560 ELKL /////////
SKS08R32-33-160-2T | 33 | 32 | 160 | 40 | 2 | 2 o |[321086] _ | 300 C/.‘\I //
SKS08R32-33-200-2T 33 32 | 200 | 50 2 2 e [321968 320 _ 7 2 © BY AL, EAAZFILLF!
SKS08R32-33-250-2T 33 | 32 | 250 | 60 | 2 | 2 e [321970 © 380 15 IS (Cutting Paramoters): R19-R2 1 H 44
SKS08R32-33-300-2T 33 | 32 [ 300 80 | 2 | 2 o [321972] - 450 R (Spare Parts): PO1-P04 * High feed, seven angle good economy!
SKS08R32-33-350-2T 33 | 32 | 350 90 | 2 | 2 oa | M4.5x10 o [321974] - 560 _
SKS08R32-35-160-2T 35 | 32 | 160 | 40 | 2 | 2| "PMWO80520 | SKS-08 ) il T | e |321976] - | 300 m e Ik EED | Afld | =gy | PEER | g2 | 5w
SKS08R32-35-200-2T 35 | 32 | 200 | 50 2 | 2 o (321978 _ 320 Blade (=l Face Stock | S
SKS08R32-35-250-2T 35 32 | 250 | 60 2 2 e [321980 380 Cat. No number Diameter |Inner hole| Height diameter | Weight Insert Number
SKS08R32-35-300-2T B5] 32 300 80 2 2 e (321982 450 HEP-4063R-08-22 4 63 22 50 60 1.1 . 322600 460
SKS08R32-35-350-2T 85 | 82 1350 ) 90 | 2 | 2 e [321984 ° | 560 HEP-5080R-08-27 5 80 27 55 76 1.9 e | 322602 | 800
SKS08R32-40-160-2T 40 32 160 40 2 2 e (321986 - 330
SKS08R32-40-2002T | 40 | 32 | 200 | 50 | 2 | 2 o [321988] - | 350 HEP-6100R-08-32 6 100 2 S0 20 36| xomTos0620] & | 22260411050
SKS08R32-40-250-2T 40 32 250 60 2 2 ° 321990 B 380 HEP-7125R-08-40 7 125 40 65 100 5.5 . 322606 1400
SKS08R32-40-300-2T 40 32 300 80 2 2 . 321992 460 HEP-8160R-08-40 8 160 40 65 100 8.4 . 322608 1800
SKS08R32-40-350-2T 40 32 | 350 | 90 2 2 e [321994] ~ 580 HEP-9200R-08-60 9 200 60 65 140 10.2 . 322610 2570




Claln?-'ll"ygfeil\}ilflﬁgjjéutter TX P/KS H R

7] K (Insert):
HNGX0906ANSN-M ZP163
Ap:0.5-4.5 (mm)
Fz:0.07-0.9 (mm/rev)
V¢:100-300 (m/min)

FEBHEA

HEHIT) A

naRs o BEUM @ —MME g FREMN o HEUN @ —RMUH g FoREOM
Cuting Eneronmo simcuting__ @ Gonoraining % _uratste cuting staioGuting @ Gonara Gutng_&_unsabl Cuting
P|® Steel o0 wxzxwe P|® Steel o0 exuzee
M | FHESR Stainless Steel © VBBEROVO M | THR Stainless Steel © OEBBOO
K | ##&% Iron ® ¢ vxxx K | #&% Iron ® v exx%®
N | B4R/88/5% 2 R/AH Aluminum/Copper/Magnesium/Zinc/Plastic/Wood . . N | B4R k5 B/ A Aluminum/Copper/MagnesiumiZinc/Plastic/Wood o .
S BEAE MARESE Carbide/Powder Metallurgy C EX N ] S BHRAS MERES Carbide/Powder Metallurgy ) LY}
L sommssmas Titanium/Superalloy/Carbon Fiber o T LH| avsmesmss Titanium/Superalloy/Carbon Fiber o #xee
EREH NLEARS ARES (R DI iy BEIR | vo_ g cuon in EREN DR AR [y Bl () RENE | vo_  g-caos
[ - ) - vetcning (322 BERECLE ia o o - : vacning (32285 RE Le
5 roduct Image Dimensioning Specification re A ?d T a T OBBZRSEEEEE 5 Product Image Dimensioning Specification re A B (o} T e BRSSO AR
WPGT 050315ZSR 15 | 794 | 6 | 35 | 1
060415ZSR 15 | 9.525 42 | 1 . -
0806152SR 15 | 12.85 635 | 11° HNGX 0906ANSN-M . .

R 090725ZSR 2.5 15 70 | 11° N 0906ANSN-R 12 1588 9 1.8 | 556 N HA
aRB Y/ 050315ZSR-PM | 15 7.94 35 | 1 (Toolnolder) (Toolholder aB
37 - 060415ZSR-PM | 15 9.525 42 | 11° D69 070 37

A 080615ZSR-PM | 1.5 12.85 635 | 1
7] 090725ZSR-PM| 2.5 15 70 | 1 %7
—% AR .
& ZSR-PMEE IO 4F), BARMTIRDETERFHN /A SERHBM MM, uitable for the machining of less power of machine tools and more . F=3
o = = (2
%T]  ZSRERTINKE, EALMTRENRHGRSESHMNI. or hard material processing such as hardened steel and cast iron KSHR 128371 & N & %7
— KSHR 12 Angle Cutter Do | o] m —
k3 Ay _ Rouang, "Shouder Mg Sopy miling. f S
—_— . . N P —_—
TXP High Feedrate End Mill - ‘ |t © B AI2TIHT
ot S S S ® R HRiE ot
kil o MHIEHR kil
il ° il
TI#F Q % Each blade 12 cutting edges TI#F
[— a ; - % Internal cooling standard [E—
e 05” YIMIE 8 (Cutting Parameters): R19-R21 — "
x S % RFH (Spare Parts): PO1-P04 * The cutting easy EH
%7l 7]

—_— Jla L MRS R~ Dimensions (mm) 7% | E® | 7K _Insent MB5T Sorew |HRF Wrench | EE7E [ TTIMINZIINS —
"7 L Specification D d A B ap max | Edges | (kg) SO Code  (RMB) E_FJ
w7 KSHR 40A04RS45HN09 40 22 51 39 | 45 4 0.25 . 7

M 50A04RS45HN09 50 22 61 38 | 45 4 0.32 . Mkl
S RIS (Cutiing S E A et LA 4T ) .
SIE#'fma‘rJqu:r O SZEAKIHBYIH * The most suitable for large-feed cutting. 50A05RS45HNOY 50 22 61 38 45 4 0.33 -
63A04RS45HNO9 63 22 74 50 | 45 4 0.60 .
7 ) T Insert R Clamp | 86T Screw | 45 Wrench ] 63A06RS45HNO9 63 22 74 50 | 45 6 0.56 °
e ¥ R <ISize [Sorpy| Order  Price 63A07RS45HN09 63 22 74 50 | 4.5 7 0.57 .

1 ot I No.of . @ & A Number (RMB) 80A06RS45HN09 80 27 91 60 4.5 6 1.12 . o
%07 flues | O | 9] LU 80A08RS45HNOS | 80 | 27 | o1 | 60 | 45| & | 107 . #01
T TXPO6R25-25-160-2T 2 | 25| 25| 160|80 | 2 e |322300| 240 80A09RS45HN09 80 27 91 60 | 4.5 9 1.11 . TE
@] 100BO6RS45HNO9 | 100 | 32 | 111 80 | 45 6 1.73 ° %]

—_— IR 2 || 43] Z5] 2bill = | 2 O [gzzder] 26 100BOBRS45HNO9 | 100 | 32 | 111 | 80 | 45 | 8 | 1.68| HNGX006. M4.5x12 T20 . —_—

4 TXPOBR32-33-160-3T 3 |33|32]160| ~ | 2 e |322304] 300 100B11RS45HNO9 | 100 | 32 | 111 80 | 45 1 | 1.73 . i
FR TXPOB6R32-33-200-3T 3 |33 32| 200 ~ | 2 |wPMwosx415ZPR| EXP-06 | M4x10 15 o |322308| 320 125B06RS45HNO9 | 125 | 40 | 136 | 90 | 4.5 | 6 | 2.84 ° FR
e 125B08RSA45HNO9 | 125 | 40 | 136 | 90 | 45 8 2.77 ° T

TXPOBR32-35-200-3T 3 |35| 32|20~ |2 e [322308| 350 125B10RS45HNOS | 125 | 40 | 136 | 90 | 45 10 | 286 °
TXPOBR32-40-200-3T 3 |40 332|200 = | 2 e |322310| 400 160C08RSA45HNO9 | 160 | 40 | 171 | 110 | 45 8 | 475 .
160C10RS45HNO9 | 160 | 40 | 171 | 110 | 45 10 | 4.56 .
-40-250- 3 40| 32| 250| - | 2 °
TXPOGR32-40-250-3T 322312| 450 160C12RS45HNO9 | 160 | 40 | 171 | 110 | 45 12 | 4.70 .
TXP08R32-35-200-2T 2 [35]32]200] - | 2| wpmT0806152SR | EXP-08 M5X11 T20 o [322314] 350 200C12RS45HN09 | 200 | 60 | 211 | 130 | 4.5 12 | 643 .
250C14RS45HNO9 | 250 | 60 | 261 | 130 | 4.5 14 | 9.93 .
315C16RS45HNO9 | 315 | 6 | & | 240 | 45 16 | 22.9 .
B TXPE {utamEstraE <
FastFeed Face Milling Cutter M
9 ) Lot ) ) Lo m OD/\ABJTIE ® RAI5 EATIE
ﬁ:;:&fmﬂf&ﬂ * The use of 11° positive anjg(le blade OD Octagonal Cutter © KiHARYIYIE S
. c y rigidity . -
CBEA KA DH forlarge-esd cuting o \ATIK, EFHE
cooling holes
CRBEHEANA % 3 for special shaped blade edge angle * Using the 15 degree angle blade
1= §)8IS % (Cutting Parameters): R19-R21 ST A NBHRIRMNIT AR S * High feed low cutting resistance
FEH (Spare Parts): P01-P04 % The octagonal tablets, the economy is good
5 WRIS M (Cutting Parameters): R19-R21
BE R+ size EEAR Clamp| 847 Screw| 3 Wrench SYA Order Price  Price TR (Spare Parts): PO1-PO4
ocl
Cat. No y
D D1 | D2 d H w T @ Number (RMB) (RMB) = BHE HZ B T 7B Order Price
TXPO6RS0-224T | 50 | 47 |41.4] 22 | 50 | 10.4| 6.3 | 1.5 | WPMWO6X4152PR | TXP-06| M4x10| T15 e [322400] - 280 Cat. No Diameter Inside diameter Long Blade number Insert IS Number  (RMB)
TXP0O8R50-22-3T 50 47 | 38.6| 22 50 | 10.4| 6.3 | 1.5 e [322402| 283 280
D-63-22-4T 63 22 50 4 . 322700 300
TXP0O8R63-224T 63 59 | 51.6| 22 50 | 10.4| 6.3 | 1.5 e 322404 317 350 oD-53 .
WPMTO080615ZSR | TXP-08| M5x11 T20 OD-80-27-5T 80 27 50 5 322702 550
TXPOBREO-274T | 80 | 70 | 68.6| 27 | 50 |12.4| 7 | 1.5 e [322406| 483 | 600 L (0 ST 100 32 63 5 ODMT060508 5 320704 | 750
TXP08R100-32-6T | 100 | 90 | 88.6| 22 50 | 14.4 8 1.5 e [322408] 700 800 0OD-125-40-8T 125 40 63 8 . 322706 950




LR 8k T]

Clamp Type Milling Cutter

T E B

BERITI R

T K (Insert):
BLMPO0603TN ZP153
Ap:0.3-0.8 (mm)
Fz:0.9-1.0 (mm/rev)
Vc:120-160 (m/min)

TEBL/EXN

FEA S

BRITI A

71 F(Insert):
LNMUO303ZER ZP153
Ap:0.06-6.0 (mm)
Fz:0.02-0.30 (mm/rev)
V¢:100-200 (m/min)

& FREDE
Unstable Cuting

o —EumE g FhEuM
U

General Cutin nstable Cutting

o HEUM ¢ —WuH
Stasle Cutting s

General Cutling

IE] Steel v vzzree El Steel o vsxnee
M | FEE Stainless Steel © oux%vO F8R Stainless Steel © osasoo
K| #% Iron o v exxx ik Iron o v exxx
N | 86R/8k/5%F ERAH Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o . SR8 B A Aluminum/Copper/Magnesium/Zinc/Plastic/Wood ° .
S | BERAR MRER Carbide/Powder Metallurgy ® xxee BRAEHRAE Carbide/Powder Metallurgy 0 PrTY )
H | ammasmas Titanium/Superalloy/Carbon Fiber 5 txee H/RE A S/BAS Titanium/Superalloy/Carbon Fiber o xzee
tp|  memm AR AEEE (897 it (i) BENF | v goonoo ERER MR AENS (7 i (@ RE7H
g o £ 2o-858383
gﬁ Product Image Dimensioning Specification re A B T T";j“;:“;‘:r §§§§2§EEEEE Product Image Dimensioning Specification re A B T ‘“:;‘;;I‘Zgr
re
a% ol o %
pLE T :
BLMP 0603R-M - 639 | 9 | 373 LNMU 0303ZER-MJ 1.2 1159 | 60 | 4.29 cesce
&R ! (Tasinolder) 0303ZER-ML 12 1159 60 | 429 (Toclneleer) aB
- D7 -
AL pva
%l #%]
B &
=
#7) BLMP 1205R-M 15 12 - 55 i —a i 1 4 & - #7)
jo EXNO3R #L3 Rt 4 37 6 T)-WE M0 £ 7 A EXNO3R #LR R BRIFLH T T E-NE AR T H s
T Clip-Type Fast Feed End Milling Cutter Clip-Type Fast Feed End Milling Cutter Head Bk
#7] -Double-Sided Four Corners Insert y -Double-Sided Four Corners Insert %71
.
et sk
T - TIHF
TEBL HURABR#E G- NEM R IIH TFBL MR B4t T B NEM R IIH w ook
# Clip-Type Fast Feed End Milling Cutter Clip-Type Fast Feed End Milling Cutter Head b
TI#F -Double-Sided Four Corners Insert -Double-Sided Four Corners Insert L1 ‘ TI#F
L
e I |
é% TR (Insert): 7 B e
cre Iren
dm BLMPO603R-M ZP153 n "
— Ap:0.3-0.8 (mm) ® MR Bita, miE
= F2:0.9-1.0 (mm/rev) Y Characteristic: High Feed, High Efficiency
[ SO .
7] o A, HHA, BUE 34T Screw [4RF Wiench V¢:120-160 (m/min) 1= Z®H#H (Spare Parts): P01-P04
R BES, &
T W 4 75 MRS Rt Dimensions | 71% A
C : . L
* Characteristic: High Feed, High Efficiency o S dc[am [ L1] L | Edge [RS8 34T screw [1RF Wrench
PRI (Spare Parte) 01008 337130  [EXNO3R 16-16-100-2T| 16 [ 16 [ 30 [100] 2 | 450 @ #5:: &itth, HHE
T T 45 LR S Rt Dimensions 337132 [EXNO3R 16-16-160-2T| 16 | 16 | 35160 2 500 5 Characteristic: High Feed, High Efficiency
SoenTee o do TamI L1 L] Edge 337134 [EXNO3R17-16-100-2T| 17 | 16|30 | 100| 2 | 450 .0~
PSR O dor Number pect © 9 337136 [EXNO3R 17-16-160-2T[ 17 [ 16 | 30 [160| 2 | 550 & TR (SparoParis)
TEm 337100 | TEBL 216-20-150 16| 20 | 40 [150] 2 337138  |EXNO3R 18-16-100-2T| 18 | 16 | 30 [100| 2 475 TR R MRS Rt Dimensions
337102 TEBL 216-16-150 16 | 16 | 40 [150| 2 337140 EXNO3R 18-16-160-2T| 18 | 16 | 30 [ 160 2 600 OrEEr NuiiseEr Specification D] d|H
7] 337104 TEBL 217-16-150 17 | 16 | 30 [150 2 337142 EXNO3R 20-20-130-3T| 20 | 20 | 50 | 130 3 600
337106 TEBL 320-20-150 20| 20|50 (150| 3 337144 |EXNO3R 20-20-160-3T| 20 | 20 | 60 |160| 3 650 337180 EXNO3R 40-40-16-6T | 40 | 16 | 40 6 900 —_—
i 337108 TEBL 321-20-150 21120|35(150| 3 337146 |EXNO3R21-20-130-3T| 21| 20 | 50 |130| 3 625 337182 EXNO3R 50-22-45-8T [ 50 | 22 | 45 8 1150 B
Fx 337110 TEBL 425-25-180 25| 25|30 (180 4 337148 EXNO3R 21-20-160-3T| 21 | 20 | 50 | 160 3 675 337184 EXNO3R 63-22-45-9T | 63 | 22 | 45 9 1350 FR
TR 337112 TEBL 426-25-180 26| 25|40 (180 4 337150 EXNO3R 22-20-130-3T| 22 | 20 | 50 | 130 3 650 T
337114 TEBL 532-32-200 32| 32 (120(200 5 337152 EXNO3R 22-20-200-3T| 22 | 20 | 50 |200 3 750
337116 TEBL 533-32-200 33 ] 33 | 50 {200 5 337154 EXNO3R 25-25-140-4T| 25 | 25 | 60 [140| 4 800 —
= = s 337156 EXNO3R 25-25-200-4T| 25 | 25 | 80 (200| 4 900 S 4B &t 3
PN @[ <
TEBL TRt F - W E M 7]~ ; ki, miE e o 337150 |EXNOSR 26.25-1404T| 26 | 25 | 00 |140| 4 | o5 EXNO3R RIEMMFRIIL-MEMAI A
- N % Characteristic: High Feed, High Efficiency 337160 EXNO3R 26-25-200-4T| 26 | 25 | 60 [200| 4 975 Fastfeed locking bit-double sided four corner blade
Fast feed locking bit - double sided four corner blade 337162 EXNO3R 28-25-140-4T| 28 | 25 | 40 | 140 4 1050
15 R (Spare Parts): P01-P04 337164 EXNO3R 28-25-200-4T| 28 | 25 | 40 [200 4 1150
oD 337166 EXNO3R 30-32-160-5T| 30 | 32 | 70 [ 160 5 1400
i PECELT] MRS R=F Dimensions 337168 EXNO3R 30-32-200-5T| 30 | 32 | 80 [200 5 1550 bim| @d
o= I
ﬂ\ QML 2d Order Number Specification D[ d 337170 EXNO3R 32-32-150-5T| 32 | 32 | 70 [150| 5 1550
XA J 337172 EXNO3R 32-32-200-5T| 32 | 32 | 80 |200 5 1725 N
(€)% w asamenil ss7iir | TRBLE40-22R-06 140 | 16 |40 337174  |EXNO3R 35-32-150-5T| 35 | 32 | 40 |150| 5 | 1725 R AE
. TFBL 750-22R-06 50| 22|45 With Cooling Hol
ap #HEIL O R i Ots 8 337176 |EXNO3R 35-32-200-5T| 35 | 32 | 40 |200] 5 | 1925 ith Cooling Hole
L With Cooling Hole SEIANE = S 24T Screw | HF Wrench

44T Screw [#RF Wrench

o il B, HUE
% Characteristic: High Feed, High Efficiency
1= FHEH (Spare Parts): P01-P04

o fm: Bits, BHE

% Characteristic: High Feed, High Efficiency M2.5x6

R Cpae e pono PRCETT] MRS Rt Dimensions
T I8 4 85 MIEES R} Dimensions | 71% Order Number Specification oD|@d| L | M| Edge

SICONTILEY  Specification @D|@d| L | M| Edge 337190 | EXNO3R217-M08 17 [13 | 25 |M8| 2
337120 TEBL 216-M08-06 16 | 13| 25 | M8 2 337191 EXNO3R220-M10 20| 18| 30 (M10 2
337121 TEBL 320-M10-06 20| 18 | 30 (M10 ) 337192 EXNO3R221-M10 21118 30 [M10 2
337122 | TEBL 425-M12-06 25| 21|35 |M12| 4 337193 | EXNO3R325-M12 25| 21|35|M12] 3
337123 TEBL 532-M16-06 32| 29| 40 [M16 S 337195 EXNO3R326-M12 26 | 21| 35 |M12 3
337125 TEBL 535-M16-06 35|29 | 43 [M16 5 337197 EXNO3R332-M16 32| 29| 40 |M16 3
337127 | TEBL 642-M16-06 42129 43|mM16] 6 337198 | EXNO3R335-M16 3512940 |M16| 3




LR 8k T]

45°TH %%

71 R (Insert):
SEET12T3-DM ZP152
Ap:0.3-0.8 (mm)
Fz:0.1-0.3 (mm/rev)
V¢:100-300 (m/min)

Clamp Type Milling Cutter

J1 K (Insert):
SEMT13T3AGSN-JM ZP152
Ap:0.3-0.8 (mm)

Fz:0.1-0.3 (mm/rev)
Ve¢:100-300 (m/min)

HEHIT) A

BEHITI A

RIETS o HEVM @ —MUME g TREUM IR @ HEVM @ —MUH g TREUH
Cutting Enviranme Stable Cutting GanoralCutting_%%_Unstable Cuttng Cutiing Enviranmer Stable Cuttng GonoralCutting_3%_Unstable Cuttng
P|® Steel o0 wxzxwe P|® Steel o0 erxzee
M | FEE Stainless Steel © o#x%OO M | FE Stainless Steel © ozEr00
K | #5 Iron o v wxxx K | #% Iron o v exxx
N | 8 aE 2 R R it i o . N | 38 $/ SRR i Plastic/Wo ° .
S | BRAE HREE Carbide/Powder Metallurgy o B S | BRA® BERAS Carbide/Powder Metallurgy o xE0e
- HmRA /A Titanium/Superalloy/Carbon Fiber o 2800 - /MR E S/ T Titanium/Superalloy/Carbon Fiber o PRI
ERER AR HMEES A& BFLiHED 67) BENE | o gronmn iﬁa FRER LR~ MBS RE Brsen @) BEMR | o o-caon
g Produc Dimensior Spet . watching  BEESBRRLERE EF{ R —— o —| waenng  [q22BERRELES
B roduct Image imensioning Specification re A B b a Y OBBZSOREREY g roduct Image mensioning re A B T od | a e IOBBZZOREREY
SEET 12T3-DF
>&B re }y" @ 12T3-CF
{ = N < 12T3-EF =
=] SEET 13T3AGEN-JL . Pieiam B
PN - SEMT 13T3AGSN-JH 15 | 134 | 19 397 | 20° VA . 1273-C - | 134 | 255 | 397 | a1 | 200 | B N
am i 13T3AGSN-JM (Toolholder) . Vs 12T3-EM (Toolholder) aB
37 #78 12T3-DR D74 kv
[ 12T3-CR
%l A men_12T3-LH . 7]
B il
7] 7]
_#® W ASX44571% ] Rzl
Bk ASX445 Cutter sk
iﬁ 7] Rovgring, "Shourder miig. f*jj
Lot B R2457]%
ot ot
i R245 cutter TIHF
il D3 D2 il
TIFF |4 TI#F
;; ® XHIBTIH, PHIRE D ;;
© XHWRAETIR, TIRIHINEE & B S—
&7 * Before the big angle blade, cutting load E_FJ
B % Ahard alloy cutter pad, cutting better rigidity
7] FRH (Spare Parts): P01-P04 a7
= 7 7 =
T KR | IEIR | vEER | AR =) .
2 8 s ol Y D D2 D3 L 7K PYUO Order  Price D1 D D3 D2
i Cat. N ade Largest | Cutting End face Inside Lon Insert Number  (RMB)
Ed] £l WO number | giameter size diameter diameter 9 ¢
1 ASX445R/L50-22-3T 3 . 331200 350
ASX445R/L50-22-4T 4 63 50 47 22 50 ° 331202 350
ASX445R/L50-22-5T 5 b4 331204 400 Y '
ASX445R/L63-22-4T 4 ° 331206 350
4 ASX445R/L63-22-5T 5 76 63 47 22 50 o 331208 350 [
FX ASX445R/L63-22-6T 6 ° 331210 400 L
T8 ASX445R/L80-27-4T 4 . 331212 480
E— ASX445R/L80-27-5T 5 93 80 58 27 50 . 331214 480
ASX445R/L80-27-6T 6 L4 331216 600
ASX445R/L80-27-8T 8 L4 331218 700
ASX445R/L100-32-5T 5 ] 331220 | 750 ® XAk, MEGEN
ASX445R/L100-32-6T 6 113 100 76 32 50 SEMT13T3 o 331222 750 O XEBRBEETIR, TIRTIHIRIMEF
ASX445R/L100-32-7T 7 o 331224 800
ASX445R/L100-32-10T 10 hd 331226 900 * Before the big angle blade, cutting load
ASX445R/L125-40-6T 6 O 331228 900 I ISR (Cutling Paramelers) R15-R1E * Ahard alloy cutter pad, cutting better rigidity
FR# (Spare Parts): PO1-P04 .
ASX445R/L125-40-7T 7 138 125 87 20 63 . 331230 | 900
ASX445R/L125-40-8T 8 . 331232 1000 ] T 7 7
& | WHEERE | WE | 2K !
g . M = T | mAR | TIHIE & 7| &
ASX445R/L125-40-12T 12 331234 1200 g__l =5 D1 D D2 D3 L jj):‘l- Stock Order Price
ASX445R/L160-40-7T 7 L4 331236 1500 Blade Largest Cutting End face Inside Number (RMB)
Cat. No number diameter size diameter diameter Long sl
ASX445R/L160-40-10T 10 173 160 100 40 63 . 331238 | 1500 —
ASX445R/L160-40-16T 16 O p— e R245R63-22-5T 5 76 63 47 22 50 L4 331300 350
ASX445R/L200-40-8T . P R245R80-27-5T 5 93 80 58 27 50 . 331302 480
. ° 2129 200 175 40 63 . 1242 | 2200 R245R100-32-6T 6 13 100 76 32 50 . 331304 | 750
ASX445R;L200-40-1 2l 2 SHig 2600 R245R125-40-7T 7 138 125 87 40 63 SEET-12T3 . 331306 900
-60- .
ASXA44SR/L.250-60-10T ° 262.9 250 220 60 63 331246 ) 2600 R245R160-40-10T 10 173 160 100 40 63 . 331308 | 1500
)-60- .
S XCHOR/E250-60- Tl L S31248) 5200 R245R200-40-12T 12 212.9 200 175 40 63 . 331310 2200
* . . . .
Shim  SSS445N; Screw MDS5035; Wrench  PL35; Screw MS3512B; Wrench T15 R245R250-40-14T 14 262.9 250 220 60 63 0 331312 | 2800




® gz 3t 4 E
MZG Clami)-'ll"y;p%eil\}ilflﬁg%utter 45 OE .E;IE

o . @d J) K (Insert):
KM #13& X45°F [ 32 % 7] & w SEMT13T3AGSN-JM ZP152
45° Planar End Milling Cutter Head with Machine Clamp %:% | ~ Ap:0.3-0.8 (mm)
i = w Fz:0.1-0.3 (mm/rev)
| %EEIJI]H- Ve:100-300 (m/min)
n LIREEL e BETM, e TETE . w TREDN
1 T B Steol o exsrve
| M | &R Stainless Steel © oBBBOO
K | @ Iron o v uxzx
! 9 N | 6340 8 2R AH Aluminum/Copper/Magnesium/Zinc/Plastic/Wood o .
S | EEA® BRAS Carbide/Powder Metallurgy o xx0e
15 YIMIEE (Cutting Parameters): R15-R18 2D [H | sumine /s Titanium/Superalloy/Carbon Fiber o zxee
TR (Spare Part; | @D1 z Pr— RS p— R<f Dimension (mm) RENB | v oo onnn
Product Image Dimensioning sp re A B T ad a° (ETieifine 8§§§§§§§£§§
O ERAM. HF BUSHHEIA, EVBE" * Fitsteel, castings, aluminum pieces of various materials blade, the relevance of a wide range of Toolholder  |EOONNNNNNNN
O SREEEK, HMHT * Capacity chip a large space, good chip disposal
O TEMFEGLHIEMT * Planar milling finishing applicable N B
© KHif, MG * Large rake angle, cutting a small load LE\ /&\ -
1204AFSN - 127 | 266 | 476 | 556  20°
%& MigE S R~ Dimensions (mm) 7% | TR _nsert | BT Screw [4RF wrench %W Price y SECR SoaArTN - 127 286 | 470 | 55 207 | M %ﬁ
Dﬁﬁ Specification D D1 d H W T Edges Code (RMB) 45° (m; oo nﬁﬁ
%71 KM12R50-22-4T 50 64 22 50 | 10.4 | 6.3 4 ® [331500[ 240 %77
— KM12R63-22-4T 63 77 22 50 | 10.4 | 6.3 4 e | 331502 280 —
B KM12R80-27-5T 80 94 27 50 | 12.4 7 5 ® |331504| 400 ()
w7 KM12R100-32-5T 100 | 114 32 50 | 14.4 8 5 e | 331506| 600 (=4 7]
KM12R125-40-6T 125 | 139 | 40 63 | 16.4 9 6 ® 1331508 750 SEKT 1204AFTN - 127 | 266 476 | 556 | 20° | 7#: csee
Rk KM12R160-40-6T 160 | 174 | 40 63 | 16.4 9 6 e | 331510 1150 (Toolholder) Bk
~ KM12R200-60-8T 200 | 210 60 63 | 257 | 14 8 SE..1204.. M5.0x11 T20 ® |331512] 1600 o7e s
g2 KM12R250-60-10T 250 | 260 | 60 63 | 25.7 | 14 10 e | 331514 2100 %7
= KM12R300-60-12T 300 | 310 60 65 | 257 | 14 12 ® |331516] -
ek KM12R50-25.4-4T 50 64 | 25.4 | 50 10 6 4 ® | 331518] - sk
TIF KM12R63-25.4-4T 63 77 | 254 | 50 10 6 4 e |331520] 280 = TIFF
—_— KM12R80-25.4-5T 80 94 | 254 | 50 10 6 5 e | 331522 400 SEHT 1204AFSN - 127 | 286 | 476 | 556 | 20° | NfA: ORoNd —_—
1%]?; KM12R100-31.75-5T 100 | 114 |31.75] 50 13 8 5 e |331524] 600 gteren 1%]?;
— AL-KM  #L3Rs45°F 4TI E-RHI =K
%7 45° Planar End Milling Cutter Head with Machine Clamp = %]
-Aluminum High Gloss . . . T
SEHT 1204-AK - | 127 | 266 | 476 | 556  20° .
(Toolholder)
w7 o @7l
i-pJ] 7]
|
R
i ) e 44
=3 SEHT 1204 <127 266 | 476 | 556 | 200 | TR e =351
—_— D75
=" YIHIS M (Cutting neters): R15-R18.
REH (Spare Parts): PO1-P04 =
" 5 y Lo | M X
iﬂ'\ O HE: BMERK, ERR, 455X UES % Features: Aluminum Shell, Light Weight SELTR 208 B 127 | 266 | 476 | 586 | 20 (Toolholder) N° ff"{
Fi 45° High Polishing Efficiency D75 FR
TIHE L
igRS R~ Dimensions (mm) NH TIH Insert 48T screw |$RF wrench | Eeve [E TN TISN
Specification D d H W T | Edges S code (RMB)
AL-KM12-50-22-4T 50 22 50 | 10.4 | 6.3 4 e [331550] 260
AL-KM12-63-22-4T 63 22 50 | 10.4 | 6.3 4 e | 331552 320
AL-KM12-80-22-6T 80 22 50 | 12.4 7 6 e | 331554 440
AL-KM12-80-27-5T 80 27 50 | 12.4 7 5 e | 331556 440
AL-KM12-80-27-6T 80 27 50 | 12.4 7 6 ® | 331558/ 440
AL-KM12-100-22-6T 100 22 50 | 14.4 7 6 e |331560| 750
AL-KM12-100-27-6T 100 27 50 | 14.4 8 6 e |331562| 750
AL-KM12-100-32-5T 100 32 50 | 14.4 8 5 e | 331564 750
AL-KM12-100-32-6T 100 32 50 | 14.4 8 6 e | 331566 750
AL-KM12-125-22-6T 125 22 63 | 16.4 8 6 e | 331568 1165
AL-KM12-125-27-6T 125 27 63 | 16.4 9 6 SE..1204.. M5.0x11 T20 e |331570| 1165
AL-KM12-125-32-6T 125 32 63 | 16.4 9 6 e |331572[ 1165
AL-KM12-125-40-6T 125 40 63 | 16.4 9 6 e |331574| 1165
AL-KM12-160-27-8T 160 27 63 | 16.4 9 8 ® | 331576 1300
AL-KM12-160-32-8T 160 32 63 | 16.4 9 8 e |331578| 1300
AL-KM12-160-40-6T 160 40 63 | 16.4 9 6 e | 331580 1300
AL-KM12-160-40-8T 160 40 63 | 16.4 9 8 e |331582 1300
AL-KM12-200-40-10T 200 40 63 | 16.4 9 10 e | 331584 2800
AL-KM12-200-60-8T 200 60 63 | 16.4 9 8 ® |331586 2800
AL-KM12-250-60-10T 250 60 63 | 16.4 9 10 ® | 331588 3500
AL-KM12-300-60-12T 300 60 63 | 16.4 9 12 ® |331590] 4300




LR 8k T]

Clamp Type Milling Cutter

B SD45° E#TIZ
Face Milling Cutter o EMI15° ERMTIA

e RABmMUEBREENE %ﬁﬁun)ﬂf

= H|# % (Cutting Para * Using the blade angle is 15 ° L i Hl L FREH
‘pH:r‘;;;»Pc PO " % High-rigidity alloy pad. CutingEnvionpant @ siablecuting ® conerslutting ¥ Unstabl Cutting
P|® Steel o0 erxzee
M | TR Stainless Steel © OBBHEOO
S R~ Size Order Price K | #% Iron o v exxx
Cat. No 512D FL1Ed BEH AT T 5 Insert Stock e (RMB) g g:;?;ixﬁ é\ur’v:h/';/{‘«n:pe‘;‘/ll\ai'\es\ulemc/P\asuc/Waod R B
SD445R/L03-25.4 80 25.4 55 5 * 1331700] 960 bR il sl e S - M
SD445RIL04-31.75 100 31.75 55 5 o |331702| 1100 | e s o8
SDA445R/L05-38.1 125 38.1 60 6 o |331704 1500 3 2 - s R Dimension (mm) RETIE
SD445R/L06-50.8 160 50.8 60 8 [:]Xﬁ- D)ﬁ. SDKN1203 e [331708| 2200 @2 - REA MRS RS i
SD445R/L08-47.625 200 47.625 65 10 oA Tt e 1331708| 2800 g Productimege Dmensonng Sreceaten re A | BT = Toolholder
SDA445R/L10-47.625 250 47.625 65 12 i e |331710| 4800
SD445R/L12-47.625 300 47.625 65 14 e |331712| 7000 re XP SOKN 1203AET R AR AT N
SD545R/L03-25.4 80 25.4 55 5 e [331714] 960 < - 15875 476 | 15° =g
%’E SD545R/L04-31.75 100 31.75 55 5 o |331716| 1100 - P SEERY20ALIN 10 |ar ) 14 e i %ﬁ
=3 SD545R/L05-38.1 125 38.1 60 6 e |331718 1500 . B AL il e I S I B R (Toolholder) N
37 SD545R/L06-50.8 160 50.8 60 8 [:]Xs- D)'s. SDKN1504 e [331720| 2200 4 2 2 1504AFTN1 T |15%75| 14 | 478 | 200 077-078 3
%71 SD545R/L08-47.625 200 47.625 65 10 Hms—lT =t e 331722 2800 L—H T SPKN 1203EDR - 127 | 14 | 318 110 “% 7]
Biaddl SD545R/L10-47.625 250 47.625 65 12 : - o |331724| 4800
as SD545R/L12-47.625 300 47.625 65 14 o |331726| 7000 N X2 . -
%71 SEKR 1203AFEN-JS 10 | 127 | 14 | 318 | 20° s )l
—_— ), B 1504AFEN-JS 1.0 15875 14 4.76 20° (Toolholder)
o 45° o 8 o
g”‘ B SE45° m#t& o G200 ERTIA e Z*
7] Face Milling Cutter o KEBIE A T 7]
s - REBAMBERARTIE o
TIF * Using the blade angle is 20 * _mend Cutting Conditions TIHF
—_— . * Large front-edge-shaped —
= JHEE (Cu
b= d F \Sp'—nr‘a ):P01-P04 * High-rigidity alloy pad aa
i T 4 WE T A aE PIHIR E BUIHSGE kil
3k £ R size Order  Price Cat. No. i mm/tooth
;;’; CﬁﬁNo @D 7E&d =EH TARET T M Insert Stock Number (RMB) Hardness Balde No. (m/mm) ( / ) iiitg
SE545R/L03-25.4 80 25.4 50 5 e 1331800] 960 - -
= SE545R/L04-31.75 100 31.75 50 6 o [331802| 1100 4N ZP201 200 (160-250) =
7 SE545R/L05-38.1 125 38.1 50 7 e 1331804 1500 =HB180 ZP150 180 (100-250 0.2(0.1-0.3 b
g;]] SE545R/L06-50.8 160 50.8 55 8 [:]Zfs D)rm. SEKN1504 o |331806| 2200 (8S400, S10C%) Tl 140( 80-200 ) ( ) g%
SE545R/L08-47.625 200 47.625 55 10 Dty S s e |331808| 2800 -
SE545R/L10-47.625 250 47.625 55 12 1o e e |331810| 4800 ( ) .
iR SE545R/L12-47.625 300 47.625 55 14 e [331812| 7000 ZP150 200 (160-250)
i SE445R/L63-22 63 22 50 7 « [331814] 850
%75) SE445RIL63.25.4 63 25.4 50 4 o |331816) 850 B, A&W HB180-280 | ZP152 180 (100-250) 0.2(0.1-0.3)
SE445R/L03-25.4 80 25.4 50 5 o |331818) 960 -2(0.1-0.
SE445R/L04-31.75 100 31.75 50 6 [:]y D o |331820| 1100 (845C, SCM440%) ZP153 140 (80-200)
SE445R/L05-38.1 125 38.1 50 7 i L | SEKN1203 o |331822 1500
SE445R/L06-50.8 160 50.8 55 8 ey i << o |331824| 2200 HB280-350 ZP153 120 (80-160) 0.15(0.1-0.2)
SE445R/L08-47.625 200 47.625 55 10 : - o |331826 2800 =
SE445RIL10-47.625 250 47.625 55 12 o |331828| 4800 M | TE4H (SUS304%F) | =HB270 ZP152 150 (100-200) 0.2(0.1-0.3)
" = 300 47.625 55 14 331830| 7000
- SE445R/L12-47.625 . BH REEL pr— ZP201 175 (100-250
FR _ 0.2(0.1-0.3)
71 (FCD250,FCD400% )| =450MPa ZP152 160 (100-220)
it q,
B SPe5° AUIIE | Bas ZKo1 650 (300-1000) 0.12(0.05-0.2)
Face Milling Cutter _
L e R ERAA © 714 ®(min")=(1000xY) & ) +(3. 14xT) RYIM TN E )
) « RABALERARTIE © Lk T{F & 3 4 i (mm/min)=5 713 4 Bx7] R 7 #xT] R 55 8
15" BB (Cutting Parameters): D78 '\> —! % Using the blade angle is 11 °
FEH (Spare Parts): PO1-P04 IR * High-rigidity alloy pad
B FP75° ®E#& ”
Jp=] T Si Pri Face Milling Cutter
cat.No 0 | oiee [ wmw | A8 2SS et  (RMB) ’
- =1
SP435R/L03-25.4 80 25.4 55 5 e [331900] 960 BRI ERIR
SP435R/L04-31.75 100 31.75 55 5 e |331902 1100 B MBI (Cutting Parameers):D78 * REBRUARE27E
SP435R/L05-38.1 125 38.1 60 6 e |331904| 1500 R e e Ui e bl amale o 11 -
SP435R/L06-50.8 160 50.8 60 8 5{5- .. | SPKN1203 e |331908| 2200 i o e
SP435R/L08-47.625 200 47.625 65 10 Dy S s e |331908| 2800
SP435R/L10-47.625 250 47.625 65 12 : 2 e |331910| 4800 R Rt size Order  Price
SP435R/L12-47.625 300 47.625 65 14 e [331912] 7000 Cat. No S ED 7L2d =EH TR T T A& Insert Stock (RMB)
SP535R/L03-25.4 80 254 55 5 o [331914] 960
SP535R/L04-31.75 100 31.75 55 5 e [331916] 1100 FPR/L03-25.4 80 25.4 55 5 .
SP535R/L05-38.1 125 38.1 60 6 o |331918| 1500 RRRITLS 7S 100 31.75 55 6 e |332102 1100
SPE35R/L06-50.8 150 S8 00 H o (s, | sPrnisos o 1331920 2200 FPR/L05-38.1 125 38.1 60 8 \, o 1332104 1500
LI 200 e o 0 — o L e FPR/L06-50.8 160 50.8 60 10 o [, | SPKN1203 o |332106| 2200
SP535R/L10-47.625 250 47.625 65 12 e AT o [331924 4800 FPR/L08-47.625 200 47.625 65 12 L e 332108 2800
SP535R/L 12-47.625 300 47.625 65 14 o |331926 7000 FPRIL10-47.625 250 47.625 65 18 ’ ® |332110| 4800
. FPRIL12-47.625 300 47.625 65 20 o [332112] 7000




® S W
MZG Clami)-'ll"y;p%eil\}ilflﬁgjjcmter

B MFL $54%i F X T14F
MFL Carbide screwed end mills holder

B MFT 8 F R ITIFZR 75

MFT Lock teeth cutter bar series

1w pus [amop punoy

Jw pua Japinoys ajbue Jybry
Japno Bulliw paay piemioy jseq
Jopno Bulliw peey piemioy jses

18Nno BulIW Ys|ul JapINoYs SIBUE 1By

o
15
2
-3
>
5
H
8
By
@
g
2
a
T
H
g
EA
£
a
o
£
g

I Fig1
.
L |
H
%@ T 4R Fi = . . Steel UM Carbide [T %%
B8R e Fig | L D | D1 | U1 a M D2 RMB RMB am
hva Number Cat. No Stock | )| Stock | ) I
g% paebs 336200 | MFLO6-06-060-M03 1| 60 6 6 - - Mixo.s | 35 o 400 . 800 7
. D43-D44 336202 | MFL06-06-120-M03 1| 120 6 6 - - o 400 . 800 .
& 009026 336204 | MFL08-08-060-M04 1 60 8 8 - B ° 400 . 800 [ A
%] 336206 | MFL08-08-100-M04 1| 100 8 8 - - M4X0.7 s ) 400 . 990 7]
— 336208 | MFL08-08-150-M04 1| 150 8 8 - - : : o 400 . 1100 —_—
B sk o 336210 | MFL08-10-150-M04DT60 2 | 150 | 10 7.8 | 60 i o 450 o 1200 Bk
7] e 336212 | MFL10-10-075-M05 1] 75 10 10 - - ) 500 . 1000 %71
— N o2 336214 | MFL10-10-100-M05 1 | 100 | 10 10 - = o 500 . 1080 —
= Advantage o
-10-150~ - - M5X0.8 5.5 o 500 . 1290
e /=) g 336216 | MFL10-10-150-M05 1] 150 | 10 10 e
C 336218 | MFL10-12-150-M05DT60 2 | 150 | 12 9.8 | 60 i o 550 o 1450
T %#ﬁﬁﬁ#&ﬂ_&iﬂﬁﬂ&ﬂﬁﬁfléﬁé, ERKBRKOMIAFTELNIRS, SEERHIFHELEMIgRRS T2~50. 2000 336220 | MFL10-20-300-M05DT135 2 | 300 20 9.8 135 | 2.15° o 650 o 5500 ZLi
= nulmakﬂféiﬂ, MIMABEZ TH. ) o D66 336222 | MFL12-12-075-M06 1 75 12 12 - - o 500 L] 1150
s TIEMERASRATRYE, BEAENTHEMINFAMIER, NNANEALEBAGRANEN. 336224 | MFL12-12-100-M06 1| 100 | 12 12 . - o 500 . 1290 A
TI#F AT IR AR BIBSGER, AENKLESERENERIIL, BRETHAK. 336226 | MFL12-12-150-M06 1 150 12 12 N _ o 500 . 1480 TI#
e High-performance interchangeable cutter head and the handle a combination of rigidity, in the long hanging longer processing caneffectively suppress vibration, as compared 336228 | MFL12-12-200-M06 1 200 12 12 - - M6X1.0 6.5 o 500 . 1980 |
EX with traditional steel arbor processing efficiency is improved by 2 ~ 5 times. Significantly reduce processing time, processing costs drop. 336230 | MFL12-16-150-M06DT70 2 150 16 11.8 70 1.65° . : o 550 o 2200 Ex
%7 Segment of the free combination and can be changed, coverage from roughing to finishing all the processing requirements, intensive management tool epoch-making significance. 336232 MFL12-16-200-M06DT90 2 200 16 11.8 90 1.3° o 600 o 2600 %]
As the shank and arbor with threaded connections, you can easily and quickly on a replacement machine Cutter, reduce production costs. 336234 MFL12-16-250-M06DT115 2 250 16 11.8 115 1° (] 700 (¢} 3200 —
= , N 336236 | MFL12-16-300-M06DT135 2 | 30| 16 | 11.8 | 1385 | 1.7° [ 800 [ 3800 =
&7 B BT-MFT $i ZF X J14% 336238 | MFL15. 6-15. 6-150-M08 1 [ 150 | 15.6 | 15.6 - - M8X1.25 | 85 5 500 D 1900 m7l
7] BT/MFT Screwed end mills holder , 336240 | MFL16-16-100-M08 1 ] 100 | 16 16 - - o 500 D 1980 7]
— 336242 | MFL16-16-150-M08 1| 150 | 16 16 - - o 500 . 2240 —_
™ I 336244 | MFL16-16-200-M08 1 | 200 16 16 - - o 800 . 2630 ™
N 7 336246 | MFL16-16-250-M08 1 | 250 | 16 16 - - M8X1.25 | 8.5 ) 900 o 3130 [N
§TJ ( r » 336248 | MFL16-20-200-M08DT90 2 | 20| 20 | 15.5 | 90 1.3° o 900 o 4000 = Tj
A5 | |—' 336250 | MFL16-20-250-M08DT115 2 | 250 | 20 | 155 | 115 i o 950 o 4700 A5
% o 336252 | MFL16-20-300-M08DT135 2 | 30| 20 | 155 | 135 | 0.85° [ 1000 [ 5400 -
I L—— 336254 | MFL19-19-200-M10 1 [ 200 [ 19 19 - - M10X1.5 | 105 o 800 D 2600
| Y 336256 | MFL20-20-100-M10 1] 100 | 20 20 - - o 800 D 2650
%71 336258 | MFL20-20-150-M10 1] 150 | 20 20 - - ) 900 ° 3130
L 336260 | MFL20-20-200-M10 1 | 200 | 20 20 - - o 1100 . 3950
336262 | MFL20-20-250-M10 1] 250 | 20 20 - - o 1300 ° 4650
336264 | MFL20-20-300-M10 1 ]300 | 20 20 - - M10X1.5 | 10.5 o 1600 ° 5360
336266 | MFL20-20-400-M10 1 | 400 | 20 20 - - o 1800 . 6200
! R &+  size £ S| Order Price 336268 | MFL20-25-200-M10DT90 2 | 200 | 25 | 19.8 | 90 1.6° o 2000 o 6800
Gt RS Number (RMB) 336270 | MFL20-25-250-M10DT115 2 | 250 | 25 | 19.8 | 115 | 1.25° o 2300 o 7900
: L L1 L2 d1 T eight (KG) 336272 | MFL20-25-300-M10DT135 2 | 30| 25 | 19.8 | 135 | 1.1° o 2800 o 9800
BT40-MFT16-M8-60 160.4 95 50 15 M8 A e 336100 350 336274 | MFL24-24-200-M12 1| 200 | 24 24 - B Wit 75 | 125 B 1200 . 4030
BT40-MFT16-M8-110 2104 145 110 15 M8 12 o |338102| 350 336276 | MFL24-24-250-M12 1 | 250 | 24 24 - - : : o 1200 . 4300
BT40-MFT20-M10-60 160.4 95 60 19 M10 1.1 e [336104| 350 336278 | MFL25-25-100-M12 1 ] 100 | 25 25 - - o 1400 ° 4670
BT40-MFT20-M10-110 210.4 145 110 19 M10 1.2 ° 336106 350 336280 MFL25-25-150-M12 1 150 25 25 - - ] 1600 . 5360
BT40-MFT25-M12-60 160.4 95 60 24 M12 1.1 ° 336108 350 336282 | MFL25-25-200-M12 1 200 25 25 - - o 2000 L 6700
BT40-MFT25-M12-120 220.4 155 120 24 M12 1.3 ° 336110 350 336284 | MFL25-25-250-M12 1 250 25 25 - - o 2300 L) 7860
BT40-MFT30-M16-50 150.4 85 50 28 M16 1.2 e (336112 | 350 336286 | MFL25-25-300-M12 1 | 300 | 25 25 - - M12X1.75 | 12.5 o 2800 . 9600
BT40-MFT30-M16-100 200.4 135 100 28 M16 1.3 e |336114 | 350 336288 | MFL25-25-350-M12 1 ]350 | 25 25 - - o 3000 . 11200
BT40-MFT30-M16-140 240.4 175 140 28 M16 1.6 e (336116 | 400 336290 | MFL25-32-200-M12DT90 2 |200| 32 | 245 9 2.3° o 2600 o 8500
BT40-MFT35-M16-60 160.4 95 60 33 M16 1.3 e |336118 | 350 336292 | MFL25-32-250-M12DT115 2 | 250 | 32 | 24.5 | 115 | 1.75° o 3300 o 12000
BT40-MFT35-M16-120 220.4 155 120 33 M16 1.7 h 336120 | 350 336294 | MFL25-32-300-M12DT135 2 | 300 32 24.5 | 135 1.5° o 4000 o 13500
BT50-MFT16-M8-60 206.8 105 60 15 M8 3.1 O 336122 | 700 336296 | MFL29-29-250-M16 1| 250 29 29 - - M16X2.0 17 o 2800 o 9300
BT50-MFT16-M8-120 266.8 165 120 15 M8 3.2 e | 336124] 700 336298 | MFL32-32-150-M16 1] 150 | 32 32 - E ° 2000 D 6600
gggmgggmg?go gggg 122 16:0 12 mg §§ 2 ggggg ;gg 336300 | MFL32-32-200-M16 1| 200 32 32 - - o 2600 . 8500
- -M10- - : 336302 | MFL32-32-250-M16 1| 250 | 32 32 - - o 3300 . 11150
BT50-MFT25-M12-60 206.8 105 60 24 M12 2 n ggg}gg ;gg 336304 | MFL32-32-300-M16 1| 300 | 32 32 - - M16X2.0 |17 o 4000 | o 13400
e a0 oo e i o e o o 338138 700 336306 | MFL32-32-350-M16 1350 | 32 | 32 - - o 4500 | © 15400
- -MTe- - ’ 336308 | MFL32-32-400-M16 1 | 400 | 32 32 - - o 5000 o 17500
BT50-MFT30-M16-120 266.8 165 120 28 M16 3.5 e (336136 | 700
336310 | MFL42-42-250-M20 1| 260 | 42 42 - - ) 4000 ) 15000
BT50-MFT35-M16-60 206.8 105 60 33 M16 3.5 e (336138 | 700
BT50-MFT35-M16-120 266.8 165 120 33 M16 3.7 e 336140 700 336312 | MFL42-42-300-M20 1ofs00 ) 42 42 . - M20X2.5 21 o 4500 ° 16000
336314 | MFL42-42-400-M20 1 | 400 | 42 42 - - : o 5000 o 25000
B ESEART HARAR. B Beneficial to the entire branch water and seismic hole. 336316 | MFL42-42-500-M20 1 ] 500 ] 42 42 - - o 6000 o 32000




	С01-С47
	2020-D01-D80


